Table of Two Variable Expressions

Notes: EXP(x) means 107, log means the common logarithm, In means the
natural logarithm. Many of the machine generated formulas given here could
be simplified or typeset in a more natural way.

A few of the expressions are too large to fit into one line.

The first column gives the line number, the second the expression number,
and the third the number of the scale combination.

1 1 1 ay CD CD CD PLUS
2 1 2 CD CDI CD MINUS
3 1 3 CD CDF CDF PLUS
4 1 4 CDI CD CDI MINUS
5 1 5 CDI CDI CDI PLUS
6 1 6 CDI CDIF CDIFPLUS
701 7 CDF CD CDF PLUS
8 1 8 CDF CDI CDF MINUS
9 1 9 CDF CDIF CD MINUS
0 1 10 CDIF CD  CDIF MINUS
11 1 11 CDIF CDI CDIFPLUS
12 1 12 CDIF CDF CDI MINUS
13 1 13 AB AB AB PLUS
4 1 14 AB ABI AB MINUS
5 1 15 ABI AB ABI MINUS
6 1 16 ABI ABI ABI PLUS
7 1 17 K K K PLUS
18 1 18 K KI K  MINUS
19 1 19 KI K KI MINUS
20 1 20 KI KI KI PLUS
21 2 1 % CD CD CD MINUS
2 2 2 CD CDI CD PLUS
23 2 3 CD CDIF CDF PLUS
24 2 4 CDI CD CDI PLUS
25 2 5 CDI CDI CDI MINUS
26 2 6 CDI CDF CDIFPLUS
21 2 7 CDF CD CDF MINUS
28 2 8 CDF CDI CDF PLUS
20 2 9 CDF CDF CD MINUS
30 2 10 CDIF CD  CDIF PLUS
31 2 11 CDIF CDI CDIF MINUS
32 2 12 CDIF CDIF CDI MINUS
33 2 13 AB AB AB MINUS
34 2 14 AB ABI AB PLUS
35 2 15 ABI AB ABI PLUS
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DI TH H MINUS

1810 870 1 \/% <:c2 (1n(;y_—11))2+4) (ln(_yy__ll))_z

1/227! —1/2z71
1811 871 1 1/2 (—y—l) —1/2 (—y—l) CDI TH SH PLUS

y—1 y—1

—y—1

1812 872 1 1/22+(n(F5))7" _1/2022(0(55))7 cpI TH SH  MINUS
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1/2x —1/2z7 1
1813 873 1 1/2 (*H) +1/2 (*9*1) CDI TH CH PLUS

y—1 y—1
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1814 874 1 1/2¢22(35))7" f1/2022n(551))7 cpI TH  CH  MINUS
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—y—1 —y—1 —y—1 _
1815 875 1 1(( L) - (32) ) ((yyTl DI TH () PLUS)

1\~ y_1\\— —1
1816 876 1 1(e4%(1n( ) 1_1) (e‘*%(l“( ) l—i—l)CDI TH TH MINUS

1817 877 1 =Y CDF CDF AB PLUS
1818 878 1 /T CDF CDF W  PLUS
1819 879 1 I CDF CDF ABI PLUS
1820 880 1 L4 CDF CDF K  PLUS
1821 881 1 A CDF CDF KI PLUS
1822 882 1 e+ CDF CDF LL PLUS
1823 883 1 LOG (%) CDF CDF L  PLUS
1824 884 1 arcsin () CDF CDF S  PLUS
1825 885 1 arctan (Z¥) CDF CDF T  PLUS
1826 886 1 /™2 CDF CDF P PLUS
1827 887 1 4/ ™izy? CDF CDF H  PLUS
1828 888 1 1/2ex* —1/2e =% CDF CDF SH PLUS
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2444 13841 ol CDIF L K  MINUS
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98



2452

2453

2454

2455

2456

2457

2458

2459

2460

2461

2462

2463

2464

2465

2466

2467

2468

2469

2470

13921

1393 1

1394 1

1395 1

1396 1

1397 1

1398 1

1399 1

1400 1

1401 1

1402 1

1403 1

1404 1

1405 1

1406 1

1407 1

1408 1

1409 1

1410 1

: 1
arcsin (m )

arctan (M)
xTT

1
arctan (m)

\/_ —z2n2+(EXP(y))*

272

22(EXP(y))?n2—1
22(EXP(y))?n2

22724+ (EXP(y))2
272

z2(EXP(y))%m2+1
z2(EXP(y))%n2

EXP(y) _ EXP(y)

1/2¢= 5" —1/2¢ "

1 _ 1
1/2ezEXP(y)7r _ 1/26 ZEXP(y)m

EXP(y) EXP(y)

1/2¢ 5" +1/2¢ "

1/2e7F R 4+ 1/2e” TR

(e 1) (225 )

l(e2m —1) (ezm +1)71

(sin(y))?
2272

1

z2(sin(y))? 72

sin(y)
xTT

(sin(y))?

22 (sin (y))2 w2

99

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS
TH PLUS
TH MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS



2471

2472

2473

2474

2475

2476

2477

2478

2479

2480

2481

2482

2483

2484

2485

2486

2487

2488

2489

14111

1412 1

1413 1

1414 1

14151

1416 1

1417 1

1418 1

1419 1

1420 1

1421 1

1422 1

1423 1

1424 1

1425 1

1426 1

1427 1

1428 1

1429 1

(sin(y))®
2373

I
3 (sin(y))° 7

1)371'3
(sin(y))?
2 (sin (y))*

sin(y)
e an

1
ezsin(y)m

arctan

22724 (cos(y))2—1
z2m2

z2(sin(y))?w2—1
22 (sin(y))°7?

z272

\/_ —2272+4(cos(y))%—1

z2(sin(y))3w2+1
22 (sin(y)) 772

sin(y) __sin(y)

1/2e7er —1/2e “an
R S 1
1/2ezsin(y)7r — 1/2e  sin(y)m™

sin(y) _ sin(y)

1/2e e +1/2e  an

100

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

K PLUS
K MINUS
KI PLUS
KI ~ MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS



2490 1430 1 1/2e7m@ir 4 1/2¢  7emte CDIF S  CH MINUS

sin(y sin(y -1
2491 14311 1 (255 —1) (255 41) CDIF S  TH PLUS
-1
2492 14321 1 (e*7mos —1) (& 7w 4 1) CDIF S  TH MINUS
2493 14331 (en)® CDIF T  AB PLUS
2494 14341 oL CDIF T  AB MINUS
2495 14351 /%22 CDIFT W PLUS
2496 1436 1 \/semms CDIF T W  MINUS
2497 14371 = CDIF T  ABI PLUS
(Gan(y))
2498 1438 1 2 (tan (y))* 72 CDIF T ABI MINUS
2499 14391 Llanw)’ CDIF T K  PLUS
2500 1440 1 mrsyes CDIF T K  MINUS
2501 14411 —Zo CDIF T  KI PLUS
(tan(y))
2502 14421 2? (tan (y))® =3 CDIF T  KI MINUS
2503 14431 o5 CDIF T  LL PLUS
2504 14441 oTmw= CDIF T LL MINUS
2505 14451 LOG (t22) CDIF T L  PLUS
2506 1446 1 LOG (57 ) CDIF T L  MINUS
2507 14471 arcsin (422 ) CDIFT S  PLUS
2508 1448 1 arcsin (sokor-) CDIF T S  MINUS
2509 1449 1 arctan (“220)) CDIFT T PLUS
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2510 1450 1 arctan (W) CDIF T T  MINUS

2511 1451 1 \/ <COS<y>zj::’(z§)+2§:;jgy>>271 CDIFT P  PLUS
2512 14521 |/ “anbulig? L CDIF T P  MINUS
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2513 1453 1 et CDIFT H PLUS
2514 1454 1 % CDIFT H  MINUS
9515 14551 1/2e" 52 —1/2¢ 5 CDIF T SH PLUS
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2624
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2626

2627

2628

1550 1

15511

15521

1553 1

1554 1

15551

1556 1

1557 1

1558 1

1559 1

1560 1

1561 1

1562 1

1563 1

1564 1
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

KI

LL

LL

SH

SH

MINUS
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MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS
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MINUS



2629

2630

2631

2632

2633

2634

2635

2636

2637

2638

2639

2640

2641

2642

2643

2644

1565 1

1566 1

1567 1

1568 1

1569 1

1570 1

15711

1572 1

1573 1

1574 1

15751

1576 1

1577 1

1578 1

1579 1

1580 1
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14y (m (;y__ll))? CDIF
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TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CH

CH

TH

TH

AB

AB

ABI

ABI

KI

KI

LL

LL

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
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2647

2648

2649

2650

2651

2652

2653

2654

2655

2656

2657

2658

2659

2660

15811

15821

1583 1

1584 1

15851

1586 1

1587 1

1588 1

1589 1

1590 1

1591 1

15921

1593 1

1594 1

1595 1

1596 1
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L
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2665
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2667
2668
2669
2670
2671
2672

2673
2674
2675
2676
2677
2678

2679

2680
2681
2682
2683
2684

2685
2686
2687
2688

2689
2690
2691
2692
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2694
2695
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1597 1
1597 2
1597 3
1597 4
1597 5
1597 6

1598 1
1598 2
1598 3
1598 4
1598 5
1598 6

1599 1
1599 2
1599 3
1599 4
1599 5
1599 6

1600 1

1600 2
1600 3
1600 4
1600 5
1600 6
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1601 2
1601 3
1601 4

1602 1
1602 2
1602 3
1602 4

1603 1
1603 2
1603 3
1603 4
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AB
AB
ABI
ABI
ABI

AB
AB
AB
ABI
ABI
ABI

AB
AB
AB
ABI
ABI
ABI

AB
AB
AB
ABI
ABI
ABI

AB
AB
AB
ABI

AB
AB
AB
ABI

AB
AB
AB
ABI

CD
CDI
CDF
CD
CDI
CDIF

CD
CDI
CDIF
CD
CDI
CDF

CD
CDI
CDF
CD
CDI
CDIF

CD

CDI
CDIF
CD
CDI
CDF

CD
CDI
CDIF
CDIF

CD
CDI
CDF
CDF

CD
CDI
CDIF
CDIF

CD PLUS
CD MINUS
CDF PLUS
CDI MINUS
CDI PLUS
CDIF PLUS

CD MINUS
CD PLUS
CDF PLUS
CDI PLUS
CDI MINUS
CDIF PLUS

CDI PLUS
CDI MINUS
CDIF PLUS
CD MINUS
CD PLUS
CDF PLUS

CDI MINUS

CDI PLUS
CDIF PLUS
CD PLUS
CD MINUS
CDF PLUS

CDF PLUS
CDF MINUS
CD MINUS
CDI PLUS

CDF MINUS
CDF PLUS
CD MINUS
CDI PLUS

CDIF PLUS
CDIF MINUS
CDI MINUS
CD PLUS
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2701
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2703
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2706
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2718
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2725
2726
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1604 1
1604 2
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1604 4

1605 1
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1606 1
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1607 1
1607 2
1607 3
1607 4

1608 1
1608 2
1608 3
1608 4

1609 1
1609 2
1609 3
1609 4

1610 1
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16111
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1612 2

1613 1
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1614 1
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W PLUS
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KI ~ MINUS
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1615 2

1616 1
1616 2

16171
1617 2

1618 1
1618 2

16191
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1620 1
1620 2

16211
1621 2
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1627 2
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2775
2776
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1630 2
1630 3
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1633 1
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1634 1
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1636 1
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1638 2
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1639 2

1640 1
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1641 1
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ABI
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CDF
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CDI
CDF

CDF
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CDI
CDF

CDF

CDF

CDF
CDF

CDF
CDF

CDF

CDF

CDF
CDF

CDF
CDF

CDF
CDF

CDF
CDF

CDF
CDF

CDF
CDF

CD

PLUS

CDIF MINUS
CDIF PLUS

CDI

CDI
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CDF PLUS
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CDF MINUS
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ABI

AB
ABI
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MINUS
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2785

2786

2787

2788

2789

2790

2791

2792

2793

2794

2795

2796

2797

2798

2799
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1643 1

1644 1

1645 1

1646 1

1647 1

1648 1

1649 1

1650 1
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1653 1

1654 1

1655 1
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AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

LL
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SH

SH

CH
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TH
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PLUS

MINUS

PLUS

MINUS
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MINUS

PLUS
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PLUS
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PLUS

MINUS

PLUS

MINUS

PLUS
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2803
2804
2805
2806

2807
2808

2809
2810
2811

2812

2813
2814

2815
2816

2817

2818

2819
2820

2821
2822

2823
2824

2825
2826

2827
2828

2829
2830

2831

1661 1
1661 2
1661 3
1661 4

1662 1
1662 2

1662 3
1662 4
1663 1

1664 1

1665 1
1665 2

1666 1
1666 2

1667 1

1668 1

1669 1
1669 2

1670 1
1670 2

1671 1
1671 2

1672 1
1672 2

1673 1
1673 2

1674 1
1674 2

1675 1
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ABI
ABI
ABI

AB
ABI

ABI
ABI
AB

AB

AB
ABI

AB
ABI

AB

AB

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

CDIF
CD
CDI
CDIF

CDIF
CD

CDI
CDIF
CDIF

CDIF

CDIF
CDIF

CDIF
CDIF

CDIF

CDIF

CDIF
CDIF

CDIF
CDIF

CDIF
CDIF

CDIF
CDIF

CDIF
CDIF

CDIF
CDIF

CDIF

CD PLUS
CDIF PLUS
CDIF MINUS
CDI MINUS

CDI PLUS
CDF PLUS

CDF MINUS
CD MINUS
CDF MINUS

CDIF MINUS

AB PLUS
ABI MINUS

AB MINUS
ABI PLUS

W PLUS

W MINUS

ABI PLUS
AB MINUS

ABI MINUS
AB PLUS

K PLUS
KI ~ MINUS

K MINUS
KI  PLUS

KI PLUS
K MINUS

KI  MINUS
K PLUS

LL PLUS



2832

2833

2834

2835

2836

2837

2838

2839

2840

2841

2842

2843

2844

2845

2846

2847

2848

2849
2850
2851
2852

2853

1676 1

1677 1

1678 1

1679 1

1680 1

1681 1

1682 1

1683 1

1684 1

1685 1

1686 1

1687 1

1688 1

1689 1

1690 1

1691 1

1692 1

1693 1
1693 2
1693 3
1693 4

1694 1
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AB
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AB

AB

AB

AB

AB

AB
AB
ABI
ABI
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CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

AB
ABI
AB
ABI
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LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS
TH PLUS
TH MINUS
CD PLUS
CD MINUS
CDI MINUS
CDI PLUS
CD MINUS
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2855
2856

2857

2858
2859
2860
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2862
2863
2864

2865
2866

2867
2868

2869
2870

2871
2872

2873
2874

2875
2876

2877
2878
2879
2880

2881

2882
2883
2884

2885

1694 2
1694 3
1694 4

1695 1

1695 2
1695 3
1695 4

1696 1

1696 2
1696 3
1696 4

1697 1
1697 2

1698 1
1698 2

1699 1
1699 2

1700 1
1700 2

17011
1701 2

1702 1
1702 2

1703 1
1703 2
1703 3
1703 4

1704 1

1704 2
1704 3
1704 4

1705 1
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AB
AB
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ABI
AB
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AB
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CDF
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PLUS
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PLUS
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MINUS
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MINUS
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PLUS
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PLUS
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PLUS

CDIF PLUS
CDIF MINUS
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W
W
W
W
K
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MINUS
PLUS

PLUS
MINUS
MINUS
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MINUS
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2911
2912

2913
2914

1705 2
1705 3
1705 4

1706 1
1706 2
1706 3
1706 4

1707 1
1707 2

1708 1
1708 2

1709 1
1709 2

1710 1
1710 2
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3320 1978 2 ABI H  CDI PLUS

3321 19791 —L AB H  CDI PLUS
Vzy/y?—-1

3322 1979 2 ABI H CD MINUS

3323 1980 1 yj; AB H  CDI MINUS

3324 1980 2 ABI H CD PLUS

3325 19811 a\/yZ—1Ir AB H  CDF PLUS

3326 1982 1 o AB H  CDF MINUS
e

3327 19831 —A AB H CDIF PLUS
Vay/ y?—1n

3328 19841 VI AB H  CDIFMINUS

3329 19851 «(y>—1) AB H AB PLUS

3330 1985 2 ABI H  ABI MINUS

3331 19861 oy AB H AB MINUS

3332 1986 2 ABI H  ABI PLUS

3333 19871 /@22 —1 AB H W PLUS
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3334

3335
3336

3337
3338

3339
3340

3341
3342

3343
3344

3345
3346

3347

3348

3349

3350

3351

3352

3353

3354

3355

1988 1

1989 1
1989 2

1990 1
1990 2

1991 1
1991 2

1992 1
1992 2

1993 1
1993 2

1994 1
1994 2

19951

1996 1

1997 1

1998 1

1999 1

2000 1

2001 1

2002 1

2003 1

arcsin (\/E y2 —

. x
arcsin
y?-1

arctan ( /z+/y? — 1)

—_
N——

3

:

arctan( v )
y?-1

1/2eVeVY’ =l 1 /26" VoVy*—1

:
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AB

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

AB

AB

AB

AB

AB

AB

AB

anjas

T T T

asjan

ABI
AB

ABI
AB

KI

KI

KI

KI

LL

LL

SH

MINUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



3356

3357

3358

3359

3360

3361
3362

3363
3364

3365
3366

3367
3368

3369

3370

3371

3372

3373
3374

3375
3376

2004 1

2005 1

2006 1

2007 1

2008 1

2009 1
2009 2

2010 1
2010 2

20111
2011 2

2012 1
2012 2

2013 1

2014 1

20151

2016 1

2017 1
2017 2

2018 1
2018 2

V= VA
1/2eVe*-1 —1/2e Vv2-1

1/2eVoVyi—1 L 1/2e VaVy?—1

= _
1/2eVvv*-1 +1/2e

2 VEVYi-1_y
e2VEVy2-141

VT
1 (e2 Vyr-1 — 1) (e2

Vam (y+ 7 +1)

S v/ R
ln(y+\/y2+1)

1

ﬁln(y+\/y2+l)

ln(y+ y2+1)
——

VT

Y

21

Vo

2

Y

\/Eln(y—i— \/m)ﬂ'

Vam
ln(y+ y2+1)

N
VzlIn (y-i- y2+1)7r

1n(y+\/y2?)

Vam

e (i (y+vir 1))

(=g
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-1
1+1>

AB

AB

AB

AB

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

AB

AB

AB

AB
ABI

AB
ABI

SH
SH

SH
SH

SH
SH

SH
SH

SH

SH

SH

SH

SH
SH

SH
SH

SH

CH

CH

TH

TH

CD
CDI

CD
CDI

CDI
CD

CDI
CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB
ABI

AB
ABI

PLUS
MINUS

MINUS
PLUS



3377

3378

3379
3380

3381
3382

3383
3384

3385
3386

3387
3388

3389
3390

3391

3392

3393

3394

3395

3396

2019 1

2020 1

20211
2021 2

2022 1
2022 2

2023 1
2023 2

2024 1
2024 2

2025 1
2025 2

2026 1
2026 2

2027 1

2028 1

2029 1

2030 1

20311

2032 1

JVE (v + Vi)

\/5
In (y+\/y2+1)

1

()

x3/? (ln (y—i— \/ﬁ))3

23/2

(i (y++/v2+1))°

1
(V)

(1n(y+ yz+1))3

2372

JF
(y +Vy2+ 1)

NG
elrx(y+\/y2+1)

L0G (Valn (y+ vy +1))

LOG< y+1>
(

arcsin ( 1/ In (y—i— \/y——i—))

arcsin
( In y? + 1 )

139

AB

AB

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

AB

AB

AB

AB

AB

SH

SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH

SH

SH

SH

SH

SH

ABI
AB

ABI

AB

KI

KI

KI

KI

LL

LL

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



3397

3398

3399

3400

3401

3402

3403

3404

3405

3406

3407

3408

3409

3410

3411
3412

3413

2033 1

2034 1

20351

2036 1

2037 1

2038 1

2039 1

2040 1

2041 1

2042 1

2043 1

2044 1

2045 1

2045 2

2046 1
2046 2

2047 1

arctan (\/Eln (y + m)) AB

arctan (W) AB
\/—x (ln(y—i— \/ﬁ))z—kl AB
Ve w
\/x(ln(y—i—\/m)y—i-l AB
e w
12 (y+ VP + ) ~172 (y+ Vi + )

N v
12" (V) g (Vi) AB
12 (y+ VP + ) +1/2 (y+ Vi + )

Ned o E
1/2e"0HV) g9 Vi) AB
(v 1) AB

(v+y/21)" Y 41

9 V= o V=T -1
1 (e n(y+Vu2+1) 1) (e tn(y+vy2+1) +1> AB

N (y—i—\/yz—l) AB
ABI

V'

ln(me/yzfl) AB
ABI

1
ﬂln(y+ yLl) AB
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SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

CH

CH

CH
CH

CH

T PLUS

T MINUS

P PLUS

P MINUS

H PLUS

H MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CDI MINUS

CD MINUS
CDI PLUS

CDI PLUS



3414

3415
3416

3417

3418

3419

3420

3421
3422

3423

3424

3425

3426

3427
3428

3429
3430

3431
3432

3433
3434

3435

2047 2

2048 1
2048 2

2049 1

2050 1

2051 1

2052 1

20563 1
2053 2

2054 1

2054 2

2055 1

2056 1

2057 1
2057 2

2058 1
2058 2

2059 1
2059 2

2060 1
2060 2

2061 1

ln(y+ y2—1)

——

Vzln (y—i— V2 — 1) T
Vexs

1n(y+ y2—1)

1
ﬁln(y+ y2—1)7r

In (y+ y2—1)
NEZS

(i (54 Va7 1))

X

(i (vev/v*=1))"

JVE (v ViE 1)

__ VB
In (y+\/y271)

1

(V7))

x3/2 (ln (y—i— \/ﬁ))g

23/2

ol )

z3/2 (ln (y+\/742—71))3
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ABI

AB
ABI

AB

AB

AB

AB

AB
ABI

AB
ABI

AB

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

CH

CH
CH

CH

CH

CH

CH

CH
CH

CH

CH

CH

CH

CH
CH

CH
CH

CH
CH

CH
CH

CH

CD

CDI
CD

MINUS

MINUS
PLUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB
ABI

AB
ABI

ABI
AB

ABI
AB

KI

KI

KI

PLUS
MINUS

MINUS

PLUS

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS



3436

3437
3438

3439

3440

3441

3442

3443

3444

3445

3446

3447

3448

3449

3450

3451

3452

2061 2

2062 1
2062 2

2063 1

2064 1

2065 1

2066 1

2067 1

2068 1

2069 1

2070 1

2071 1

2072 1

2073 1

2074 1

2075 1

2076 1

e

ABI

AB
ABI

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

AB

12 (y+ P =1)" =12 (u+ VP =1) AB

Vv NG

1/2€1tl(y+v§271) _ 1/2e ltl(y+m)
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AB

CH

CH
CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

LL

LL

SH

SH

MINUS

MINUS
PLUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



3453

3454

3455

3456

3457
3458

3459
3460

3461
3462

3463
3464

3465

3466

3467

3468

3469
3470

3471
3472

2077 1

2078 1

2079 1

2080 1

2081 1
2081 2

2082 1
2082 2

20831
2083 2

2084 1
2084 2

20851

2086 1

2087 1

2088 1

2089 1
2089 2

2090 1
2090 2

1/2 (y—i-\/y - ) +1/2 (y+\/y - )

N s

1/2em(V2 1) g6 vVt ) AB
2__ 2\/_7

(y+\/y 1) AB

2z
y+ y2—1) f—i-l

P L/ D/ R -t
1 <e 1n(y+\/y2—1) _ 1) (e 1n(y+\/y2—1) _|_ 1) AB

1/2 Vel (352) AB
ABI

2\/5(1n(;y_*11))71 AB
ABI

22 (n (5)) e
1/2 = (352 AB
ABI

1/2\/5111(;{—11)# AB
2/ xm (hl (_yy:ll))_l AB
S .
1/2 - (551 AB
1/4x(1n(;y_*11))2 AB
ABI

4“’“(1“(;{_1))_2 gl
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CH

CH

CH

CH

TH
TH

TH
TH

TH
TH

TH
TH

TH

TH

TH

TH

TH
TH

TH
TH

CH

CH

TH

TH

CD
CDI

CD
CDI

CDI
CD

CDI
CD

PLUS

MINUS

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB
ABI

AB
ABI

PLUS
MINUS

MINUS
PLUS



3473

3474

3475
3476

3477
3478

3479
3480

3481
3482

3483
3484

3485
3486

3487

3488

3489

3490

3491

3492

3493

2091 1

2092 1

2093 1
2093 2

2094 1
2094 2

20951
2095 2

2096 1
2096 2

2097 1
2097 2

2098 1
2098 2

2099 1

2100 1

21011

2102 1

2103 1

2104 1

2105 1

1/2@,/\/51n(;{;1)

Ve (i ()

1(m(3)
1/41 (in (;*’_‘11))2
1/82%/2 (111 (%))3

s ()

st (n(55))

(_y_ﬂ)“m

y—1

o2 Va(in(552)) "

LOG (1/2 JzIn (;y:ll

LOG <2 Nz (m (—yy—ll))_l)

. —y—1
arcsin (1/2 Vrln ( =)

—

arcsin <2 NZS (ln (_yy:l

arctan (1/2 Vrln

/N
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y—1
y—1

AB

AB

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

AB

AB

AB

AB

AB

TH

TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH

TH

TH

TH

TH

TH

TH

ABI
AB

ABI

AB

KI

KI

KI

KI

LL

LL

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



3494

3495

3496

3497

3498

3499

3500

3501

3502

3503

3504

3505
3506
3507

3508
3509
3510

3511
3512
3513

2106 1

2107 1

2108 1

2109 1

21101

21111

2112 1

2113 1

2114 1

21151

2116 1

21171
2117 2
2117 3

2118 1
2118 2
2118 3

21191
2119 2
2119 3

arctan (2 NG (1n (yyll))l) o
2y (5 o "
() ) (m(52)) 7 e
1/2\/x (111(—?!2;_—11))2_’_4 B
[ G ) ()
1/2 (%)1/2\/5_1/2 (%711)71/2\/5 A
1262 V()" _ g o2 vE(n() T AR
1/2 (;@1:11)1/2\/54_1/2 (;‘7!:11)—1/2\/5 o

1/2e2VFn(F50) 7 41 /2e2vE(n(550) 7 AB

TH T  MINUS
TH P  PLUS
TH P  MINUS
TH H  PLUS
TH H  MINUS
TH SH PLUS
TH SH MINUS
TH CH PLUS
TH CH MINUS

((5)7- (G2) ) (G by iy

+
=

1 (et VST ) (o VA

.I'Qyﬂ'

s2= =255 =2=%
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TH TH MINUS

CD
CDI
CDIF

CDF PLUS
CDF MINUS
CD MINUS

CD
CDI
CDF

CDF MINUS
CDF PLUS
CD MINUS

CD CDIFPLUS
CDI CDIF MINUS
CDIF CDI MINUS



3514
3515
3516

3517
3518

3519
3520

3521
3522

3523
3524

3525
3526

3527
3528

3529
3530

3531
3532

3533
3534

3535
3536

3537
3538

3539
3540

3541
3542

2120 1
2120 2
2120 3

21211
2121 2

2122 1
2122 2

2123 1
2123 2

2124 1
2124 2

21251
2125 2

2126 1
2126 2

21271
2127 2

2128 1
2128 2

2129 1
2129 2

21301
2130 2

21311
2131 2

21321
2132 2

2133 1
2133 2

k<

x2

3
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== == 2= == == == 2= ==z =Z==z == == ==

== ==

CD
CDI
CDF

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CDIF MINUS
CDIF PLUS
CDI MINUS
AB PLUS
AB MINUS
AB MINUS
AB PLUS
W PLUS
MINUS
W MINUS
W PLUS
ABI PLUS
ABI MINUS
ABI MINUS
ABI PLUS
K PLUS
K MINUS
K MINUS
K PLUS
KI  PLUS
KI  MINUS
KI  MINUS
KI  PLUS
LL PLUS
LL MINUS
LL MINUS
LL PLUS
L PLUS
L MINUS



3543
3544

3545
3546

3547
3548

3549
3550

3551
3552

3553
3554

3555
3556

3557
3558

3559
3560

3561
3562

3563
3564

3565
3566

3567
3568

3569
3570

2134 1
2134 2

21351
2135 2

2136 1
2136 2

21371
2137 2

2138 1
2138 2

21391
2139 2

2140 1
2140 2

2141 1
2141 2

2142 1
2142 2

2143 1
2143 2

2144 1
2144 2

2145 1
2145 2

2146 1
2146 2

2147 1
2147 2

LOG(2)

x_
Y

arcsin (:CQy)

arcsin (m— )
y

arctan (z%y)

[N

arctan (x—z)

Y

—1'4y2 +1

1/2e%v —1/2e=7"y

a2

22
1/2ev —1/2e" v

1/2e%Y 4+ 1/2e77Y

=2

22
1/267 + 1/26_ y

2:21/71

Tl
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== == =2 == == ==

== = =

== =2 == ==

==

==

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

)

majgas

SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



3571
3572

3573

3574

3575

3576

3577

3578

3579

3580

3581

3582

3583

3584

3585

3586

3587

3588

3589

3590

2154 1

21551

2156 1

21571

2158 1

2159 1

2160 1

2161 1

2162 1

2163 1

2164 1

2165 1

2166 1

= = =2 =2 ==

=

=

= == = =2 = = =

CD
CDI

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

TH
TH

CD

CDI

AB

AB

ABI

ABI

KI

KI

LL

LL

MINUS
PLUS

PLUS

PLUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



3591 2167 1 arctan(wzy) W CDF T PLUS

3502 2168 1 arctan (%) W CDF T  MINUS
3593 21691 /=A™ W CDF P  PLUS
3504 2170 1 /- T W CDF P  MINUS
3595 21711 /2 W CDF H PLUS
3596 21721 \/TEL W CDF H  MINUS
3507 21731 1/2¢ —1/2¢ W CDF SH PLUS
3508 21741 1/2¢7 —1/2¢ 7 W  CDF SH MINUS
3509 21751 1/2¢% +1/20 5 W  CDF CH PLUS
3600 2176 1 1/2¢7" +1/2¢ 5" W CDF CH MINUS
3601 21771 1 (ef%y - 1) (e2¢ + 1)71 W CDF TH PLUS
3602 21781 1 (e2 = 1) (ez% + 1)71 W  CDF TH MINUS
3603 21791 L W  CDIF CD PLUS
3604 21801 I W  CDIF CDI PLUS
3605 21811 % W  CDIF AB PLUS
3606 21821 atyr? W  CDIF AB MINUS
3607 21831 /2 W  CDIF W  PLUS
3608 2184 1 \/22yn W  CDIF W  MINUS
3609 21851 L2 W  CDIF ABI PLUS
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3610

3611

3612

3613

3614

3615

3616

3617

3618

3619

3620

3621

3622

3623

3624

3625

3626

3627

3628

3629

2186 1

21871

2188 1

2189 1

2190 1

21911

21921

2193 1

2194 1

21951

2196 1

2197 1

2198 1

2199 1

2200 1

2201 1

2202 1

2203 1

2204 1

2205 1

1
ZAy2n2

waSﬂ.S

22

evr
ezzyw

2
L0G (£)
LOG (:v2y7r)
arcsin (z—;)
arcsin (:v2y7r)

2

arctan (Z—ﬁ)
arctan (z%ym)

Y272 — gl
272

—rhy2n? + 1

y27r2 +I4
22

rhy2m2 + 1

1/2evr —1/2e w7
1/2e%°¥™ — 1 /27"y

22 22
1/2evm +1/2e v
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= 2 =2 = =

= = = = = =2 = = = =

=

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS



3630

3631

3632

3633
3634

3635
3636

3637
3638

3639
3640

3641
3642

3643
3644

3645
3646

3647
3648

3649
3650

3651
3652

3653
3654

3655
3656

2206 1

2207 1

2208 1

2209 1
2209 2

22101
2210 2

22111
2211 2

22121
2212 2

2213 1
2213 2

2214 1
2214 2

22151
2215 2

2216 1
2216 2

22171
2217 2

2218 1
2218 2

22191
2219 2

22201
2220 2

1/2e”° V™ 41/2e="vm

22 22 -1
1 (er_ﬂ - 1) (e%—w +1)

2
c2m YT _q

ez z2y7r+1

151

=

=2 =2 == == == =232 2= =2 Z= =Z= == == =

CDIF CH

CDIF TH

CDIF TH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

CD
CD

CD
CD

CDI
CDI

CDI
CDI

CDF
CDF

CDF
CDF

MINUS

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS
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4024
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2520 1

25211

25221

2523 1
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2661 1
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ABI
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ABI
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CDF

CDF
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CDF

CDF
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CDF

CDF

CDF

CDF
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CDF
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LL PLUS
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L MINUS
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SH PLUS
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CDIF
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P PLUS
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4217
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4219
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4221
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4225
4226
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4228
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4230
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4232
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CH MINUS
CH PLUS

TH PLUS
TH MINUS

TH MINUS
TH PLUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

W PLUS

W MINUS

LL PLUS

LL MINUS

L PLUS

L MINUS

S PLUS

S MINUS

T PLUS



4350

4351

4352

4353

4354

4355

4356

4357

4358

4359

4360

4361

4362

4363

4364

4365

4366

4367

4368

2782 1

2783 1

2784 1

27851

2786 1

2787 1

2788 1

2789 1

2790 1

27911

2792 1

2793 1

2794 1

2795 1

2796 1

2797 1

2798 1

2799 1

2800 1

1
arctan (\/Eln(y))

_ (n()?-a

z(In(y))?

z(In(y))*+1
z(In(y))?

12977 —1/2y =

2 1 91 -1
1 (e Vzln(y) — 1) (e Ve ln(y) —|— 1)

EXP(y)m

1
VZEXP(y)
EXP(y)

e Vz

S
e VZEXP ()
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ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS
TH PLUS
TH MINUS
CDF PLUS
CDF MINUS
CDIF PLUS
CDIF MINUS
W PLUS
W MINUS
LL PLUS
LL MINUS



4369

4370

4371

4372

4373

4374

4375

4376

4377

4378

4379

4380

4381

4382

4383

4384

4385

4386

4387

2801 1

2802 1

2803 1

2804 1

2805 1

2806 1

2807 1

2808 1

2809 1

28101

28111

28121

2813 1

2814 1

28151

2816 1

28171

2818 1

2819 1

| _(EXP(y))~x

z(EXP(y))?—1
z(EXP(y))*

(EXP(y))®+a

2(BXP (1)*+1
2(BXP (y))?

EXP(y) EXP(y)

1/2e Ve —1/2¢ V&

S N
1/2eVeBXP) — 1/2¢" VoEXP(y)

EXP(y) EXP(y)

1/2e" V= +1/2e¢ " V=

1/2e \/EE)I(P(y) +1/2e \/;E;lm(y)

o EXP(y) o EXP(y) -1
1{e” v= —1 e v= 41

2 1 2 1 -1
1 (e VEEXP(y) — 1) (e VEZEXP(y) 4 1)

sin(y)m

NG

s

Vasin(y)

NG

sin(y)m
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ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS
TH PLUS
TH MINUS
CDF PLUS
CDF MINUS
CDIF PLUS



4388 28201 YEsin(w) ABI S CDIF MINUS

s

4389 2821 1 Siyg) ABI S W PLUS
1
4390 28221 [——L— ABI S W MINUS
1301 28231 o VF ABI S LL PLUS
4392 28241 evVEenm ABI S  LL MINUS
4393 28251 LOG (;%”) ABI S L  PLUS
4394 28261 LOG (%) ABI S L  MINUS
Jzsn(y)
4395 2827 1 arcsin (“jg’) ABI S S  PLUS
4396 2828 1 arcsin( 1 ) ABI S S  MINUS
VZn()
4397 28291 arctan (“jg’) ABI S T PLUS
4398 2830 1 arctan( 1 ) ABI S T  MINUS
Vzsn(y)
4399 28311 4/ leosw)iio—t ABI S P  PLUS
4400 2832 1 % ABI S P MINUS
4401 28331 /- (cosui—a—l ABI S H PLUS
4402 28341 /) ABI S H MINUS
sin(y) sin(y)
4403 28351 1/2¢ vF —1/2¢ vF ABI S SH PLUS
4404 28361 1/2evFenm) — 1/2¢ vienm ABI S  SH MINUS
sin(y) sin(y)
4405 28371 1/2¢ Ve +1/2¢ v ABI S CH PLUS
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4406 28381 1/2eVFm® +1/2¢ Veonm ABI S  CH MINUS

-1
sin(y) sin(y)
4407 2839 1 1(e2 v —1) (e2 v +1) ABI S  TH PLUS
-1

1408 28401 1 (o* v — 1) (& o +1) ABI S  TH MINUS

4409 28411 ‘e ABI T  CDF PLUS

4410 28421 T ABI T  CDF MINUS

4411 2843 1 ABI T  CDIFPLUS

VE tan(y)
4412 28441 YEtan) ABI T  CDIFMINUS
4413 28451 /tnl) ABI T W PLUS
1
4414 28461 /= ABI T W  MINUS
ban(y)

4415 28471 e vr ABI T LL PLUS

4416 2848 1 eVimm ABI T  LL MINUS

417 28191 L0G () ABI T L  PLUS
1

4418 2850 1 LOG (=) ABI T L  MINUS

4419 28511 aresin (450 ) ABI T S PLUS
: 1

1420 28521 awesin o=t ABI T S  MINUS

4421 28531 arctan (“25()) ABI T T PLUS
1

1422 28541 arctan (L) ABI T T  MINUS

(cos(u) ot (cos(@)* 1
1423 28551 /(e oot ABI T P PLUS
4424 2856 1 /=lenw)1 ABI T P  MINUS

x(tan(y))?
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4425 2857 1 \/<C°S<y>>2w—<C°S<y>>2+1 ABI T H PLUS

(cos(y))*x

4426 2858 1 % ABI T H  MINUS
4427 28501 1/2¢ Ve —1/2¢ Ve ABI T SH PLUS
4428 2860 1 1/2¢veemtn — 1/2¢ Veemt ABI T  SH MINUS
4420 28611 1/2¢ VF +1/2¢ Vo ABI T CH PLUS
4430 28621 1/2e7VFm 4+ 1/2¢  Vemmm ABI T CH MINUS
4431 28631 1 <e2 = 1> <e2 Lt 1) - ABI T TH PLUS
4432 28641 1 (le—m - 1) (eQ\/_—U + 1)71 ABI T TH MINUS
4433 2865 1 @ ABI P CDF PLUS
44342866 1 e ABI P CDF MINUS
4435 2867 1 ﬁ ABI P  CDIFPLUS
1436 28681 YOV UL ABI P CDIFMINUS
4437 2869 1 \/? ABI P W PLUS
4438 2870 1 ﬁ ABI P W MINUS
1439 28711 & ABI P LL PLUS
4440 28721 VeV ABI P LL MINUS
4441 28731 LOG <\/? > ABI P L  PLUS
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4442

4443

4444

4445

4446

4447
4448

4449
4450

4451
4452

4453
4454

4455

4456

4457

4458

4459

4460

2874 1

2875 1

2876 1

2877 1

2878 1

2879 1
2879 2

2880 1
2880 2

28811
2881 2

2882 1
2882 2

28831

2884 1

28851

2886 1

2887 1

2888 1

zy?—x+1
z(y*—1)

2

|

<
+

8
+
[

8

8
ks
M)
|
8
|
—

N S [ S
1/2evav=v?+1 —1/2e vav-v2i1

Ny Ver.ny
1/2¢ Ve~ +1/2e V=

R S— [ S—
1/2evav=s?+1 4 1/2e vav-v2i1

o VP11 oy VP51 -1
1le vz —1 e ve o 41

—1
1 1
1 (e2 VeV 1) (e2 N 1)
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ABI

ABI

ABI

ABI

ABI

ABI
ABI

ABI
ABI

ABI
ABI

ABI
ABI

ABI

ABI

ABI

ABI

ABI

ABI

s

SH

SH

CH

CH

TH

TH

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
PLUS

MINUS
MINUS

PLUS
PLUS

MINUS
MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



4461

4462

4463

4464

4465

4466

4467

4468

4469

4470

4471

4472

4473

4474

4475

4476

4477

28891

2890 1

2891 1

2892 1

2893 1

2894 1

28951

2896 1

2897 1

2898 1

2899 1

2900 1

2901 1

2902 1

2903 1

2904 1

2905 1

y2—1m

i

s

1 _ 1
1/2evavi-1 —1/2e vavv2-1

-

y2—1 y

v _
1/2¢7vF +1/2¢ V7
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ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

ABI

CDF PLUS
CDF MINUS
CDIF PLUS
CDIF MINUS
W PLUS
W MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
SH PLUS
SH MINUS
CH PLUS



1 1
4478 2906 1 1/2evaveZ—1 +1/2e vavir 1 ABI H CH MINUS

) VP s VP !
4479 2907 1 1(e v —1> (e v +1> ABI H TH PLUS
2 1 2 1 -1
4480 2908 1 l(e a1 —1) (e a1 +1) ABI H TH MINUS
n 2 s
81 20001 0 vy ) ABI SH CDF PLUS
4482 29101 —0 1 ABI SH CDF MINUS

ﬁln(y+ y2+1)

4483 29111 —— V2 ABI SH CDIF PLUS
1n(y+ y2+1)7r

ﬁln(y+ y2+1)
v

4484 2912 1 ABI SH  CDIF MINUS
4485 2913 1 M ABI SH W PLUS
4486 2914 1 m ABI SH W  MINUS
1487 29151 (y+ \/yQT)T ABI SH LL PLUS
4488 2916 1 eﬁ‘"(ﬁlm) ABI SH LL MINUS
4489 29171 LOG v > ABI SH L  PLUS

4490 2918 1 ( ABI SH L MINUS

\/Eln er\/ 2+1)>

4491 2919 1 arcsin<ln v > ABI SH S  PLUS
I
NGmom \/z_ﬂ)) ABI SH S  MINUS

4492 2920 1 arcsin(
4493 29211 arctan<

In( 2“) ABI SH T  PLUS
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4494

4495

4496

4497

4498

4499

4500

4501

4502

4503

4504

4505

4506

4507

4508

2922 1

2923 1

2924 1

2925 1

2926 1

2927 1

2928 1

2929 1

2930 1

29311

2932 1

2933 1

2934 1

2935 1

2936 1

arctan <+)
ﬁln(y+ y2+1)

\/_ (0 (v+3711))" e

x

\/z(ln(y+m))221
#(n(r+vv741))

| Lol ) e

\/z(ln(yﬂ/yz—ﬂ)yjl
#(n(r+vv?4))

1/2 (y+x/y—+) ~1/2 (y+\/y—+)

1 _ 1
1/2e V7Vt i) g9 vER(vtViZi)

1/2 (y+\/y—+) +1/2 (y—i-\/m)

1 _ 1
1/2eﬁln(y+\/y2+l) + 1/26 \/Eln(y+\/m)

((y+\/y—+) L )((yﬂ/ﬁ)zi%kléﬁl

-1
+ 1§BI

S S S S
1 (; van(y V) _ 1) <e2 van(y+Vi2+1)

In (y+ 2 — 1)
T

s
ﬁln(y+ yLl)

\/5
ln(y+m)ﬁ
\/Eln(er\/yLl)
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ABI

ABI

ABI

ABI

ABI

ABI

_1
ABI

ABI

ABI

ABI

ABI

ABI

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

CH

CH

CH

CH

T MINUS

P PLUS

P MINUS

H PLUS

H MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS



4509

4510

4511

4512

4513

4514

4515

4516

4517

4518

4519

4520

4521

4522

4523

2937 1

2938 1

2939 1

2940 1

2941 1

2942 1

2943 1

2944 1

2945 1

2946 1

2947 1

2948 1

2949 1

2950 1

29511

In(v+v/?-1) ARI

v
m ABI
(y+ V-1 )% ABI
¢ ) ABI
LOG( “\/ﬁ ) ABI
(ﬁm wlﬂ At
arcsin (1“ “\/ﬁ ) ABI
arcsin <ﬁln = > ABI
arctan (1“ “\/ﬁ ) ABI
S E—— i
L) ABI
\/ #(n (vt 1)) 1 ABI
o (n(yvy/v2-1))"
| Lol ) ABI
\/ r(n(vey/iP 1)) 4 ABI
2 (n(vr-1))”

1/2 (y—l-\/—) ~172 (y+ VP —1) Ani
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

LL

LL

SH

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



-1 1
4524 29521 1/2eVn(nVv) _qj9e vEm(viVeol)  ABT CH  SH  MINUS

1

4525 29531 1/2 (y—l—\/y?—l)ﬁ—i—l/? (y+\/y2—1)7%31 CH CH PLUS

[ S W
4526 29541 1/2¢V7 (V1) 190 vER(viVY)  ABT CH  CH  MINUS

1

4527 2955 1 1<(y+\/y2—1)2ﬁ—1> <(y+\/y2—1)2ﬁ3}+1§vﬂ TH PLUS

—1

2 1 2 1
4528 2956 1 1<e vain(vtvi?-1) —1) (e van(vtv/v?-1) +®BI CH TH MINUS

4529 2957 1 1/2iln(_y_1 ABI TH CDF PLUS

s —y—1
4530 29581 2 % (m( - )) ABI TH CDF MINUS
-1
1531 2050 1 2 (n (351)) ABI TH CDIFPLUS
1532 2060 1 1/2 % In (5252) ABI TH CDIFMINUS
1533 20611 1/2v2, /= In (S52) ABI TH W PLUS
1 -1
4534 29621 V2/ L (m(;y:l )) ABI TH W  MINUS
1/2 %=
4535 2963 1 (—Zf}) v ABI TH LL PLUS
—y— —1
4536 29641 &2 7= ((55)) ABI TH LL MINUS
1537 2065 110G (1/2=mn (252)) ABI TH L  PLUS
1 —1
4538 29661 LOG <2 " (m (jf_—l )) ) ABI TH L  MINUS
1539 20671 arcsin (1/2 = In (252 )) ABI TH S  PLUS
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4540 2968 1  arcsin <2 L (m(32)) _1> ABI TH S  MINUS
4541 2069 1 arctan (1/2 L 1n (S25)) ABI TH T PLUS
4542 2970 1 arctan <2 L (m(32)) _1> ABI TH T  MINUS
4543 29711 1/2 \/% (— (1n (;.74:11))2 + 4:10) ABI TH P  PLUS
4544 2972 1 \/ 1 (:c (ln (;1/:11))2 _ 4) (ln (;1“’:11)) 7 ABI TH P MINUS
4545 29731 1/2 \/ 1 ((m (;@511))2 + 4x> ABI TH H PLUS
4546 2974 1 \/ 1 (:c (1n (;1/:11))2 + 4) (m(3)) 7 ABI TH H  MINUS
4547 29751 1/2 (;y:ll)mﬁ —1)/2 (fljyj)*mﬁ ABI TH SH PLUS

1 Y

—y— —1 — —1
4548 20761 1722 =M(SF)) T 1272 ((55)) T ABL TH  SH MINUS

e 1/2% I 4/2%
4549 29771 1/2 (ﬁ) +1/2 (U—) ABI TH CH PLUS

y—1

—y— —1 —y— —1
4550 2078 1 1722 v=(M(F5)) T 1120729 (M(550)) ABI TH  CH  MINUS

4551 2979 1 1((yy11)1/2ﬁ_(yy_11)1/2ﬁ> ((yyllyiglﬁ T}_(ﬁgl/gn%ﬁé—l

—1
—y— —1 —y— —1
4552 2980 1 1(6*%(‘“( ) —1) (e‘*ﬁ(‘“( =) —|A]B>] TH TH MINUS

4553 29811 xy K CDh CD PLUS
4554 2981 2 K CDI CD MINUS
4555 2981 3 K CDF CDF PLUS
4556 2981 4 KI CDh CDI MINUS
4557 2981 5 KI CDI CDI PLUS
4558 2981 6 KI CDIF CDIF PLUS
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4559
4560
4561
4562
4563
4564

4565

4566
4567
4568
4569
4570

4571
4572
4573
4574
4575
4576

4577
4578
4579
4580

4581
4582
4583
4584

4585
4586
4587
4588

4589
4590
4591
4592

4593
4594

2982 1
2982 2
2982 3
2982 4
2982 5
2982 6

2983 1

2983 2
2983 3
2983 4
2983 5
2983 6

2984 1
2984 2
2984 3
2984 4
2984 5
2984 6

29851
2985 2
2985 3
2985 4

2986 1
2986 2
2986 3
2986 4

2987 1
2987 2
2987 3
2987 4

29881
2988 2
2988 3
2988 4

2989 1
2989 2

%

1
Jzym

22342
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KI
KI
KI

KI
KI
KI

FRRR O EARR EARSA

—

=~ =

CD
CDI
CDIF
CD
CDI
CDF

CD

CDI
CDF
CD
CDI
CDIF

CD
CDI
CDIF
CD
CDI
CDF

CD
CDI
CDIF
CDIF

CD
CDI
CDF
CDF

CD
CDI
CDIF
CDIF

CD
CDI
CDF
CDF

CD
CDI

CD MINUS
CD PLUS
CDF PLUS
CDI PLUS
CDI MINUS
CDIF PLUS

CDI PLUS

CDI MINUS
CDIF PLUS
CD MINUS
CD PLUS
CDF PLUS

CDI MINUS
CDI PLUS
CDIF PLUS
CD PLUS
CD MINUS
CDF PLUS

CDF PLUS
CDF MINUS
CD MINUS
CDI PLUS

CDF MINUS
CDF PLUS
CD MINUS
CDI PLUS

CDIF PLUS
CDIF MINUS
CDI MINUS
CD PLUS

CDIF MINUS
CDIF PLUS
CDI MINUS
CD PLUS

AB PLUS
AB MINUS



4595
4596

4597
4598
4599
4600

4601
4602

4603
4604

4605
4606
4607
4608

4609
4610
4611
4612

4613
4614
4615
4616

4617
4618
4619
4620

4621
4622
4623
4624

4625
4626
4627
4628

2989 3
2989 4

2990 1
2990 2
2990 3
2990 4

2991 1
2991 2

2992 1
2992 2

2993 1
2993 2
2993 3
2993 4

2994 1
2994 2
2994 3
2994 4

2995 1
2995 2
2995 3
2995 4

2996 1
2996 2
2996 3
2996 4

2997 1
2997 2
2997 3
2997 4

2998 1
2998 2
2998 3
2998 4

2/3

22732

< s
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KI
KI

- =

AAAAN AR

— —

CD
CDI

CD
CDI
CD
CDI

CD
CDI

CD
CDI

CD
CDI
CD
CDI

CD
CDI
CD
CDI

CD
CDI
CD
CDI

CD
CDI
CD
CDI

CD
CDI
CD
CDI

CD
CDI
CD
CDI

ABI
ABI

AB
AB
ABI
ABI

==

ABI
ABI
AB
AB

ABI
ABI
AB
AB

KI
KI

KI
KI

KI

=R

KI
KI

MINUS
PLUS

MINUS
PLUS
PLUS
MINUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS
MINUS
PLUS

MINUS
PLUS
PLUS
MINUS

PLUS
MINUS
MINUS
PLUS

MINUS
PLUS
PLUS
MINUS

PLUS
MINUS
MINUS
PLUS

MINUS
PLUS
PLUS
MINUS



4629
4630

4631
4632

4633
4634

4635
4636

4637
4638

4639
4640

4641
4642

4643
4644

4645
4646

4647
4648

4649
4650

4651
4652

4653
4654

4655
4656

2999 1
2999 2

3000 1
3000 2

3001 1
3001 2

3002 1
3002 2

3003 1
3003 2

3004 1
3004 2

3005 1
3005 2

3006 1
3006 2

3007 1
3007 2

3008 1
3008 2

3009 1
3009 2

3010 1
3010 2

3011 1
3011 2

3012 1
3012 2

arcsin (/zy)

arcsin (ﬂ )
Y

arctan (/zy)

arctan ( )

A /_:C2/3y2 +1

s

_ x2/3_y2
R

[22/3y2 + 1

22/3 442
y2

1/2eV7y —1/2e~ Vou

%

33:
/2077 —1/20 5
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e R AR R AR -~ =

=~ =

= =

=~ =

= =

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

LL
LL

LL
LL

SH
SH

SH
SH

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS



4657 30131 1/2eV™ 4 1/2¢~ VoY K CD CH PLUS
4658 3013 2 K CDI CH MINUS

3/

= _=
4659 30141 1/2e™v +1/2e v

K CD CH MINUS
4660 3014 2 K CDI CH PLUS
4661 30151 7] K CD TH PLUS
4662 3015 2 K CDI TH MINUS
-1
3z 3z
4663 3016 1 1(e27\/_ —1) (eQTf +1) K CD TH MINUS
4664 3016 2 K CDI TH PLUS
4665 30171 Y2u K CDF CD PLUS
4666 3017 2 KI CD CDIFMINUS
4667 3017 3 KI CDI CDIFPLUS
4668 3017 4 KI CDF CDI MINUS
4669 30181 % K CDF CDI PLUS
4670 3018 2 KI CD CDF MINUS
4671 3018 3 KI CDI CDF PLUS
4672 3018 4 KI CDF CD MINUS
4673 30191 YT K CDF CDF MINUS
4674 30201 oA K  CDF CDIFMINUS
4675 30211 o K CDF AB PLUS
4676 3021 2 KI CDF ABI MINUS
4677 30221 £ K  CDF AB MINUS
4678 3022 2 KI CDF ABI PLUS
4679 30231 /v K CDF W PLUS
Van
4680 3024 1 € K CDF W  MINUS
4681 30251 o K  CDF ABI PLUS
4682 3025 2 KI CDF AB MINUS
4683 30261 K  CDF ABI MINUS
4684 3026 2 KI CDF AB PLUS
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4685
4686

4687
4688

4689
4690

4691
4692

4693

4694

4695

4696

4697

4698

4699

4700

4701

4702

4703

4704

4705

3027 1
3027 2

3028 1
3028 2

3029 1
3029 2

3030 1
3030 2

3031 1

3032 1

3033 1

3034 1

3035 1

3036 1

3037 1

3038 1

3039 1

3040 1

3041 1

3042 1

3043 1

e =
\3/57\'
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W PLUS
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LL PLUS
LL MINUS
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S PLUS
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CH PLUS
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5760 37801 1 (e2 N 1) (e2 T 4 1) KI H TH MINUS

n 2 ™
5761 37811 (VT Vj%“) KI SH CDF PLUS
5762 37821 — T KI SH CDF MINUS
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5763 37831 — L KI SH CDIFPLUS
1n(y+ y2+1)7r
Yz In 2
5764 37841 LV KI SH CDIFMINUS
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5765 3785 1 w’% ) KI SH W PLUS
R S
5766 3786 1 [ ey KI SH W MINUS
1
5767 3787 1 (y+\/y2+1)% KI SH LL PLUS
1
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5923 3899 1 (n(@)’s’ LL CDF K PLUS

5924 30001 (o LL CDF K MINUS
5925 3901 1 -t LL CDF KI PLUS
5926 3902 1 s LL CDF KI MINUS
5927 39031 = LL CDF LL PLUS
5928 39041 xv LL CDF LL MINUS
5920 39051 LOG () LL CDF L  PLUS
5930 39061 LOG (“1(;)”) LL CDF L  MINUS
5031 3907 1 arcsin (224) LL CDF S  PLUS
5932 3908 1 arcsin(l“(;)”) LL CDF S  MINUS
5033 3909 1 arctan (™222) LL CDF T PLUS
5934 3910 1 arctan(l“<;>”) LL CDF T  MINUS
5935 39111 /- (@)l y?or? LL CDF P  PLUS
5936 39121 /- Unrtoy? LL CDF P  MINUS
5937 39131 y/ (n(@)yiin? LL CDF H PLUS
5938 39141 /Unrten LL CDF H MINUS
5939 39151 1/2z% —1/22~ = LL CDF SH PLUS
5940 39161 1/2zv —1/2z v LL CDF SH MINUS
5941 39171 1/2z% +1/22~ = LL CDF CH PLUS
5942 3918 1 1/2xv 4+1/22 ¥ LL CDF CH MINUS
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v
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Y
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L0G ()
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EXP(x) _ EXP(x)
1/2 e tan(y) + 1/2 e ‘tan(y)

o2 EXP(x) tan(y) 1
o2 EXP(2) tan(y) 1

o EXP(2) o EXP(2) -1
1 (e tan(y) — 1) (e tan(y) “+ 1)

VI

EXP (x

~

EXP(z)
-y

,y2+1

S

>

IS
TjH]

,y2+1
EXP(x)

EXP (z

vV -y 41w

~

EXP(x)m

—y241m

,y2+1

=

o |
54
i +

es!

S
)
&

3

(EXP (x))* (—y* +1)

_ (BXP@)?
y?-1
VEXP () /=7 T 1
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H PLUS

H MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS



6960

6961

6962

6963

6964

6965

6966

6967

6968

6969

6970

6971

6972

6973

6974

6975
6976

6977
6978

4744 1

4745 1

4746 1

4747 1

4748 1

4749 1

4750 1

4751 1

4752 1

4753 1

4754 1

4755 1

4756 1

4757 1

4758 1

4759 1
4759 2

4760 1
4760 2

EXP(z)

V-2 +1

1
(BEXP(2))*(y2-1)

—y241
(BXP(x))?

(EXP (2))° (-2 +1)

(EXP(2))°
(—y2+1)%/2

1
(EXP(2))*(—y?+1)%/?

(—y2+1)°?

(EXP(2))®

eEXP(z)\/fy2+1

EXP(z)

eV-vit+1

LOG (EXP (z) /=92 + 1)
EXP(x)

roe (m)

arcsin (EXP () /—y? + 1)

arcsin | Z22&)
N

arctan (EXP () /=y + 1)

3/2

\/(EXP (2))?y% — (EXP (z))* + 1

(EXP(z))*+y%—1
y2—1
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=

=

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
PLUS

MINUS
MINUS



6979 4761 1 \/— (EXP (2))*y? + (EXP (z))* + 1 L P H PLUS

6930 4761 2 L H P PLUS
6981 4762 1 \/—W L P H MINUS
6982 4762 2 L H P MINUS

6983 4763 1 1/2ePXP@)V -+l _1/9e=BXP(@)y/—y2+1 T, P SH PLUS

EXP(zx) EXP(x)

6984 47641 1/2eV-v2+1 — 1/267V*y2+1 L P SH MINUS

6985 47651 1/2ePXP@V v+l 4 /9 BXP@)v—y*+1 7 P CH PLUS

EXP(zx) EXP(x)

6986 4766 1 1/2evV-w2+i 4 1/2e V-uiti L P CH MINUS

&2 EXP(z)\/—y2+1_1

6987 47671 o L P TH PLUS
o _EXP(x) o _EXP(z) -1
6988 4768 1 1<e Vot —1> <e Vit +1) L P TH MINUS
6989 4769 1 EXP (z)\/y® —1 L H CD PLUS
6990 4770 1 XL L H CD MINUS
e
1
6991 4TT11 e L H CDI PLUS
Vy?-1
6992 47721 Y CDI MINUS
6993 47731 EXP (z)\/y® — Ir CDF PLUS
EXP(x)m
6994 47741 I CDF MINUS
1
6995 4775 1 e eroir CDIF PLUS
y2—1
6996 4776 1 by CDIF MINUS
6997 47771 (EXP (z))* (y* — 1) AB  PLUS
6998 4778 1 (EXP@)* AB  MINUS



6999

7000

7001

7002

7003

7004

7005

7006

7007

7008

7009

7010

7011

7012

7013

7014

7015

7016

4779 1

4780 1

47811

4782 1

4783 1

4784 1

4785 1

4786 1

4787 1

4788 1

4789 1

4790 1

4791 1

4792 1

4793 1

4794 1

4795 1

4796 1

\/EXP () y?2 -1
EXP(x)
Vyr-1

1
(EXP(2))*(y*~1)

—1
(EXP(ac))2

(EXP (2))® (v —1)"?

(EXP(z))?

1
(EXP(x))*(y2—1)%/?

(1)
(EXP(x))3

eEXP(m)\/y2—1

EXP(z)

evvi-1

LOG(EXP@gVQTiT)
oo (154)
arcsin (EXP y2 — 1)

. (EXP(:E))
arcsin
y2-1

EXP (2) \/y —1)

arctan

arctan (M)

1/2 eEXP(x)\/y271 _ 1/2 efEXP(z)\/yﬂfl
EXP(x) EXP(x)

1/2eVP—1 —1/2¢ Vi1
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=

ABI

ABI

KI

KI

LL

LL

SH

SH

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



7017 4797 1 1/2ePXP@VY* =1 41 /2 e~ BXP(@)Vy*—1 L H CH PLUS

EXP(z) _ EXP(z)

7018 4798 1 1/2evVv*-1 +1/2e Vv?-1 L H CH MINUS

&2 EXP(z)\/y2—171

7019 47991 Tt

L H TH PLUS

o EXP() o BXP(2) -1
7020 4800 1 l(e Vi —1) (e Voemn +1> L H TH MINUS
7021 48011 EXP (z)ln (y—l—\/y?—i—l) L SH CD PLUS
7022 48021 —EXP@ L SH CD MINUS
ln(y+ y2+1)
7023 4803 1 1 L SH CDI PLUS
EXP(m)ln(y+\/y2+1)
n 2
7024 agoq 1 V) jj;’z)“) L SH CDI MINUS
7025 48051 EXP (z)ln (y ViRt 1) o L SH CDF PLUS
EXP(z)m I
7026 4806 1 —PXLEIT ) L SH CDF MINUS
7027 4807 1 L L SH CDIFPLUS
EXP(x)ln(er\/yZJrl)ﬂ
ln(y+ y2+1)
7028 48081 et L SH CDIF MINUS
2
7029 4809 1 (BXP (2))” (I (y+ /4 +1)) L SH AB PLUS
7030 48101 ——(EXP@)® L SH AB MINUS
Ce)y
7031 4811 1 \/EXP () In (y+\/y2+1) L  SH W PLUS
2 48121 __EXP@) L H MIN
7032 48 i) S W Us
7033 4813 1 L L SH ABI PLUS

(BXP(@))? (In(y+/52+1) )
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7034

7035

7036

7037

7038

7039

7040

7041

7042

7043

7044

7045

7046

7047

7048

7049

4814 1

4815 1

4816 1

4817 1

4818 1

4819 1

4820 1

48211

4822 1

4823 1

4824 1

4825 1

4826 1

4827 1

4828 1

4829 1

(n(v+y/5241))°

(EXP@))
(BXP ()" (0 (y + \/ﬁ))g
(BXP(2))®

(1n(y+ 112+1))3

1
(BXP(2))* (0 (y+1/v2+1) )

(1n(y+ yz+1))3

(EXP(2))®

(y+\/y2+1

)EXP(x)

EXP(x)

LOG (EXP (2)In (y+ Vi# 1))

( _ BEXP(z) )
In(y+v/v2+1)
arcsin (EXP ) In (y + \/y——i—))

arcsin <1n EXPU +1 >
(BxP @) (y+ Vo2 1))

arctan

arctan M
ln(y+\/y2+1)

\/— (BXP (2))” (1n (y + \/ﬁ))Q +1

\/_ (EXP(x))?— (1n(y+ﬁ))2
Vo))

\/(EXP (2))” (1n (y+ \/W))Q
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SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

ABI MINUS
K PLUS
K MINUS
KI PLUS
KI MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS



7050

7051

7052

7053

7054

7055

7056

7057

7058

7059

7060

7061

7062

7063

7064

7065

4830 1

48311

4832 1

4833 1

4834 1

4835 1

4836 1

4837 1

4838 1

4839 1

4840 1

48411

4842 1

4843 1

4844 1

4845 1

\/(EXP(w))2+(ln(y+ yz+1))2

(ln (v+ y2+1))2

EXP () -
172 (y+ V1) —1/2 (y+ P+ 1)
EXP(x) _ EXP(x)
1/261n(y+\/ y2+1) _ 1/26 1n(y+\/ y2+1) L
EXP () -
1/2 (y+\/y2+1) +1/2 (y+ \/yz—i-ll)
EXP(x) _ EXP(x)
1/2€ltl(y+\/y2+1) + 1/26 ln(y+\/y2+1) L
(r/770) 7 .

(y+m>2 EXP(I)J,»I

9 ___EXP(x) 9
1 (e (vt VP ) 1) <e

EXP(x) -1
n(y+Vy2+1) + 1) L

EXP () In (y V2o 1) L
EXP(x) L
ln(y+\/y2fl)
1 L
EXP(x) ln(er\/yzfl)
In(y+4/y2—1
(E‘T(m)) L
EXP (2)1n (y V02— 1) 7 L
EXP(z)m
1n(y+ y2—1) L
L L
EXP(z) ln(y+\/y2—l)ﬂ'
1n(y+\/y2—71) L
T EXP(z)m
2
(BXP ()’ (n (y+ V7~ 1)) L
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CH

CH

CH

CH

CH

CH

CH

CH

CH

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

PLUS



7066

7067

7068

7069

7070

7071

7072

7073

7074

7075

7076

7077

7078

7079

7080

7081

4846 1

4847 1

4848 1

4849 1

4850 1

4851 1

4852 1

4853 1

4854 1

4855 1

4856 1

4857 1

4858 1

4859 1

4860 1

4861 1

(EXP(x))?

\/EXP Jin (y+ /o7 1)

EXP(x)

T T

(EXP(x))?
o370 (V7))
(EXP(2))®

V)

(BXP(@))°

(v+voF—1

EXP(x)

)EXP(I)

£0G (EXP (&) In (y+ i 1))

( _ BEXP(z) )
In y+\/y2—71
arcsin (EXP () In (y + /i 1))

EXP(gc) )

arctan

(EXP (y N \/y—_))

311

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

AB

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



7082

7083

7084

7085

7086

7087

7088

7089

7090

7091

7092

7093

7094

7095

7096

7097

4862 1

4863 1

4864 1

4865 1

4866 1

4867 1

4868 1

4869 1

4870 1

48711

4872 1

4873 1

4874 1

4875 1

4876 1

4877 1

arctan | —ZXP@) L
In (y-i— y2 —1)

\/— (EXP (z))? (m (y+ \/yQ——l))Q +1 L

\/_ (EXP(x))2— (1n(y+\/y2——1))2
ey

\/(EXP (2))2 (m (y + \/yQ——l))Q +1 L

(EXP(z))2+(1n(y+\/y2—1))2 .
(n(y+ ,742—1))2
EXP(z) _E
1/2 (y+ vy =1) ~1/2 (y+ vy = 1)
EXP(x) _ EXP(z)
1/2em( V1) g9 m(urVer) L
EXP(z) )
1/2 (y—i-\/yQ—l) +1/2 (y+ \/yQ—]J>
EXP(x) _ EXP(x)
1/2elﬂ(@/+\/ y2,1) + 1/2e ln(y‘F\/yzi) L

(y+\/y2—71)2EXP(I)71
(y+\/ﬁ)2EXP(z)+1

9 EXP(x) 9 EXP(x) -1
1 <e ln(y#»\/yzfl) _ 1) (e ln(y#»\/yzfl) + 1) L

1/2 EXP (z)In (—yy_—ll) L
2 EXP () (1n (;y_‘ll))_l L
2 EX]ID(m) (ln (_yy—_ll)) - L
1/2m1n(;51) L
1/2 EXP (z)In (;y_—ll) 7r L

CH

CH

CH

CH

CH

XP(x)
CH

CH

P(z)
CH

CH

CH

TH

TH

TH

TH

TH

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS



7098

7099

7100

7101

7102

7103

7104

7105

7106

7107

7108

7109

7110

7111

7112

7113

7114

4878 1

4879 1

4880 1

4881 1

4882 1

4883 1

4884 1

4885 1

4886 1

4887 1

4888 1

4889 1

4890 1

4891 1

4892 1

4893 1

4894 1

4(BXP (2))” (1 (352)) -

1/2 ﬂ\/EXP () In (7:11)

va\[Bxp @) (1n (31))
1 xpye (In (;151))72
1/4 (EXPl(ﬂC))2 (ln (7717!:11))2

1/8 (EXP (2))° (In (7—711))3

8 (EXP (2))® (ln (Zf_il)) -
8 wxpa (I (;{711))73

1/8 (EXPl(ﬂC))3 (ln (;74_’11))3

(_y_ﬂ)uz EXP(x)
y*l

o2 BXP(2)(1n(5252))

Lo (12850 (22)

LOG <2 EXP (z) (hl (_yy—_ll))_l)
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=

=

=

=

=

=

=

=

=

=

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CDF MINUS
CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W  PLUS
W MINUS
ABI PLUS
ABI MINUS
K  PLUS
K  MINUS
KI PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L  MINUS



7115

7116

7117

7118

7119

7120

7121

7122

7123

7124

7125

7126

7127

7128

7129
7130
7131

4895 1

4896 1

4897 1

4898 1

4899 1

4900 1

4901 1

4902 1

4903 1

4904 1

4905 1

4906 1

4907 1

4908 1

4909 1
4909 2
4909 3

arcsin (1/2EXP (—y—l)) L TH S PLUS

=
arcsin <2 EXP (z) (n (252)) _1) L TH S MINUS
arctan (1/2 EXP (2)In (252 )) L TH T PLUS
arctan <2 EXP (z) (m (;y_—ll)) _1) L TH T MINUS
1/2 \/ _ (EXP (z))? (m (;-74_;1))2 +4 L TH P  PLUS

\/1 ((m (;@’:11))2 — 4 (EXP (:v))2> (ln (%E))JTH P MINUS

1/2 \/(EXP (2))” (In (;@':11))2 +4 L TH H PLUS

\/1<(1n(;y——11))2+4(EXP(:1:))2> (m(%&))_%H H  MINUS

—~1/2 EXP ()
) L TH SH PLUS

12 ( )1/2 EXP(z) 1 (_;i_ll

1/22BXP@ (1)) _ 1 /902 BXP@(n(FE)) "TH  SH  MINUS

1/2 EXP(z) ~1/2 EXP()
) +1/2 (;{—11) L

1/2( TH CH PLUS

1/2e2PXP@((F)) " 4 192 BXP@(n(FE)) 'TH CH  MINUS

-1
) <(_y__11)1/2EXP(m) B (_gi_ll)—l/2EXP(ac)> < _{qu?ﬁzEngDﬁ) i _11)—1/2EXP(1)>

1( 4 BXP(2)(n(552)) 7 1) ( 1EXP(2)(1n(551) +11{) TH MINUS

sin (x) y S CD CD PLUS
S CDI CD MINUS
S CDF CDF PLUS

314



7132
7133
7134

7135

7136
7137

7138

7139
7140

7141
7142
7143

7144
7145
7146

7147

7148
7149

7150

7151
7152

7153
7154

7155
7156

7157
7158

7159
7160

7161
7162

4910 1
4910 2
4910 3

49111

4911 2
4911 3

4912 1

4912 2
4912 3

4913 1
4913 2
4913 3

4914 1
4914 2
4914 3

4915 1
4915 2
4915 3

4916 1
4916 2
4916 3

4917 1
4917 2

4918 1
4918 2

4919 1
4919 2

4920 1
4920 2

4921 1
4921 2

sin(x)

1
sin(x)y

sin(x)

sin (x) ym

sin(x)mw
Y

sin(z)ym

sin(x)w

(sin ())*

(sin(x))*
2

y
sin (z) y

sin(x)
Yy

1
(sin(2))?y?
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wn ) )

2 N

CD
CDI
CDIF

CD

CDI
CDF

CD

CDI
CDIF

CD
CDI
CDIF

CD
CDI
CDF

CD
CDI
CDIF

CD
CDI
CDF

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD MINUS

CD PLUS
CDF PLUS

CDI PLUS

CDI MINUS
CDIF PLUS

CDI MINUS

CDI PLUS
CDIF PLUS

CDF PLUS
CDF MINUS
CD MINUS

CDF MINUS
CDF PLUS
CD MINUS

CDIF PLUS

CDIF MINUS
CDI MINUS

CDIF MINUS

CDIF PLUS
CDI MINUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

W PLUS
W MINUS
W MINUS
W PLUS
ABI PLUS
ABI MINUS



7163
7164

7165
7166

7167
7168

7169
7170

7171
7172

7173
7174

7175
7176

71T
7178

7179
7180

7181
7182

7183
7184

7185
7186

7187
7188

7189
7190

4922 1
4922 2

4923 1
4923 2

4924 1
4924 2

4925 1
4925 2

4926 1
4926 2

4927 1
4927 2

4928 1
4928 2

4929 1
4929 2

4930 1
4930 2

4931 1
4931 2

4932 1
4932 2

4933 1
4933 2

4934 1
4934 2

4935 1
4935 2

y2
(sin(x))?

(sin (z))" y?

(sin(2))®
y3

1
(sin(2))®y?

%
(sin(z))®

esm(z)y

sin(x)

e v

LOG (sin(z)y)

LOG ( Si“@))

Y

arcsin (sin (z) y)
arcsin (M )
y

arctan (sin (z) y)

arctan (%)
y

Vlcos @) y2 2 +1

wn

)

wn

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

ABI MINUS
ABI PLUS
K PLUS
K MINUS
K MINUS
K PLUS
KI PLUS
KI  MINUS
KI  MINUS
KI  PLUS
LL PLUS
LL MINUS
LL MINUS
LL PLUS
L PLUS
L MINUS
L MINUS
L PLUS
S PLUS
S MINUS
S MINUS
S PLUS
T PLUS
T MINUS
T MINUS
T PLUS
P PLUS
P MINUS



7191
7192

7193
7194

7195
7196

7197
7198

7199
7200

7201
7202

7203
7204

7205
7206

7207
7208

7209

7210

7211

7212

7213

7214

7215

4936 1
4936 2

4937 1
4937 2

4938 1
4938 2

4939 1
4939 2

4940 1
4940 2

4941 1
4941 2

4942 1
4942 2

4943 1
4943 2

4944 1
4944 2

4945 1

4946 1

4947 1

4948 1

4949 1

4950 1

4951 1

/ (cos(x))?+y2—1
y2

V- (cos (@)% y? +y2 + 1

_ (cos(@))?—y2—1
y2

1/2 esin(z)y _ 1/2 e sin(z)y

sin(z) _ sin(a)

1/26 Y —1/26 Yy

1/2 esin(z)y + 1/2 e sin(z)y

sin(z) _ sin(a)

1/26 Y +1/2e Yy

o2 sin(z‘)y71
e2 sin(a:)y+1

sin(z) sin(x) -1
1(87 — 1) (e2T +1)

sin(x)y
T

T _
sin(x)y

sin (z) 7>
Yy

sin(z)m?
(sin(x))?y?
2

(sin(x))%x?
u2

sin(z)y
™
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CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CDF

CDF

CDF

CDF

CDF

CDF

CDF

SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

TH
TH

CD

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

CDI PLUS

CDF MINUS

CDIF MINUS

AB

AB

W

PLUS

MINUS

PLUS



7216

7217

7218

7219

7220

7221

7222

7223

7224

7225

7226

7227

7228

7229

7230

7231

7232

7233

7234

4952 1

4953 1

4954 1

4955 1

4956 1

4957 1

4958 1

4959 1

4960 1

4961 1

4962 1

4963 1

4964 1

4965 1

4966 1

4967 1

4968 1

4969 1

4970 1

sin(z)m

2
(sin(z))2y2
2
(sin(z))? w2
(sin(@))®y®
3
(sin(z))?n3
73
3
(sin(x))%y3
43

sin(x)y
e«

sin(xz) 7w

e v

LOG ( sin(z)y

™

)
LOG (Si“@)”)

Y

arctan

3

sin(x)w

arctan

()
(5)

<

(cos(x))?y2 +m2—y?
2

\/ (cos(z))?m2 —724y2
o2

\/_ (cos())2y?—n2—y?
2

T

\/_ (cos(z))?m2—72—y2
2

Y

318

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



7235

7236

7237

7238

7239

7240

7241

7242

7243

7244

7245

7246

7247

7248

7249

7250

7251

7252

7253

7254

4971 1

4972 1

4973 1

4974 1

4975 1

4976 1

4977 1

4978 1

4979 1

4980 1

4981 1

4982 1

4983 1

4984 1

4985 1

4986 1

4987 1

4988 1

4989 1

4990 1

sin(z)y _ sin(a)y

1/2e= = —1/2e =

sin(z)w _ sin(z)m

1/2e7 v —1/2e¢ " v

sin(z)y _ sin(a)y

1/2e= = +41/2e =
sin(z)w sin(xz)w

1/2e7 v +1/2e¢ " v

1 (GQSmgwy __1) (GQSm:my

sin(z)mw sin(x)m
1(62 Y —1)(62 Y

sin(x)ym?

(sin(x))?

y27T2
(sin (z))* y??

sin(x)

ym

sin (z) ym

y2n?
(sin(z))?

1
(sin(z))2y2m2

(sin(a))®

y373
(sin (2))” yn®

y37'r3

Gin(2))?

1
(@) "y

319

CDF

CDF

CDF

CDF

CDF

CDF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CDI PLUS

CDF MINUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS

ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS

KI  MINUS



7255

7256

7257

7258

7259

7260

7261

7262

7263

7264

7265

7266

7267

7268

7269

7270

7271

7272

7273
7274

4991 1

4992 1

4993 1

4994 1

4995 1

4996 1

4997 1

4998 1

4999 1

5000 1

5001 1

5002 1

5003 1

5004 1

5005 1

5006 1

5007 1

5008 1

5009 1
5009 2

sin(z)

e vm

esin(z)yﬂ'

LOG (52
LOG (sin (z) ym)
arcsin (“Z#)

arcsin (sin (z) ym)

arctan (w)

ym

arctan (sin (z) ym)

y2m2+(cos(x))?—1
BT

Jem

\/_M

y27r2

\/— (cos (z))* w2y + y2m2 + 1

sin(x) sin(xz)

1/26 ym —1/26_ ym

1/2 esin(m)yﬂ _ 1/2 e~ sin(z)ym

si sin(x)

n(z)
4 1/2e wm

1/2e

1/2 esin(z)yw 4 1/2 e~ sin(z)ym

sin(z sin(w -1
1(&% —1) (eQ—yi) +1)

e2 sin(z‘)yﬂ_l
e2 sin(m)yﬂ_j’_l

sin () /Yy

320

wn

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

AB
ABI

LL

LL

SH

SH

CH

CH

TH

TH

CD
CD

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
MINUS



7275
7276

7277
7278

7279
7280

7281
7282

7283
7284

7285
7286

7287
7288

7289
7290

7291
7292

7293
7294

7295
7296

7297
7298

7299
7300

7301
7302

5010 1
5010 2

5011 1
5011 2

5012 1
5012 2

5013 1
5013 2

5014 1
5014 2

50151
5015 2

5016 1
5016 2

5017 1
5017 2

5018 1
5018 2

5019 1
5019 2

5020 1
5020 2

5021 1
5021 2

5022 1
5022 2

5023 1
5023 2

sin(x)

VY

1
sin(x)\/y

VY

sin(z)

sin (z) \/ym

sin(x)mw

VY
1
sin(z)/ym

VY
sin(z)m

(sin ())*y

(sin(x))?
Yy

sin () /Yy

1
(sin(2))?y
Yy
(sin())?

(sin (@) y

3/2

321

wn

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

CD MINUS
CD PLUS

CDI PLUS
CDI MINUS

CDI MINUS
CDI PLUS

CDF PLUS
CDF MINUS

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

W PLUS
MINUS

W MINUS
W PLUS
ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS

PLUS
MINUS

=~ =



7303
7304

7305
7306

7307
7308

7309
7310

7311
7312

7313
7314

7315
7316

7317
7318

7319
7320

7321
7322

7323
7324

7325
7326

7327
7328

7329
7330

5024 1
5024 2

5025 1
5025 2

5026 1
5026 2

5027 1
5027 2

5028 1
5028 2

5029 1
5029 2

5030 1
5030 2

5031 1
5031 2

5032 1
5032 2

5033 1
5033 2

5034 1
5034 2

5035 1
5035 2

5036 1
5036 2

5037 1
5037 2

(sin(2))?

4372

1
in(@) 372

o372

(sin(z))®

esin(w)\/ﬂ

sin(z)

LOG (sin (z) \/y)

LOG (‘jg)

arcsin (sin (z) /7))

. sin(x)
arcsin ( NG} )

arctan (sin (z) \/¥)

arctan (Sin(m) )

g

V(cos (@) y —y+1

/ (cos(z))?+y—1
Yy

V- (cos @)Py+y+1

322

wn

wn

wn

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

KI
KI

KI
KI

LL
LL

LL
LL

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



7331
7332

7333
7334

7335
7336

7337
7338

7339
7340

7341
7342

7343
7344

7345

7346

7347

7348

7349

7350

7351

7352

7353

7354

5038 1
5038 2

5039 1
5039 2

5040 1
5040 2

5041 1
5041 2

5042 1
5042 2

5043 1
5043 2

5044 1
5044 2

5045 1

5046 1

5047 1

5048 1

5049 1

5050 1

5051 1

50562 1

50563 1

5054 1

_ (cos(@))?—y—1
Y
1/2 esin(w)\/ﬂ _ 1/2 e~ sin(x)/y

sin(x) _
1/2evv —1/2e

1/2 esin(w)\/ﬂ 4 1/2 e~ sin(x)/y

sin(x) _
1/2e Vv +1/2e

o2 sin(z)\/ﬂ71
o2 S(DVI 11

sin(x)m
y2

1
sin(z)y2m

2

sinl(m)Tr

(sin (z))* y*

(sin())?
y4

sin(x)

S AB
S ABI
S AB
S ABI
@)
S AB
S ABI
S AB
S ABI
S AB
S ABI
S AB
S ABI
—1

W+ 1) S AB
S ABI
S W
S W
S W
S W
S W
S W
S W
S W
S
S

323

H

SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

TH
TH

CD

CD

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

PLUS

MINUS



7395

7356

7357

7358

7359

7360

7361

7362

7363

7364

7365

7366

7367

7368

7369

7370

7371

7372

7373

5055 1

5056 1

5057 1

5058 1

5059 1

5060 1

5061 1

5062 1

5063 1

5064 1

5065 1

5066 1

5067 1

5068 1

5069 1

5070 1

5071 1

5072 1

5073 1

sin (z) y?

sin(x)
y2

1
(sin(x))?y*

y4
(@)

(sin ()" °

(sin(2))?

yG

1
(sin(2))®y°

yG
Gm@)°

esim(m)y2

sin(z)
e v?

LOG (sin (z) y?)

LOG ( S“;g”)

arcsin (sin (z) y?)

y+(cos(x))? -1
y4

V- (cos (@) yt +yt + 1

324

=

= = = = = =

= = = = = = =

=

ABI

ABI

KI

KI

LL

LL

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



7374

7375

7376

7377

7378

7379

7380

7381
7382

7383
7384

7385
7386

7387
7388

7389
7390

7391
7392

7393
7394

7395
7396

7397
7398

5074 1

5075 1

5076 1

5077 1

5078 1

5079 1

5080 1

5081 1
5081 2

5082 1
5082 2

5083 1
5083 2

5084 1
5084 2

5085 1
5085 2

5086 1
5086 2

5087 1
5087 2

5088 1
5088 2

5089 1
5089 2

\/_—y‘“r(c<>—s(w))2—1
y4

1/2 esin(z)y2 _ 1/2 e~ sin(z)y?

sin(x) _ sin(=z)

1/2¢ v —1/2¢" »

1/2 esin(w)y2 + 1/2 e~ sin(z)y?

sin(x) _ sin(=z)

1/2e v» 4+1/2e 7

c2 sin(z‘)y2 -1
e2 sin(2)y? {1

. i -1
sin(z) sin(x)
1(62—y2 —1> (e2 V2 +1)

sin (x) /y

sin(x)

w

1
sin(x) ¢/y

il

sin(z)

sin (z) ym

sin(x)m

Y

1
sin(x) J/ym

Yy
sin(x)m

(sin (2))* y*/*

325

wn

KI

KI

KI

H MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS
CD MINUS

CD MINUS
CD PLUS

CDI PLUS
CDI MINUS

CDI MINUS
CDI PLUS

CDF PLUS
CDF MINUS

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
AB MINUS



7399
7400

7401
7402

7403
7404

7405
7406

7407
7408

7409
7410

7411
7412

7413
7414

7415
7416

7417
7418

7419
7420

7421
7422

7423
7424

7425
7426

5090 1
5090 2

5091 1
5091 2

5092 1
5092 2

5093 1
5093 2

5094 1
5094 2

5095 1
5095 2

5096 1
5096 2

5097 1
5097 2

5098 1
5098 2

5099 1
5099 2

5100 1
5100 2

5101 1
5101 2

5102 1
5102 2

5103 1
5103 2

(sin(aﬁ))2

y2/3
sin (z) &y
sin(z)

Ty

1
(sin(x))292/3

2/3

(sin(x))”

(sin (z))* y

Yy
1
(sin(z))3y
Y
(sin(x))?
esin(z) Sy

sin(x)

e Vv

LOG (sin (z) /)

LoG (“jg’)

arcsin (sin (z) ¢/9)

326

AB
AB

W
W

W
W

ABI
ABI

ABI
ABI

=~ =

KI
KI

KI
KI

LL
LL

LL
LL

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



7427
7428

7429
7430

7431
7432

7433
7434

7435
7436

7437
7438

7439
7440

7441
7442

7443
7444

7445
7446

7447
7448

7449
7450

7451
7452

7453

5104 1
5104 2

5105 1
5105 2

5106 1
5106 2

5107 1
5107 2

5108 1
5108 2

5109 1
5109 2

5110 1
5110 2

51111
5111 2

5112 1
5112 2

5113 1
5113 2

5114 1
5114 2

51151
5115 2

5116 1
5116 2

5117 1

. sin(x)
arcsin (—w )

arctan (sin (z) ¢/)

sin(x)
arctan (3—\/ﬂ )

ol (cos (@) — g5 1 1

(cos(x))2—1+4y2/3
4273

\/—y2/3 (cos (2))* +y2/3 +1

\/—7(COS(I))2+1+742/3

y2/3

1/2 esin(m) Yy _ 1/2 e~ sin(z) y

1/2 esin(z) Yy + 1/2 e sin(z) ¥y

sin(z) _ sin(a)

1/2e ¥ 4+1/2e¢ W

e2 sin(x) %71
e2 sin(z) 3/@4,1

. . —1
sin(x) sin(x)
1(e2 ez —1) (e2 v +1)

sin (z) In (y)

327

wn

wn

KI

KI

KI

KI

KI

KI

KI

LL

SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

TH
TH

CD

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS



7454

7455

7456

7457

7458

7459

7460

7461

7462

7463

7464

7465

7466

7467

7468

7469

7470

7471

7472

7473

5118 1

51191

5120 1

51211

5122 1

5123 1

5124 1

5125 1

5126 1

5127 1

5128 1

5129 1

5130 1

51311

5132 1

5133 1

5134 1

51351

5136 1

51371

1
sin(z) In(y)

In(y)
sin(z)

sin (z) In (y) 7

sin(z)m
In(y)

1
sin(z) In(y) T

In(y)
sin(z)m

(sin (2)) (In (y))°

(sin(2))*

(In(y))?

sin (z) In (y)

1
(sin(z))*(In(y))

(On(y)?*
(sin(aﬁ))2

(sin (:E))3 (In (y))3

(sin())?
n(y))®

I S
(si]ﬂ(;ﬂ))3 (IH(U))%

(In(y))®
(si]ﬂ(;ﬂ))3

ysin(;ﬂ)

sin(z)

e In(y)

LOG (sin () In (y))

328

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS

ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS

KI  MINUS

LL PLUS

LL MINUS

L PLUS



7474

7475

7476

T4TT

7478

7479

7480

7481

7482

7483

7484

7485

7486

7487

7488

7489

7490

7491

7492

7493

5138 1

5139 1

5140 1

51411

5142 1

5143 1

5144 1

51451

5146 1

5147 1

5148 1

5149 1

5150 1

51511

5152 1

5153 1

5154 1

5155 1

5156 1

51567 1

LOG (35t))

Y)

arcsin (sin (z) In (y))

arcsin (Slf((;)) )

arctan (sin (z) In (y))

arctan (Sin(m) )

In(y)

V(10 (1))? (cos (2))* = (In ()% +1

\/(ln(y))QJr(cos(x))Qfl
(In(y))?

\/ — (In (y))* (cos (z))* + (In (y))* + 1

\/ (In(y))*—(cos(x))*+1
(In(y))?

1/2950(@) — 1/24~sin(@)
1/26%(;)) _ 1/267%
1/2 ysin(x) + 1/2 y*sin(x)
1/2eTW +1/2¢” W6T

2 sin(z) _q

S

sin(x sin(x —1
1 (62 1n<(y)) — 1) (e2 1n((y)) + )
sin (z) EXP (y)
sin(x)
EXP(y)

1
sin(z) EXP (y)

EXP(y)
sin(z)

sin (x) EXP (y) 7

329

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS



7494

7495

7496

7497

7498

7499

7500

7501

7502

7503

7504

7505

7506

7507

7508

7509

7510

7511

7512

7513

5158 1

51591

5160 1

5161 1

5162 1

5163 1

5164 1

5165 1

5166 1

5167 1

5168 1

5169 1

5170 1

51711

5172 1

5173 1

5174 1

51751

5176 1

5177 1

sin(x)mw
EXP(y)

1
sin(z) EXP (y)7

EXP(y)
sin(x)m

(sin (z))* (EXP (y))*

_(sin(@))®
(BXP(y))?

sin (x) EXP (y)

sin(x)
EXP(y)

1
(sin(2))*(EXP(y))*

(EXP(y))?
(sin(w))?

(sin (z))° (EXP (y))*

(BXP ()

1
(sin(z))3 (EXP(y))’

(EXP(y))*
(sin(a))’

esin(m)EXP(y)

sin(x)
e EXP(y)

LOG (sin (z) EXP (y))

L0G (72

arcsin (sin (z) EXP (y))

arcsin ( 5}1?1?(7);) )

arctan (sin (x) EXP (y))

CDF MINUS

CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS



7514

7515

7516

7517

7518

7519

7520

7521

7522

7523

7524

7525

7526

7527

7528

7529

7530

7531

7532

7533

5178 1

5179 1

5180 1

5181 1

5182 1

51831

5184 1

5185 1

51861

5187 1

51881

51891

5190 1

5191 1

5192 1

5193 1

5194 1

5195 1

5196 1

5197 1

arctan (%%)

V(EXP () (cos (2))° — (EXP (3))* +1

\/(EXP(y))ZJr(COS(I))Ll

(EXP(y)*

V= (BXP () (cos () + (BXP ()" + 1

\/(EXP(y))Z—(COS(I))Q-H

(EXP(y)*

1/2 esin(z)EXP(y) _ 1/2 e sin(z) EXP(y)

sin(x)
1/2e™xP) —1/2e”

1/2 esin(m)EXP(y) 4 1/2 e~ sin(z) EXP (y)

sin(z)
1/2eTxP0) +1/2e”

o2 sin(xz) EXP(y) -1
&2 sin(@) EXP(y) 11

sin(x)

1 (62 EXP(y) — 1) (62 EXP(y) 4 1

sin () sin (y)

sin(x)
Sn(y)

_r
sin(z) sin(y)

sin(y)
sin(x)

sin (z) sin (y) ©

sin(x)m
sin(y)

-1
sin(z) sin(y)m

sin(y)
sin(x)m

(sin (2))* (sin (y))*

sin(x)
EXP(y)

sin(x

(=)
EXP(y)

sin(x)

331

X

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

PLUS



7534

7535

7536

7537

7538

7539

7540

7541

7542

7543

7544

7545

7546

7547

7548

7549

7550

7551

7552

7553

5198 1

5199 1

5200 1

5201 1

5202 1

5203 1

5204 1

5205 1

5206 1

5207 1

5208 1

5209 1

5210 1

52111

5212 1

5213 1

5214 1

52151

5216 1

5217 1

(sin(x))?
(sin(y))* S

sin (z) sin (y) S
sin(x)
sin(y) S
1
(sin(x))*(sin(y))* S
(sin(y))*
(sin())? S
. 3 o 3
(sin (z))” (sin (y)) S
(sin(2))®
(sin(y))® S
1
(sin(x))? (sin(y))* S
(sin(y))®
(sin(2))? S
esin(z) sin(y) S
sin(e)
ey S
LOG (sin (z)sin (y)) S
sin(z)
LOG (354) S
arcsin (sin (z) sin (y)) S
arcsin (;ggzg) S
arctan (sin () sin (y)) S
arctan (:EEZ?) S

\/ — (cos () (cos ())” + (cos (y))” + (cos ()8

(sin(y))?

/ (cos (1)? (cos (2))* — (cos ())? — (cos (2))* 2

332

AB

W

W

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



7554

7535

7556

7557

7558

7559

7560

7561

7562

7563

7564

7565

7566

7567

7568

7569

7570

7571

7572

5218 1

5219 1

5220 1

52211

5222 1

5223 1

5224 1

5225 1

5226 1

5227 1

5228 1

5229 1

5230 1

52311

5232 1

5233 1

5234 1

52351

5236 1

(sin(y))+(sin())?
(sin(y))?

1/2 esin(m) sin(y) _ 1/2 e~ sin(z) sin(y)
sin(z) sin(x)
1/2e5@ — 1/2¢ 56

1/2 esin(z) sin(y) + 1/2 e~ sin(z) sin(y)

sin(x) _ sin(x)
1/2eW) 4+ 1/2e” 5@

o2 sin(@) sin(y) _q
e2 sin(xz) sin(y)Jrl

sin(x sin(z -1
1(&#5 - 1) (e2 W) 4 1)
sin(z) sin(y)

cos(y)

sin(x) cos(y)
sin(y)

cos(y)
sin(x) sin(y)

sin(y)
sin(x) cos(y)

sin(z) sin(y)w
~oosy)

sin(x) cos(y)w
sl

cos(y)
sin(z) sin(y)7

sin(y)
sin(x) cos(y)m

(sin())*(sin(y))*
(cos(y))?

(sin(x))?(cos(y))*
(sin(y))?

sin(z) sin(y)
cos(y)

sin(z) cos(y)
sin(y)

333

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

W

W

PLUS

MINUS

PLUS

MINUS



7573

7574

7575

7576

7577

7578

7579

7580

7581

7582

7583

7584

7585

7586

7587

7588

7589

7590

7591

5237 1

5238 1

5239 1

5240 1

5241 1

5242 1

5243 1

5244 1

5245 1

5246 1

5247 1

5248 1

5249 1

5250 1

5251 1

5252 1

52563 1

5254 1

525651

(cos(y))?
(sin())? (sin(y))*

(sin(y))?
(sin())® (cos(y))*

(sin(x))(sin(y))*

(cos(y))®

(sin(y))3

(cos(y))®
(sin(2))® (sin(y))®

(sin(y))®
(sin(2))® (cos(y))®

sin(x) sin(y)

e cos(y)

sin(z) cos(y)
e sin(y)

cos(y)

10 (stzisin)
)

LOG (bm z) Cos(y)

sm

sin(z) sin(y)

arcsin ( cos(y)

sm

sin(z) sin(y)

arctan ~eos(y)

2)
arcsin (bm(m) cos(y) )
2)

arctan (sm(;ﬂ) cos(y) )

sm

\/_ (cos()? (cos(2))2—2 (cos(y))—(cos(2))> +1

(cos(y))?

\/(COS(y))2(COS(1))2*2 (cos(y))*+1
(sin(y))*

\/(COS(y))z(COS(z))Q*(COS(z))ZH
(cos(y))*

\/_ (cos(y))*(cos(z))?~1

(sin(y))?

sin(z) sin(y) sin(z) sin(y)

1/2¢ e —1/2e  cortw)

334

ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS



7592

7593

7594

7595

7596

7597

7598

7599

7600

7601

7602

7603

7604

7605

7606

7607

7608

7609

5256 1

5257 1

52568 1

5259 1

5260 1

5261 1

5262 1

5263 1

5264 1

5265 1

5266 1

5267 1

5268 1

5269 1

5270 1

52711

5272 1

5273 1

sin(z) cos(y)

1/2e7 st —1/2e
sin(x) sin(y)

1/2¢ e +1/2e
sin(x) cos(y)

1/2¢ s +1/2e

sin(x) sin(y)
(e — 1) (o

() (o
sin () /—y2 + 1

sin(x)
,y2+1

:

1
sin(z)y/ —y2+1

,y2+1
sin(x)

sin (z) /—y? + 17

sin(z)m
,y2+1

:

:

1
sin(x)y/ —y2+17

,y2+1
sin(z)m

(sin ()

(sin(z))>

y2—1

:

(-2 +1)

~—

=

sin (z) /—y?+1

~

sin(x)

A /,y2+1

-1
(sin(2))*(y2—1)

sin(z) cos(y)
sin(y)

sin(x) sin(y)
cos(y)

sin(x) cos(y)
Sin(y)

cos(y)

o sin(=) cos(y)

sin(y)

335

sin(x) sin(y)

)

-1

—1
+1)

wn

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

W

W

PLUS

MINUS

PLUS

MINUS

ABI PLUS



7610

7611

7612

7613

7614

7615

7616

7617

7618

7619

7620

7621

7622

7623
7624

7625
7626

7627
7628

7629

5274 1

5275 1

5276 1

5277 1

5278 1

5279 1

5280 1

52811

5282 1

5283 1

5284 1

52851

5286 1

5287 1
5287 2

5288 1
5288 2

5289 1
5289 2

5290 1

,y2+1
(sin(@))®

(sin (2))® (=2 +1)**

(sin(xz))®
(—y2+1)3/2

1
(in@)* (g2 +1)°7

(o)
(sin(x))?
esin(z)\/fszrl
sin(x)
oV
LOG (sm () /—y? + 1)

V= (cos (@))% 4 + (cos (2))° + o

_ (cos(z))?—y?
y2-1

V/(cos () y? — (cos (2))* — y? +2

(cos(x))?+y2—2
y2—1

336

ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
H PLUS
P MINUS
H MINUS
H PLUS
P PLUS
H MINUS



7630

7631

7632

7633

7634

7635

7636

7637

7638

7639

7640

7641

7642

7643

7644

7645

7646

7647

7648

5290 2

5291 1

5292 1

5293 1

5294 1

5295 1

5296 1

5297 1

5298 1

5299 1

5300 1

5301 1

5302 1

5303 1

5304 1

5305 1

5306 1

5307 1

5308 1

1/2 esin(m)\/ —y2+1 _ 1/2 e—sin(;ﬂ)\/ —y2+41

sin(z)

sin(z)

e2 sin(z)\/fy2+171
e2 sin(m)\/7y2+l+1

2 sin(x)
1 (e Vv 1) (

sin (z) Vy?2 — 1

sin(x)
y2-1

1
sin(z)4/y%2—1

y2-1
sin(z)

sin (z) /y? — 1m

sin(z)m
y2-1

1
sin(z)y/y?2—1m

y2—1
sin(z)m

(sin (:10))2 (y2 — 1)

(sin(x))?
y2-1

sin (z) /y? — 1

sin(z)

Vyr-1

sin(z)

1/2eV=+1 —1/2¢ V-v2+1

1/2 esin(m)\/ —y2+1 + 1/2 e—SiI](LE)\/ —y2+1

sin(z)

1/2eV=+1 4+ 1/2e V-i2+1

sin(x)

e \/W+1

337

wn

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

PLUS

MINUS

PLUS

MINUS



7649

7650

7651

7652

7653

7654

7655

7656

7657

7658

7659

7660

7661

7662

7663

7664

7665

7666

5309 1

5310 1

53111

5312 1

5313 1

5314 1

53151

5316 1

5317 1

5318 1

5319 1

5320 1

53211

5322 1

5323 1

5324 1

5325 1

5326 1

1
Gm@)2 (1)

y>—1
(sin(x))?

3/2

(sin () (y* — 1)

(sin(a))’
W -0

I S
@) (s> 1)

(1)
(sin(x))®

esin(z)y/ y2—1

sin(z)

evvi-1

1/2 esin(z)\/y2fl _ 1/2 e~ sin(z)4y/y2—1

sin(z) sin(z)

1/2eVP-1 —1/2¢ Vi*—1

1/2 esin(z)\/y2fl + 1/2 e~ sin(z)y/y2—1

sin(x) sin(x)

1/2evv?-1 +1/2e V-1

338

ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI PLUS
KI MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS



7667

7668

7669

7670

7671

7672

7673

7674

7675

7676

7677

7678

7679

7680

7681

7682

5327 1

5328 1

5329 1

5330 1

53311

5332 1

5333 1

5334 1

5335 1

5336 1

5337 1

5338 1

5339 1

5340 1

5341 1

5342 1

&2 sin(z)Vy2 -1_1
e2 sin(z)V y271+1

sin(z)
1 <e2 VT 1> <e2 Vit 41

sin(z)

sin (z) In (y + VY2 + 1)
sin(x)
In (y+1/v2+1)

1
sin(z) In (er \/y2+1)

ln(y+\/y2+1)

— e

sin (z) In (y + VY2 + 1) i
sin(x)m

ln(y+ y2+1)

1
sin(z) ln(y+\/y2+l)7r

ln(y+ y2+1)

sin(x)m

(sin (z))? (ln (y + m))z

(sin(z))?
(i (sr+/om 1))

\/sin (z)In (y + /Y% + 1)
14;;1%)

1
(sin(x))? (ln (er\ / y2+1) ) 2

(/7))
(sin(x))?

339

X

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

TH

TH

CD

CD

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

ABI

ABI

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



7683

7684

7685

7686

7687

7688

7689

7690

7691

7692

7693

7694

7695

7696

7697

7698

5343 1

5344 1

5345 1

5346 1

5347 1

5348 1

5349 1

5350 1

53511

535621

5353 1

5354 1

5355 1

5356 1

53567 1

5358 1

(sin(@))° (i (y+ Vo7 7))’

__ Gin@)?
(n(y+y/5241))’

1
(sin(2))° (10 (y+

y2+1))3

(@)’

(v+ vz 1)

sin(x)

eln(w\/ﬁ)

LOG (sin (z)In (y—|— \/y——f—))

(111 yi% )
arcsin (sm )In (y +v42+1 ))

arcsin < __sin(@) >
In y +1
arctan (sm )In (y + Y2+ ))

arctan (

_ sin(z)
(v+v/v2+1) )

S SH
S SH
S SH
S SH
S SH
S SH
S SH
S SH
S SH
S SH
S SH
S SH

KI

KI

LL

LL

\/( (y+\/y—+)) cos (

(1n(y+m§7) 4P

(10 (y+y/241) )+ (cos(a))?~1
\/ (n(rvariD))? oS P
\/ (ln (y + \/y——i—)) cos ( (1n (y —|—m))
S SH H

(0 (y+/5241) )~ (cos(@)* +1
(i (y+y/s2+1))"

340

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



7699

7700

7701

7702

7703

7704

7705

7706

7707

7708

7709

7710

7711

7712

7713

7714

5359 1

5360 1

5361 1

5362 1

5363 1

5364 1

5365 1

5366 1

5367 1

5368 1

5369 1

5370 1

53711

5372 1

5373 1

5374 1

2 (u+ViEe D) " vz (y+ viEeT)s ™

sin(x) sin(x)

1/261n(y+m) _ 1/2 eiln(y+\/y2T) g

12 (y+ Ve + 1) 2 (g T )s T

sin(z) sin(x)

1/2eltl(y+\/y2+1) + 1/2 e_ln(er\/yzj) g

O
(yﬂ/zﬂT)2 )y

9 sin(z) 9 sin(z) -1
1 <e 1n(y+Vy2+1) _ 1) (e 1n(y+\/y2+1) +1> S

sin (z) In (y + \/ﬁ) S
sin(x)
In(y+1/v2-1) S
1
sin(z) ln(y+\/y2—1) S
ln(y+ y2—1)
© osin(z) S
sin (z) In (y + \/7;2——1) ™ S
sin(x) 7w
1n(y+ y2—1) S
1
sin(z) In (y+\/y2—1)ﬂ- S
In (y+ y2—1)
Tosm@r 5
2
(sin (z))? (m (y + \/yQ——l)) S
(sin(x))® § g
E)

341

(z)
SH

SH

(2)
SH

SH

SH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

SH

SH

CH

CH

TH

TH

CD

CD

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

PLUS

MINUS



7715

7716

7717

7718

7719

7720

7721

7722

7723

7724

7725

7726

7727

7728

7729

7730

5375 1

5376 1

5377 1

5378 1

5379 1

5380 1

5381 1

5382 1

5383 1

5384 1

5385 1

5386 1

5387 1

5388 1

5389 1

5390 1

\/sin (x)In (y + \/ﬁ)

sin(x)

n (y+v/42-1)

1
(sin(x))? (ln (er y2— 1) ) 2

(in(vv/v>1))"

(sin(z))?

(sin (z))? (ln (y + \/ﬁ))g

(sin(x))® §
oGV 1))

(sin(z)) (ln (er\/yz—fl) )
(o))

(sin(x))®

(v+ =)™

sin(z)

eln(y+\/y2——1)

LOG (sin (z)In (y+ \/y——))

sin(x)
(m y+\/ﬁ )
arcsin (sm )In (y + VY2 — ))

. sm(ac)
arcsin
ln

arctan (sm )In (y + \/y—_))

arctan | ——Sn@
ln y+\ /y? 71

342

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

ABI

ABI

KI

KI

LL

LL

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



7731

7732

7733

7734

7735

7736

7737

7738

7739

7740

7741

7742

7743

7744

7745

7746

5392 1

5393 1

5394 1

5395 1

5396 1

5397 1

5398 1

5399 1

5400 1

5401 1

5402 1

5403 1

5404 1

5405 1

5406 1

5391 1 \/( (y—l-\/y - )) cos ( (1n(y+\@2—1§?)12+P PLUS
(ln(er\/yzfl)) —1+(cos(z))?
S CH P  MINUS
\/ ((vrvr-1))”
2
\/ (ln(y—l-\/y - )) cos ( (1n(y—|—S\/y2£JI§) H1 PLUS
(ln(er\/yzfl)) +1—(cos(z))?
S CH H MINUS
\/ (n(vrvir-1))”
sin(z) — sin(z)
1/2 (y—i—x/y?—l) —1/2 (y—f—\/y - ) SH PLUS
sin(a) __ sin(@)
1/2e" (V) 90 mvtVero) S CH SH MINUS
sin(x) sin(x)
1/2 (y—l—\/yQ—l) +1/2 (y—i—\/y - ) CH PLUS
sin(x) _ sin(x)
1/2e™( V1) 4 /90 m(urvii—) S CH CH MINUS
(y+\/y2—71)2 sin(z)71
— S CH TH PLUS
(v+v/o2—1)" "1
2 sin(x) 2 sin(x) -1
1 (e (vt Vit 1) 1) (e m(reVitt) 1) S CH TH MINUS
1/2 sin (z) In (;y_—ll) S TH CD PLUS
2 sin (z) (ln (;y_—ll))_l S TH CD MINUS
2 by (m (;y_—ll))_l S TH CDI PLUS
1/2 s (32) S TH CDI MINUS
1/2 sin (z) In (;y_—ll) 7 S TH CDF PLUS
2 sin (z) 7 (ln (;y_—ll))_l S TH CDF MINUS



ey

7748

7749

7750

7751

7752

7753

7754

7735

7756

7757

7758

7759

7760

7761

7762

7763

5407 1

5408 1

5409 1

5410 1

54111

5412 1

5413 1

5414 1

54151

5416 1

5417 1

5418 1

5419 1

5420 1

5421 1

5422 1

5423 1

—y—1
2 sin(lz)w (ln( yfl )

8 (sin (z))* (ln (:Jy:ll)) -

1 —y—1
8 En@)? (ln( y—1 ))

(_y_Jrl)l/Q sin(x)

82 sin(z) (ln( :Jy:ll ))71

-3

LO (1/2 sin (z )ln(_;

oG <2 sin (

arcsin (1/2 sin ( ( ;

w2

wn

wn

wn

wn

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS



7764

7765

7766

7767

7768

7769

7770

7771

7772

773

e

7775

7776

T
7778
7779

7780
7781
7782

5424 1

54251

5426 1

5427 1

5428 1

5429 1

5430 1

54311

5432 1

5433 1

5434 1

5435 1

5436 1

5437 1
5437 2
5437 3

5438 1
5438 2
5438 3

arcsin (2 sin () (ln (yyll))1> S TH
arctan (1/2 sin (z) In (*y?!:ll )) S TH
arctan (2 sin () (ln (%}1) 1) S TH

1/2 \/4+ (=1 + (cos (2))”
(0 () =18 onio) (352
1/2 \/_ (1n (;11_-11))2 (cos (#)* + (1n (;y_—ll)§2 +ATH
J1(0n(32)) 4 o) (o (52)) T

) 1/2 sin(z)

N—

1/2 (35 S2(35) P s

1/2 e25in(x)(ln( P ))71 N 1/2 672sin(x)(ln( 7;’7711 )é{l TH

TH
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T CDI
T

345

)@}(%@gé S

S MINUS
T PLUS

T MINUS
P PLUS

P MINUS

H PLUS
H MINUS

SH PLUS
SH MINUS
CH PLUS

CH MINUS

—1/2 sin(ac)) -1

TH MINUS

CD PLUS
CD MINUS
CDF PLUS

CD MINUS
CD PLUS

CDIF CDF PLUS



7783

7784
7785

7786

7787
7788

7789
7790
7791

7792
7793
7794

7795

7796
7797

7798

7799
7800

7801
7802

7803
7804

7805
7806

7807
7808

7809
7810

7811
7812

5439 1

5439 2
5439 3

5440 1

5440 2
5440 3

5441 1
5441 2
5441 3

5442 1
5442 2
5442 3

5443 1

5443 2
5443 3

5444 1

5444 2
5444 3

5445 1
5445 2

5446 1
5446 2

5447 1
5447 2

5448 1
5448 2

5449 1
5449 2

5450 1
5450 2

tan(z)y

_Yy
tan(x)

tan (x) ym

tan(z)w
)

1
tan(z)ym

tantm)ﬂ

(tan (x))* y?

(tan(z))?
y2

tan (z) y

tan(x)
Y

(tan(x))*y?

2
(tan(z))?
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H 4 HH4 A HHH HH H 4

HH

CD

CDI
CDF

CD

CDI
CDIF

CD
CDI
CDIF

CD
CDI
CDF

CD
CDI
CDIF

CD
CDI
CDF

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CDI PLUS

CDI MINUS
CDIF PLUS

CDI MINUS

CDI PLUS
CDIF PLUS

CDF PLUS
CDF MINUS
CD MINUS

CDF MINUS
CDF PLUS
CD MINUS

CDIF PLUS

CDIF MINUS
CDI MINUS

CDIF MINUS

CDIF PLUS
CDI MINUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

W PLUS
W MINUS

W MINUS
W PLUS
ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS



7813
7814

7815
7816

7817
7818

7819
7820

7821
7822

7823
7824

7825
7826

7827
7828

7829
7830

7831
7832

7833
7834

7835
7836

7837
7838

7839
7840

5451 1
5451 2

5452 1
5452 2

5453 1
5453 2

5454 1
5454 2

5455 1
5455 2

5456 1
5456 2

5457 1
5457 2

5458 1
5458 2

5459 1
5459 2

5460 1
5460 2

5461 1
5461 2

5462 1
5462 2

5463 1
5463 2

5464 1
5464 2

(tan (z))” y?

(tan(z))®
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1
(tan(z))%y3
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(tan(2))?
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tan(z)
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LOG (tan (z)y)
LOG (L22))

Y

arcsin (tan (z) y)
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y
arctan (tan (z) y)

tan(x)
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\/(COS(w))2y2+(COS(w))2—y2

(cos(z))?
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(cos(x))y?
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CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

KI
KI

KI
KI

LL
LL

LL
LL

g

PLUS
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MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS



7841
7842

7843
7844

7845
7846

7847
7848

7849
7850

7851
7852

7853
7854

7855
7856

7857

7858

7859

7860

7861

7862

7863

7864

5465 1
5465 2

5466 1
5466 2

5467 1
5467 2

5468 1
5468 2

5469 1
5469 2

5470 1
5470 2

5471 1
5471 2

5472 1
5472 2

5473 1

5474 1

5475 1

5476 1

5477 1

5478 1

5479 1

5480 1
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(cos(a))?
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tan(z) _ tan(z)

1/2e Y —1/26 v
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tan(z) tan(z)
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g2 ten(®y
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tan(z)y
™

_ 7T
tan(z)y

tan (z) 7>
Y

Y
tan(x)m?
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tan(z)y
T

tan(z)m
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CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

TH
TH

CD

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

CDI PLUS

CDF MINUS

CDIF MINUS

AB

AB

PLUS

MINUS

PLUS

MINUS



7865

7866

7867

7868

7869

7870

7871

7872

7873

7874

7875

7876

7877

7878

7879

7880

7881

7882

7883

5481 1

5482 1

5483 1

5484 1

5485 1

5486 1

5487 1

5488 1

5489 1

5490 1

5491 1

5492 1

5493 1

5494 1

5495 1

5496 1

5497 1

5498 1

5499 1

s

2
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2
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T

3

(tan(z))3x3

Y

3

3
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3
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tan (z

arctan (

Y

arctan (M)
Yy
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3
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_ tan(a)y
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CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI ~ PLUS
KI ~ MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS



7884

7885

7886

7887

7888

7889

7890

7891

7892

7893

7894

7895

7896

7897

7898

7899

7900

7901

7902

7903

5500 1

5501 1

5502 1

5503 1

5504 1

5505 1

5506 1

5507 1

5508 1

5509 1

5510 1

55111

5512 1

5513 1

5514 1

55151

5516 1

5517 1

5518 1

5519 1

tan(z)mw tan(z)w

1/2e7 v —1/2e " v
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tan(x)
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tan(z)

tan (z) ym?
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tan(x)
ym

tan (z) ym
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1
(tan(2))7y7
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CDF

CDF

CDF

CDF

CDF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CDI PLUS

CDF MINUS

CDIF MINUS

AB PLUS

AB MINUS

W  PLUS

W MINUS

ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS

KI  MINUS

LL PLUS



7904

7905

7906

7907

7908

7909

7910

7911

7912

7913

7914

7915

7916

7917

7918

7919

7920

7921
7922

7923
7924

5520 1

5521 1

5522 1

5523 1

5524 1

5525 1

5526 1

5527 1

5528 1

5529 1

5530 1

5531 1

5532 1

5533 1

5534 1

5535 1

5536 1

5537 1
5537 2

5538 1
5538 2

etan(m)yﬂ'
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arctan (M)
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(cos(x))?m2y?
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tan(z)
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tan(z)

Yy
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tan(x)
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tan(x)

Yy

1/2 etan(m)yfr + 1/2 e~ tan(z)ym

tan(x)
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)
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tan (z) /Y

tan(x)
VY
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CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

AB
ABI

AB
ABI

LL

SH

SH

CH

CH

TH

TH

CD
CD

CD
CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS



7925
7926

7927
7928

7929
7930

7931
7932

7933
7934

7935
7936

7937
7938

7939
7940

7941
7942

7943
7944

7945
7946

7947
7948

7949
7950

7951
7952

5539 1
5539 2

5540 1
5540 2

55641 1
5541 2

5542 1
5542 2

5543 1
5543 2

5544 1
5544 2

5545 1
5545 2

5546 1
5546 2

5547 1
5547 2

5548 1
5548 2

5549 1
5549 2

5550 1
5550 2

5551 1
5551 2

5552 1
5552 2

N S
tan(x)\/y

tan(x)

tan (z) \/ym

tan(z)w

VY

1
tan(x)/ym
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tan(z)m

(tan ()" y

(tan(z))?
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Yy
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(tan(z))®
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ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI
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ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

CDI PLUS
CDI MINUS

CDI MINUS
CDI PLUS

CDF PLUS
CDF MINUS

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

W PLUS
MINUS

W MINUS
W PLUS
ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS

PLUS
MINUS

=~ =

K MINUS
K PLUS



7953
7954

7955
7956

7957
7958

7959
7960

7961
7962

7963
7964

7965
7966

7967
7968

7969
7970

7971
7972

7973
7974

7975
7976

7977
7978

7979
7980

5553 1
5553 2

5554 1
5554 2

5555 1
5555 2

5556 1
5556 2

5557 1
5557 2

5558 1
5558 2

5559 1
5599 2

5560 1
5560 2

5561 1
5561 2

5562 1
5562 2

5563 1
5563 2

5564 1
5564 2

5565 1
5565 2

5566 1
5566 2

1
(tan(x))®y/2

LOG (tan (z) \/y)

LOG (t‘j(;))

arcsin (tan (z) \/7)

)

arctan (tan (z) \/y)

)
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tan(z

[
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S
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§
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AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

KI
KI

KI
KI

LL
LL
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PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS



7981
7982

7983
7984

7985
7986

7987
7988

7989
7990

7991
7992

7993

7994

7995

7996

7997

7998

7999
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5567 1
5567 2

5568 1
5568 2

5569 1
5569 2

5570 1
5570 2

5571 1
5571 2

5572 1
5572 2

5573 1

5574 1

5575 1

5576 1

5577 1

5578 1

5579 1

5580 1

5581 1

55821
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tan(z)m
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1
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Y
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(tan ()" y*

(tan(x))?
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tan (z) y2
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ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI
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= =2 = =

= = = =
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SH
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CH
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PLUS
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MINUS
PLUS

PLUS
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MINUS
PLUS

PLUS
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MINUS
PLUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB
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W

PLUS

MINUS

PLUS
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8006

8007

8008

8009
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8011

8012

8013

8014

8015

8016

8017

8018

8019

8020

8021

8022

8023

5584 1

5585 1

5586 1

5587 1

5588 1

5589 1

5590 1

5591 1

5592 1

5593 1

5594 1

5595 1

5596 1

5597 1

5598 1

5599 1
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5601 1
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2

1
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Y
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(tan(z))®
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1
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1/2 etan(m)y2 _ 1/2 e—tam(w)y2

355

=

= = = = =

=

= = = = = =2 = =

=

ABI
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SH
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MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
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PLUS

MINUS

PLUS

MINUS

PLUS

MINUS
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MINUS

PLUS

MINUS
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8026

8027

8028
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8030
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8033
8034

8035
8036

8037
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8039
8040

8041
8042

8043
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8045
8046

8047
8048
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5605 1

5606 1

5607 1

5608 1

5609 1
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5610 1
5610 2

5611 1
5611 2

5612 1
5612 2

5613 1
5613 2

5614 1
5614 2
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5615 2

5616 1
5616 2

5617 1
5617 2

5618 1
5618 2
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TH PLUS

TH MINUS
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CD MINUS
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CD PLUS

CDI PLUS
CDI MINUS

CDI MINUS
CDI PLUS

CDF PLUS
CDF MINUS

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
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AB MINUS
AB PLUS
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8054
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8063
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5625 1
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5627 1
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5628 1
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5630 1
5630 2

5631 1
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5632 1
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tan(x)

Sy

1
(tan(z))?y2/3

2/3
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8077
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8082
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8087
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5634 1
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5635 1
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arctan (tan (x) é/ﬂ)

tan(x)
arctan( Ty )

\/y2/3(cos(w))2—y2/3+(cos(w))2
(COS(LE))2

\/ (cos(z))2—1+y2/3(cos(z))?

y2/3(cos(x))>

\/_ y2/3(cos(z))2—y2/3 —(cos(x))?
(cos(2))?

\/—(cos(w))2+1+y2/3(005(1))2

y2/3(cos(x))?

1/2 etan(m) Yy _ 1/2 e—tan(;ﬂ) VY

1/2 etan(m) Iy + 1/2 e—tan(;ﬂ) Yy

tan(z) _ tan(x)

1/2e¢ ¥ +1/2¢ @

c2 tan(x) %71

2tan(m) QM -1
ILle @ —1) (e & +1

tan (z) In (y)

tan(x)
In(y)

358

KI

LL

LL

SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

TH
TH

CD

CD

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

MINUS



8103

8104

8105

8106

8107

8108

8109

8110

8111

8112

8113

8114

8115

8116

8117

8118

8119

8120

8121

8122

8123

5647 1

5648 1

5649 1

5650 1

5651 1

5652 1

5653 1

5654 1

5655 1

5656 1

5657 1

5658 1

5659 1

5660 1

5661 1

5662 1

5663 1

5664 1

5665 1

5666 1

5667 1

1
tan(z) In(y)

In(y)
tan(z)

tan (z) In (y) 7

tan(z)w
In(y)

1
tan(z) In(y)m

In(y)
tan(z)m

(tan (z))* (In (y))?

In(y)

S
(tan(z))?(In(y))?

(In(y))?
(tan(;ﬂ))2

(tan ())” (In (y))*

(In(y))?

S N
(tan(2))* (n(y))?
(In(y))*

(tan(x))

tan(z)

Y

tan(x)

e In(y)

LOG (tan (z)In (y))

LOG ()

arcsin (tan (x) In (y))

359

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

CDI

CDI

PLUS

MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

W

W

ABI

ABI

KI

KI

LL

LL

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



8124

8125

8126

8127

8128

8129

8130

8131

8132

8133

8134

8135

8136

8137

8138

8139

8140

8141

8142

8143

5668 1

5669 1

5670 1

5671 1

5672 1

5673 1

5674 1

5675 1

5676 1

5677 1

5678 1

5679 1

5680 1

5681 1

5682 1

5683 1

5684 1

5685 1

5686 1

5687 1

tan(z

arcsin( Tn(y) )

arctan (tan (x) In (y))

—

tan(x)
arctan( Tn(y) )

\/ (In()) (cos())” — (n())> + (cos())
(cos(a))?

\/(ln(y))2(COS(w))2—1+(COS(w))2
(In(y))* (cos(x))*

\/_ (In(y))* (cos(x))* —(In(y))* — (cos(x))*
(cos())?

\/(ln(y))2(COS(z))ZH*(COS(I))z
(In(y))* (cos(x))*

1/2 ytan(;ﬂ) _ 1/2 y—tan(;ﬂ)

tan(z)

1/2e 0 —1/2¢ T

1/2 ytan(x) + 1/2 yftan(x)

tan(x)

tan(x)
1/2e 00 +1/2¢” D0

2 tan(e) _q

S

y2 tan(z)4,1
2 tan(x) 2 tan(x) -1
1 (e In(y) — 1) (e In(y) 1)

tan (x) EXP (y)

tan(x)
EXP(y)

1
tan(z) EXP (y)

EXP(y)
tan(x)

tan () EXP (y)

tan(z)m
EXP(y)

1
tan(z) EXP (y)m
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LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS



8144

8145

8146

8147

8148

8149

8150

8151

8152

8153

8154

8155

8156

8157

8158

8159

8160

8161

8162

8163

5688 1

5689 1

5690 1

5691 1

5692 1

5693 1

5694 1

5695 1

5696 1

5697 1

5698 1

5699 1

5700 1

5701 1

5702 1

5703 1

5704 1

5705 1

5706 1

5707 1

EXP(y)
tan(z)m

(tan (z))* (EXP (y))*

_(tan(2))*_
(BXP(y))?

tan (x) EXP (y)

tan(x)
EXP(y)

1
(tan(2))? (EXP(y))?

(BEXP(y))*
(tan(z))?

(tan ())” (EXP (y))”

_(tan(@))®_
(BXP ()
1
(tan () *(EXP ()

(EXP(y))®
(tan(x))”

etan(z)EXP(y)

tan(x)
e EXP(y)

LOG (tan (z) EXP (y))

106 (#5%5)

arcsin (tan (x) EXP (y))

arcsin( tan(z) )
EXP(y)

arctan (tan (x) EXP (y))

arctan (—Et)a;}(z) )

\/ (BXP (1)) (cos(@)2—(EXP(y))*+ (cos(@))
(cos(a))?

CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI PLUS
KI ~ MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS



8164

8165

8166

8167

8168

8169

8170

8171

8172

8173

8174

8175

8176

8177

8178

8179

8180

8181

8182

5708 1

5709 1

5710 1

57111

5712 1

9713 1

5714 1

97151

5716 1

o717 1

59718 1

5719 1

5720 1

57211

5722 1

5723 1

5724 1

57251

5726 1

\/(EXP(y))2(COS(CE))2—1+(COS(1))2
(EXP(y))*(cos(w))®

\/_ (EXP(y))?(cos(x))” — (EXP(y))? —(cos(x))*

(cos(a))?

\/(EXP(y))2(COS(I))2+1*(COS(I))2
(EXP(y))*(cos(x))?

1/2 etan(z)EXP(y) _ 1/2 e tan(z) EXP(y)

tan(z)

1/2eF57G — 1/2¢ T
1/2 etan(z)EXP(y) + 1/2 e tan(z) EXP(y)

tan(x)

tan(x) _
1/2e%F0 + 1/2e” TXP0

o2 tan(z) EXP(y) 1
o2 tan(2)BEXP(y) 11

2 tan(x) 2 tan(x) -1
1 (e EXP(y) — 1) (e EXP(y) 4 1)
sin(x) sin(y)
cos(x)

sin(x)
cos(z) sin(y)

cos(x)
sin(x) sin(y)

cos(z) sin(y)
sin(z)

sin(z) sin(y)w
cos(x)

sin(z)m
cos(z) sin(y)

cos(x)
sin(z) sin(y)m

cos(z) sin(y)
sin(z)m

(sin(x))?(sin(y))*
(cos(x))?

(sin(x))?

(cos(z))2(sin(y))>

362

P MINUS

H PLUS

H MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS



8183

8184

8185

8186

8187

8188

8189

8190

8191

8192

8193

8194

8195

8196

8197

8198

8199

8200

8201

0727 1

5728 1

5729 1

5730 1

57311

57321

5733 1

5734 1

57351

5736 1

9737 1

5738 1

5739 1

5740 1

5741 1

5742 1

5743 1

5744 1

5745 1

sin(z) sin(y)
cos(x)

sin(x)
cos(x) sin(y)

(cos(z))?
(sin(x))?(sin(y))?

(cos(x))* (sin(y))*
(sin(x))?

(cos(@))®

(sin(x))*
(cos())® (sin(y))®

(cos(z))®
(sin(2))® (sin(y))®

(cos(@))* (sin(y))*
(sin())?

sin(z) sin(y)
e cos(x)

sin(x)

@ cos(z) sin(y)

LOG (S‘“ z) sin )

cos(x)

LOG ( __sin(a) _

cos(x) sin(y)

arcsin (bm(c?b(h;r)‘ U))
sin(z)

arcsin (Cos ) sin(y)

sin(z) sin(y)

)
arcton (el
(=5%)

_ sin(z)

arctan cos(z) sin(y)

(cos(y))®—2 (cos(z))* +1

\/_ (cos(y))?(cos(x))* ~

(cos(x))?

\/_ (cos () (cos(2))?—2 (cos(@))* 1
(cos(@))? (sin(y))?

\/ (cos(y))? (cos(w))® — (cos(y))+1

(cos(x))*

ABI

ABI

KI

KI

LL

LL

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



8202

8203

8204

8205

8206

8207

8208

8209

8210

8211

8212

8213

8214

8215

8216

8217

8218

8219

8220

8221

5746 1

5747 1

5748 1

5749 1

5750 1

57511

59752 1

5753 1

5754 1

5755 1

5756 1

5757 1

9758 1

5759 1

5760 1

5761 1

59762 1

5763 1

5764 1

5765 1

\/_ (cos(y))®(cos(@))*~1
(cos(x))? (sin(y))*

sin(z) sin(y

)
1/2¢ @ —1/2¢

_ sin(z) sin(y)
cos (@)

sin(z)

sin(x) B
1/2 ecos(2)sin(y) — 1/2 e cos(z)sin(y)

sin(x) sin(y)

1/2e cos(x)

+1/2e

sin(x) sin(y)
- cos(x)

sin(x)

sin(x) _
1/2 gcos(@) sin(y) 1/2 e cos(z) sin(y)

2 sin(x) sin(y) 2 sin(x) sin(y) -1
1 (e cos(x) — 1) (e cos(x) + 1)

o9 __sin(@)
1 e cos(z) sin(y)

tan (x) tan (y)

tan(x)
tan(y)

1
tan(z) tan(y)

tan(y)
tan(x)

tan (x) tan (y) w

tan(z)m
tan(y)

1
tan(z) tan(y)m

tan(y)
tan(z)m

(tan () (tan (y))®

(tan(x))?
(tan(y))?

tan (z) tan (y)

tan(z)

tan(y)

1
(tan(x))* (tan(y))”

9 __sin(@) -1
— 1) (e cos(z)sin(y) 1)

364

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

W

W

PLUS

MINUS

PLUS

MINUS

ABI PLUS



8222

8223

8224

8225

8226

8227

8228

8229

8230

8231

8232

8233

8234

8235

8236

8237

8238

8239

8240

8241

5766 1

9767 1

9768 1

5769 1

5770 1

o771 1

5772 1

o773 1

o774 1

o775 1

9776 1

o777 1

o778 1

5779 1

5780 1

97811

57821

5783 1

5784 1

97851

(tan(y))®
(tan(;ﬂ))2

(tan (2))” (tan (y))

(tan(x))?
(tan(y))?

S
(tan(z))?(tan(y))®

(tan(y))®
(tan(;ﬂ))S

etan(z) tan(y)

tan(x)

e tan(y)

LOG (tan (z) tan (y))

LOG (tan(m) )
arcsin (tan (z) tan (y))

arcsin (tan(m) )

tan(y)

arctan (tan (x) tan (y))

tan(x)
arctan (—tan(y) )

\/(COS(y>>2+(cos(w))2—1

(cos(y))?(cos(z))?

(tan(y))?

\/ 2 (cos(y)) (cos())?—(cos(y))>—(cos(@)* +1
(cos (1) (cos(x))2

(tan(y))?

1/2 etan(z) tan(y) _ 1/2 e tan(z) tan(y)

tan(z) _ tan(ex)
1/2e%n® —1/2e tanv)

1/2 etan(z) tan(y) + 1/2 e~ tan(z) tan(y)

365

ABI MINUS
K PLUS
K MINUS
KI PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS



tan(z)

tan(z)
8242 57861 1/2e%n® + 1/2e tanw) T T CH MINUS

e2 tan(xz) tan(y) -1

8243 57871 G imrol T T TH PLUS
tan(z) tan(z) -1

8244 5788 1 1(62 () — 1) (e2 )+ 1) T T TH MINUS

8245 57891 tan(z)\/—y2 + 1 T P CD PLUS
tan(x)

8216 5790 1 22 T P CD MINUS

1

8247 5791 1 tan(@)y/ g2 11 T P CDI PLUS

8248 57921 Yl T P  CDI MINUS

8249 57931 tan(z)\/—y2 + In T P  CDF PLUS
tan(x)w

8250 57941 e T P  CDF MINUS

251 1 —L T P DIF PL

8251 57951 C US

8252 57961 YL T P  CDIFMINUS

8253 57971 (tan(z))” (—y® +1) T P AB PLUS
(tan(a))”

8254 5798 1 —{tan(o T P AB MINUS

8255 5799 1 /tan (2) /=7 + 1 T P W PLUS

tan(z) I

8256 5800 1 V1 T P W MINUS
S S

8257 58011 — b T P  ABI PLUS

8258 58021 Lt T P ABI MINUS

8259 58031 (tan(z))® (—y?+1)*” T P K PLUS

8260 58041 (e’ T P K MINUS
(—y2+1)%/?

366



8261

8262

8263

8264

8265

8266

8267

8268

8269

8270

8271
8272

8273
8274

8275
8276

8277
8278

8279

8280

5805 1

5806 1

5807 1

5808 1

5809 1

5810 1

58111

5812 1

5813 1

5814 1

5815 1
5815 2

5816 1
5816 2

5817 1
5817 2

5818 1
5818 2

5819 1

5820 1

1
(tan(@)* (g2 +1)°2

(o)

(tan(z))?
etan(z)\/ —y2+1

tan(x)
ey
LOG (tan (z) /—y% + 1)
L tan(x)

oG —_y2+1>
arcsin (tan () /—y? + 1)
arcsin < tan(z) )

—y2+1

arctan (tan () /—y? + 1)

\/_ (cos(@))%y% —2 (cos(@))® —2 1
(cos(x))?

\/(Cos(m))2y2—2(cos(m))2+1
(y2—1)(cos(x))?

(cos(2))?y2 —y>+1

(cos(a)?

(cos(x))?y?—1
(y2—1)(cos(x))?

1/2 etan(m)\/ —y2+1 _ 1/2 e—tan(;ﬂ)\/ —y2+41

tan(x) tan(x)

1/2ev-v?+1 —1/2e V-v?+1

367

KI

KI

LL

LL

s

SH

SH

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
PLUS

MINUS
MINUS

PLUS
PLUS

MINUS
MINUS

PLUS

MINUS



8281 58211 1/2et(@)V=y*+1 1 /9 tan(e)y —y*+1 T P CH PLUS

tan(x) tan(x)

8282 58221 1/2eV—v*+i 41/2e¢ V-voi1 T P CH MINUS
o2 tan(z)/ 7y2+171

8283 58231 m T P TH PLUS

2 tan(x) 2 tan(x) -1

8284 5824 1 1<e Vo —1> <e V=Tl +1) T P TH MINUS

8285 58251 tan(z)+/y2 —1 T H CD PLUS

8286 5826 1 L T H CD MINUS

e

8287 58271 — 1 T H CDI PLUS

tan(z)y/y2—1

8288 5828 1 MY T H CDI MINUS

8289 58291 tan(x)+/y?—1m T H CDF PLUS
8200 5830 1 T T H  CDF MINUS
e
8291 58311 ——1—— T H CDIF PLUS
tan(z)\/y2—1m
8202 58321 /ot T H  CDIFMINUS
8293 58331 (tan(z))* (y? - 1) T H AB PLUS
(tan(x))?
8294 58341 L2l T H AB MINUS
8295 5835 1 tan (x) y/y? — 1 T H W  PLUS
8206 5836 1  [<5hLL T H W MINUS
e
1
8297 58371 g T H  ABI PLUS
8208 5838 1 L —L_ T H  ABI MINUS

(tan(x))?
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8299

8300

8301

8302

8303

8304

8305

8306

8307

8308

8309

8310

8311

8312

8313

8314

8315

8316

5839 1

5840 1

5841 1

5842 1

5843 1

5844 1

5845 1

5846 1

5847 1

5848 1

5849 1

5850 1

5851 1

5852 1

5853 1

5854 1

5855 1

5856 1

(tan ())* (32 —1)*

(tan(z))*
W2 -1°

1
(tan())® (y2—1)%/

-1
(tan(z))?
etan(m)\/gﬂ—l
tan ()
eVy2-1
LOG (tan () Vy? — 1)

1/2 etan(z)\/y2fl _ 1/2 e~ tan(z)y/y2—1

tan(z) tan(z)

1/2eVP—1 —1/2¢ Vi1

1/2 etan(z)\/yzfl + 1/2 e~ tan(z)y/y%2—1

tan(x) tan(x)

1/2eVe*-1 +1/2e V21

&2 tan(z)\/y2fl_1
e2 tan(z)V y2—1 +1

tan(z) o tan()

-1
1 <e2 VT 1> (e Vet 4 1>
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KI

KI

LL

LL

SH

SH

CH

CH

TH

TH

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



8317

8318

8319

8320

8321

8322

8323

8324

8325

8326

8327

8328

8329

8330

8331

8332

8333

5857 1

5858 1

5859 1

5860 1

5861 1

5862 1

5863 1

5864 1

5865 1

5866 1

5867 1

5868 1

5869 1

5870 1

5871 1

5872 1

5873 1

tan (z) In (y—i— VY2 + 1)

tan(x)
ln(y+ y2+1)

1
tan(z) ln(y+\/y2+l)

ln(y+\/y2+1)

— e

tan (x) In (y +Vy2+ 1) T
tan(z)m

ln(y+\/y2+1)

1
tan(x) ln(y+\/y2+l)ﬂ'

ln(y+ y2+1)

tan(z)m

(tan (z))* (ln (y + m))z

(tan(x))?

\/tan (z)In (y + \/yQT)

tan(x)

1

(tan(2))? (In(y+/y2+1) ) :
(i (y++/52+1))°

(tan(z))?

(tan ()" (1n (3 + \/ﬁ)f

(tan(x))?

1
(tan(2))* (n (y+/52+1))”

370

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS

ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS



8334

8335

8336

8337

8338

8339

8340

8341

8342

8343

8344

8345

8346

8347

8348

5874 1

5875 1

5876 1

o877 1

5878 1

5879 1

5880 1

5881 1

58821

5883 1

5884 1

5885 1

5886 1

5887 1

5888 1

(1n(s+5750))’

Gan@))® T
tan(z)

(y—i— VY2 + ) T

tan(x)

eln(yﬂ/m) T

LOG (tan (z)In (y—i— VY2 + )) T

_ tan(z) T
In y+\/2—+1
arcsin (tan )In (y + Y2+ )) T
arcsin ( tan(z) ) T
In y2+1

arctan (tan )In (y + VY2 + )) T

arctan <%> T

ln(y+ y2+1)

\/(ln(y-i- y2+1))2(cos(m))2—(ln(y+ y2+1))2+(cos(,@r))2

(cos(@))? 8
(ln(y-i- y2+1))2(Cos(m))2—1+(cos(m))2
3 T
(ln(y-i— y2+1)) (cos(x))?

\/ (ln(y-i- y2+1))2(cos(m))2—(ln(y+ y2+1))2—(C(,)%(w))2
- (cos(@)? *
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6811 1

6812 1

6813 1

6814 1

6815 1

6816 1

6817 1

VaTo1 _ a1
1/2e™@am —1/2e” tan)

1/2 e\/x271 tan(y) + 1/2 ef\/z271 tan(y)

Va?1 e
1/2e™@a® +1/2e” *tanlv)

&2 Vaz2-1 tan(y) _q
e2Va2-1tan(y) 41

Va2 _
1 (e2 t'<m<y>1 — 1) (e2
Va2 —1/—y2 +1
z2—1
V-l
1

Va2—1rw

\/\/xz—l\/—yQ—i—l

Vai 1
A /,y2+1

Va2-1

a4 1

(:c2 . 1)3/2 (_yz + 1)3/2

(1271)3/2
(—y?+1)3/2

1
@D (g2 )
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g

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

KI

PLUS

MINUS

PLUS

MINUS

PLUS



9582

9583

9584

9585

9586

9587

9588

9589

9590

9591

9592

9593

9594

9595

9596

9597

9598

6820 1

6821 1

6822 1

6823 1

6824 1

6825 1

6826 1

6827 1

6828 1

6829 1

6830 1

6831 1

6832 1

6833 1

6834 1

e 2 —1+/—y2+1
z2-1
e\/*y2+1

1/26VF =TV _ 1 9 o~ VaT=Ty/ =41

Va2-1

Va2-1

1/2eV=-+1 —1/2¢ V=121

1/2 eVaZT—1y/—y2+1 +1/2 e—x/:ﬁ——l\/m

Va2-1

Vaz2-1

1/2eV=v+1 4+ 1/2e V=21

&2 \/2271\/7112#»171
e2Va2-1V—-y24+111

2@
1 em_l

N a W

Va2—1
Vyi-1

)

z2-1

V—v2+1

-1
+ 1)

KI

LL

LL

SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



9599

9600

9601

9602

9603

9604

9605

9606

9607

9608

9609

9610

9611

9612

9613

9614

9615

9616

6835 1

6836 1

6837 1

6838 1

6839 1

6840 1

6841 1

6842 1

6843 1

6844 1

6845 1

6846 1

6847 1

6848 1

6849 1

6850 1

6851 1

6852 1

1

Vi 1\/y? 1

Vyi-1
Va?z—1

Va2 — 1y — 1

Vr2—1m
V-1

1

VrZ—1\/y2—1m

Vyi-l
Va2—1m

\/ 2 —11y2 -1

z2—1

Vy2-1

(1'2 . 1)3/2 (y2 . 1)3/2

m271)3/2

(y2—-1)*/2

1
(a2-1)%/2(y2—-1)3/?

(1)

RV R
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CDI PLUS

CDI MINUS
CDF PLUS
CDF MINUS
CDIF PLUS
CDIF MINUS
W PLUS
W MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS



9617

9618

9619

9620

9621

9622

9623

9624

9625

9626

9627

9628

9629

9630

9631

9632

9633

6853 1

6854 1

6855 1

6856 1

6857 1

6858 1

6859 1

6860 1

6861 1

6862 1

6863 1

6864 1

6865 1

6866 1

6867 1

6868 1

6869 1

arctan (\/:c2 —1/y? — 1)

Vz2-—1
arctan <—\/7;2——1>

1/2eVP2=IVYP=T _ 1 /9o~ Va—1/y?-1

N /T
1/2evVv?-1 —1/2e Vv2-1

1/2eVe* - IVYi=l 4 1 /927 Var-1Vyi -1

Vi Ve
1/2evv*-1 +1/2e Vv*-1

&2 \/2271\/y271_1
e2Va2-1Vy2 -1

o VaIo1 5 Va1 -1
1fe vv-1 -1 e Vvi-1 41

VZZ 1l (y+ VAT 1)
Ny
ln(y+ y2+1)

1
VaZ=TIn(y+1/y>+1)

ln(y+ y2+1)
Va1

mln(wm)ﬁ

Va2_in
ln(y+ y2+1)

1
VzZ—1ln (y+\/y2+1)7r

1n(y+\/y2?)

Vr2—1n

(:c2 — 1) (ln (y—i— \/ﬁ))z
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SH

SH

SH

SH

SH

SH

SH

SH

SH

T PLUS

T MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS



9634

9635

9636

9637

9638

9639

9640

9641

9642

9643

9644

9645

9646

9647

9648

9649

6870 1

6871 1

6872 1

6873 1

6874 1

6875 1

6876 1

6877 1

6878 1

6879 1

6880 1

6881 1

6882 1

6883 1

6884 1

6885 1

z2-1

(n(rvori)
\/mm (v+ Vo7 +1)

Va2—1
In (y+\/y2+1)

1
(z2-1) (ln(y-i- y2+1))2

(1n(y+ yz+1))2

r2—1

(2% - 1)3/2 (1n (y + \/m))s
(22-1)*?
(1n(y+ 112+1))3

1
(x2-1)3/2 (ln(y+ 112+1))3

(1n(y+ 112+1))3

(z2-1)3/2

(y+m)m

2

eln(y+vy2+1)

LOG (Vo =Tl (y+v/y7 1))
LOG( o ﬁ)

arcsin (VaZ = Tln (y+ /3 +1))
arctan( g 11n(y+m))
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SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

AB

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



9650

9651

9652

9653

9654

9655

9656

9657

9658

9659

9660

9661

9662

9663

9664

9665

6886 1

6887 1

6888 1

6889 1

6890 1

6891 1

6892 1

6893 1

6894 1

6895 1

6896 1

6897 1

6898 1

6899 1

6900 1

6901 1

arctan <7 ””2_1> H SH
ln(y+ y2+1)
VrZ—1 —x2—1
1/2 (y—l—\/yz—i-l) —1/2 (y—i—\/yz—i—l)ﬂl SH
N =
1/2em(V4) g g mlrtviri) H  SH
Vr2—1 —x2—1
1/2 (y—l—\/yz—i-l) +1/2 (y—i—\/yz—i-l)ﬂl SH
N =
1/2eln(y+\/m) + 1/26 1n(y+\/ﬁ) H SH
(v+v/P51) Y
—— H  SH
(v +1)
z2—1 z2—1 -1
e =) _q) fe m0ve®s) L) B SH
VZZ—1ln (y P 1) H CH
Va2—1
T H CH
1
VaZ—TIn(y+/y?—1) H CH
ln(me/yzfl)
T H CH
VZZ—1ln (y—i-\/y?—l)w H CH
Nt
SR H CH
1
mln(w\/y?—l)w H CH
1n(y+ y2—1)
Ve H CH
2
(> = 1) (n (y+ ViZ 1)) H CH
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SH

SH

CH

CH

TH

TH

CD

CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

PLUS



9666

9667

9668

9669

9670

9671

9672

9673

9674

9675

9676

9677

9678

9679

9680

9681

6902 1

6903 1

6904 1

6905 1

6906 1

6907 1

6908 1

6909 1

6910 1

6911 1

6912 1

6913 1

6914 1

6915 1

6916 1

6917 1

22—1

(ol )
\/mm (v+ V@ 1)

Va2—1
In (y-l-\/yz—l)

(z2-1) (ln (ler\/yz—fl))2
(i vv4?-1))"

z2—1

(:c2 — 1)3/2 (111 (y + \/7;2——1))3

(m2—1)3/2

(n(y+v/?-1))°

1
(z2-1)3/2 (ln(er y271))3

(@2—1)3/2

(y—i-\/yQ——l

z2-1

elt)(y+\/ y2,1)

22—1
)

LOG (mm (y+ \/yQ——l))
106 (52 )

arcsin (mln (y + \/ﬁ))

arcsin (%)
arctan ( 2?2 —1In (y + \/yQ——l))
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

AB

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



9682

9683

9684

9685

9686

9687

9688

9689

9690

9691

9692

9693

9694

9695

9696

9697

6918 1

6919 1

6920 1

6921 1

6922 1

6923 1

6924 1

6925 1

6926 1

6927 1

6928 1

6929 1

6930 1

6931 1

6932 1

6933 1

arctan < — Vel ) H

In (y-l— y2— 1)

1/2 (y+ y? —1) —1/2 (y+\/y - )4
N e

126" VET) 1z M) I

1/2 (y+\/y——1) +1/2 (y+\/y——)1

126" 0V g Bl H
O .
(r+vm1)* "

1 e2 ”m ”m) 71H
1/2va? — ln ) H
222 — (1n( )) H
2 ( (52) H
o i) .
1/2m1n(;51)w H
2V T (In (1)) H
27t (0 (35)) l
1/2ﬁln(;{—11) H
1/4 (22 - 1) (m(;y_—ll))z H
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CH

CH

CH

CH

TH

TH

TH

TH

TH

TH

TH

TH

TH

T MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS



9698

9699

9700

9701

9702

9703

9704

9705

9706

9707

9708

9709

9710

9711

9712

9713

9714

6934 1

6935 1

6936 1

6937 1

6938 1

6939 1

6940 1

6941 1

6942 1

6943 1

6944 1

6945 1

6946 1

6947 1

6948 1

6949 1

6950 1

(422 — )(m( yy—ll))‘Q

1/2v2) Ve Tn (315¢

L0G (1/2va7 =T (35))

LOG <2\/a:2— (1n Ull))_l)

arcsin (1/2 \/xz—ln( yy 11))

arcsin <2 \/1:2— 1n -y ll))_l)

arctan (1/2\/x2—1n( yll))

arctan <2 \/1:2— 1n yy 11)) _1)
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TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

AB

W

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



-1/2V22-1

)1/2m_1/2(%) H TH SH PLUS

9715 69511 1/2 (%}1
Yy

9716 69521 1/2e2V=1(F5))"" _ 17902V 1(n(S50)) TH SH MINUS

1\ /2 Va1 L\ —1/2 VT
9717 69531 1/2 (;@’:1 ) +1/2 (*y:l ) H

m TH CH PLUS

9718 6954 1 1/2e2V7—1(n(F5))7" 41722V 1(n(F5))" TH CH MINUS

y—1 y—1 Y

9719 6955 1 1((_y_1)1/2m_ (—y—l)_l/2m> <(H111’_;11)1T/%{q}£t (PE—I#S)—IMM)l

(1 —y—1Y)— 1 —y—1Y\y— —1
9720 6956 1 1 (64 12—1(111( yfll)) ! —_ 1) (64 Iz—l(ln( yy711>ﬁ1 ! + I])H TH MINUS

9721 69571 In(z+Va?2+1)y SH CD CD PLUS
9722 6957 2 SH CDI CD MINUS
9723 6957 3 SH CDF CDF PLUS
9724 6958 1 VD) SH CD CD MINUS
9725 6958 2 SH CDI CD PLUS
9726 6958 3 SH CDIF CDF PLUS
1
0727 6959 1 Ty, SH CD CDI PLUS
9728 6959 2 SH CDI CDI MINUS
9729 6959 3 SH CDF CDIFPLUS
[ E—
0730 6960 1 Yy SH CD CDI MINUS
9731 6960 2 SH CDI CDI PLUS
9732 6960 3 SH CDIF CDIFPLUS
9733 69611 In(z+ Va2 +1)yr SH CD CDF PLUS
9734 6961 2 SH CDI CDF MINUS
9735 6961 3 SH CDIF CD MINUS
9736 69621 YD SH CD CDF MINUS
9737 6962 2 SH CDI CDF PLUS
9738 6962 3 SH CDF CD MINUS
1
9739 6963 1 oy SH CD CDIFPLUS

9740 6963 2 SH CDI CDIFMINUS
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9741

9742

9743
9744

9745
9746

9747
9748

9749
9750

9751

9752

9753
9754

9755
9756

9757
9758

9759
9760

9761
9762

9763
9764

9765
9766

9767

6963 3

6964 1

6964 2
6964 3

6965 1
6965 2

6966 1
6966 2

6967 1
6967 2

6968 1

6968 2

6969 1
6969 2

6970 1
6970 2

6971 1
6971 2

6972 1
6972 2

6973 1
6973 2

6974 1
6974 2

6975 1
6975 2

6976 1

Y

ln(m+\/m2+1)7r

(In (z + Va? + 1))2y2

(ln(m+\/m2+1))2
72

\/ln(x—l—\/m)y

ln(m+\/;ﬂ2+l)
Yy

1
(1n(m+\/w2+1))2y2

2

(Ve
(In (z + Va2 + 1))3 y3

(ln(m+\/m2+1))3
73

1
(1n(m+\/12+1))3y3

3

(e
(x =+ m)y

Vr+vVz2+1
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SH

SH

SH
SH

SH
SH

SH
SH

SH
SH

SH

SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH

CDIF CDI MINUS

CD  CDIFMINUS

CDI CDIF PLUS
CDF CDI MINUS

CD AB PLUS
CDI AB MINUS

CD AB MINUS
CDI AB PLUS

Ch W PLUS
CDI W  MINUS
Ch W  MINUS
CDI W  PLUS

CD ABI PLUS
CDI ABI MINUS

CD ABI MINUS
CDI ABI PLUS

Ch K PLUS
CDI K MINUS
Ch K MINUS

CDI K PLUS

CD KI PLUS
CDI KI MINUS

CD KI MINUS
CDI KI PLUS

Ch LL PLUS
CDI LL MINUS

CD LL MINUS



9768

9769
9770

9771
9772

9773
9774

9775
9776

97T
9778

9779
9780

9781
9782

9783
9784

9785
9786

9787
9788

9789
9790

9791
9792

6976 2

6977 1
6977 2

6978 1
6978 2

6979 1
6979 2

6980 1
6980 2

6981 1
6981 2

6982 1
6982 2

6983 1
6983 2

6984 1
6984 2

6985 1
6985 2

6986 1
6986 2

6987 1
6987 2

6988 1
6988 2

LOG (ln (:c 4 m) y)
LoG <@>

arcsin (In (z + V22 + 1) y)

. (ln(wﬂ—\/m))
arcsin (
arctan (In (v + v22 + 1) y)

arctan (M)

Yy

V(e V1) g2 41

\/_ (in(e+vaF1))* —p2

y2

\/(ln (2 + VAT D)) 92 4 1

\/(ln(z+m))2+y2

y2

12 (o4 VAT F )" 12 (@ Va7 T)

1/2 m—l/Q (w+m),y—1
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SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

LL

SH
SH

SH
SH

PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS



9793 69891 1/2 (z++v22+1)"+1/2 (¢ ++v22+1) " SH CD CH PLUS
9794 6989 2 SH CDI CH MINUS

-1
9795 69901 1/2/z+VaZ+1+1/2 (x+vaZ+1) * SH CD CH MINUS

9796 6990 2 SH CDI CH PLUS
(v+v/a2F1)2Y —1

9797 6991 1 (e SH CD TH PLUS

9798 6991 2 SH CDI TH MINUS

-1

9799 6992 1 1((:v+\/:102+1)2y1 —1) ((:C—i—\/x? 1) SHr 1)3 TH MINUS

9300 6992 2 SH ‘CcDI TH PLUS
0801 6993 1 (Ve SH CDF CD PLUS
0802 60941 SH CDF CDI PLUS
9803 69951 DT SH CDF CDF MINUS
0504 6096 1 Tt SH CDF CDIFMINUS
0805 697 1 (n(HVEEL)w SH CDF AB PLUS
9806 6998 1 @ SH CDF AB MINUS
9807 6999 1 /2ty SH CDF W PLUS
9808 70001 /LD SH CDF W MINUS
9809 7001 1 m SH CDF ABI PLUS
9810 7002 1 m SH CDF ABI MINUS
0811 70031 (n(EvETD) W SH CDF K PLUS
gs12 70041 (mlHvET)e SH CDF K  MINUS

y3
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9813

9814

9815

9816

9817

9818

9819

9820

9821

9822

9823

9824

9825

9826

9827

9828

9829

7005 1

7006 1

7007 1

7008 1

7009 1

7010 1

70111

7012 1

7013 1

7014 1

7015 1

7016 1

7017 1

7018 1

7019 1

7020 1

7021 1

o
(in(24v/2271))
y3

LS

(¢ +VaT 1)

<3

(z+ V22 +1)

LOG (1n x+\/ﬁ

LoG

In m+\/ﬁ

")

(<)
arcsin(ln (zvarel)y )
)

")

arctan (

Y

\/_ (ln(m.h/m))zyz_ﬂ_z

2

y2

\/_ (in(o+va71))*r2—y2

2

\/(ln(wm))‘zyzﬂz

\/(ln(wm))?ﬁzﬂlz
y2

A

1/2 (z+ Va2 +1)" —1/2 (z + Va2 1 1)
1/2(w+\/;p2—)§_1/2(x+\/x2_)

1/2 (UC—i-\/x?—) +1/2 («T"r\/xz—)
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Y

™

<¢I=\

‘d

™

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L  PLUS
L  MINUS
S  PLUS
S MINUS
T  PLUS
T  MINUS
P PLUS
P MINUS
H PLUS
H  MINUS
SH PLUS
SH MINUS
CH PLUS



9830

9831

9832

9833

9834

9835

9836

9837

9838

9839

9840

9841

9842

9843

9844

9845

9846

9847

7022 1

7023 1

7024 1

7025 1

7026 1

7027 1

7028 1

7029 1

7030 1

70311

7032 1

7033 1

7034 1

7035 1

7036 1

7037 1

7038 1

7039 1

jus

1/2 (0 + V2@ + D)7 +1/2 (2 + Va2 +1) 7 SH

(e +vaZ+1)"7 —1) ((@+ Ve +1)°

A

)

1((a:+\/a:2—+1)2§ —1) ((x+m)2§+81@

ln(m-l-\/m)

ym

ym

1n(m+\/12+1)

In (:17 + \/1:2——|—1) yﬂ'2

1

(1n(o+ V77"

y271'2

(In (2 + Va2 1))y

ln(er\/m)

ym

\/ln (w+\/x2——i—1) ym

y271'2

1
(ner )

(1n(o+ V&7F1))°

ySﬂ.S

(In (2 + Va2 1))y

y37r3

1
(ln(ach\/m))gyf*Trfg

(z+VaZ 1)

71-2

3
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SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

-1

-1

CDF

CDF

CDF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

TH

CD

CDI

MINUS

PLUS

MINUS

PLUS

PLUS

CDF MINUS

CDIF MINUS

AB

AB

ABI

ABI
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KI

LL

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



9848

9849

9850

9851

9852

9853

9854

9855

9856

9857

9858

9859

9860

9861

9862

9863

9864

9865
9866

7040 1

7041 1

7042 1

7043 1

7044 1

7045 1

7046 1

7047 1

7048 1

7049 1

7050 1

7051 1

7052 1

7053 1

7054 1

7055 1

7056 1

7057 1
7057 2

(x + Va2 + 1)y7T SH

LOG (“““”yﬁ) SH
LOG (In (z + Va% + 1) ym) SH
arcsin (h“(“yi:ﬁ“)) SH
arcsin (In (z + V22 + 1) yr) SH
arctan (l“(”yi:“—“)) SH
arctan (In (z + v2 + 1) ym) SH
\/_ o (e ) -
V- (n(@+VaZ 5 1) 2 11 SH
\/ y2w2+(ln§:2m))2 -
Vn(@+vaZ+ 1) 2 +1 SH

1/2 (o +VaZ$1)7 —1/2 (v +vaZ+1) 7 SH
1/2 (e + Va2 + 1) —1/2 (¢ + Va2 +1) 7
1/2(x+\/:c2—+1)y%+1/2(x+\/m)*#SH
1/2 (2 + V22 +1)" +1/2 (z+ Va2 +1)

1 ((:E—i—\/:v?—i-l)zy%‘ —1) ((:c+\/x2 1) y”SHl)

(x+\/x2+1)2yﬂ-71 SH

(e+v22+1)* 7" +1

In(z4+ Va2 +1) /y SH
SH
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CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

-1

CDIF

CDIF

AB
ABI

LL

SH

SH

CH

CH

TH

TH

CD
CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
MINUS



9867
9868

9869
9870

9871
9872

9873
9874

9875
9876

9877
9878

9879
9880

9881
9882

9883
9884

9885
9886

9887

9888

9889
9890

9891
9892

7058 1
7058 2

7059 1
7059 2

7060 1
7060 2

7061 1
7061 2

7062 1
7062 2

7063 1
7063 2

7064 1
7064 2

7065 1
7065 2

7066 1
7066 2

7067 1
7067 2

7068 1

7068 2

7069 1
7069 2

7070 1
7070 2

1n(m+\/w2+1)
VY

1
ln(m+\/m2+1)\/§

VY

ln(er\/zZJrl)

In(z4+ V22 +1) Jyr

ln(m+\/m2+1)7r
—

-1
ln(m+\/w2+1)\/ﬂﬂ'

VY

ln(er\/m)w
(In (z + Va? + 1))2 Yy

(1n(e-+v7TT))’

\/ln (z+Va?2+1) y

ln(m+\/;ﬂ2+l)
VY

1
(ln(m+\/w2+1))2y

()
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SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH

SH

SH
SH

SH
SH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

ABI

AB
ABI

AB
ABI

CD
CD

CDI
CDI

CDI
CDI

CDF
CDF

CDF
CDF

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB
AB

AB
AB

= =

= =

ABI
ABI

ABI
ABI

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS

PLUS

PLUS
MINUS

MINUS
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9893
9894

9895
9896

9897
9898

9899
9900

9901
9902

9903
9904

9905
9906

9907
9908

9909
9910

9911
9912

9913
9914

9915
9916

9917
9918

7071 1
7071 2

7072 1
7072 2

7073 1
7073 2

7074 1
7074 2

7075 1
7075 2

7076 1
7076 2

7077 1
7077 2

7078 1
7078 2

7079 1
7079 2

7080 1
7080 2

7081 1
7081 2

7082 1
7082 2

7083 1
7083 2

(n (z + Va2 +1)) 32

(1n(e-+v77T))’

3372

1
(ln(m+\/w2+1))3y3/2

o372

(n(z+vams1))”

(e +vaT+1)"”

S

(z+ Va2 +1)v7
LOG (In (z 4+ V22 + 1) /y)

ln(er\/m)

arcsin (ln (x + Va2 + 1) \/y)
arcsin <M)
v

arctan (ln (:c + Va2 + 1) \/@)

arctan <M)

VY

V- (n(@+vaZ 7)) y+1
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SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI
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KI
KI

KI
KI

LL
LL

LL
LL

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
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9919
9920

9921
9922

9923
9924

9925
9926

9927
9928

9929
9930

9931
9932

9933
9934

9935
9936

9937

9938

9939

9940

9941

7084 1
7084 2

7085 1
7085 2

7086 1
7086 2

7087 1
7087 2

7088 1
7088 2

7089 1
7089 2

7090 1
7090 2

7091 1
7091 2

7092 1
7092 2

7093 1

7094 1

7095 1

7096 1

7097 1

Y

\/_ (n(atva? 1))y

Vin(@+vaZ 5 1) y+1

\/(m(zwm))zﬂl

Y

SH
SH

SH
SH

SH
SH

1/2 (z+ Va2 + D)V = 1/2 (e + Va2 +1) V'SH

SH

1/2 (z 4+ Va2 + )%—1/2 (z+Va2+1) VISH

SH

1/2 (z+ Va2 + D)V +1/2 (e + Va2 +1) V'SH

SH

1/2 (z 4 V% + 1)ﬁ +1/2 (4 Va2 + 1)_%SH

(e Va=F1)> V71
e+VaT 1) V41

—~

1((x+\/m)2ﬁ—>((x+\/x2—) H)

In (z 4+ Va2 +1)y?

1n(x+\/z2+1)
72

-1

ln(m+\/m2+1)y2

2

Yy
1n(m+\/w2+1)

In (z 4+ Va2 + 1) y*r
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SH
SH

SH

SH

SH

SH

SH

SH
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ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

-1
AB

ABI

W

SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

TH
TH

CD

CD

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS



9942

9943

9944

9945

9946

9947

9948

9949

9950

9951

9952

9953

9954

9955

9956

9957

9958

9959

7098 1

7099 1

7100 1

7101 1

7102 1

7103 1

7104 1

7105 1

7106 1

7107 1

7108 1

7109 1

7110 1

71111

7112 1

7113 1

7114 1

71151

ln(x+\/12+1)7r
-

Y

1
ln(m+\/w2+1)y2ﬂ'

2
Y

ln(er\/m)ﬁ
(In (z + Va? + 1))2 yt

(1n(e-+v77T))’

Y

Vi (2 + VaZ 1) 2

ln(m+\/;ﬂ2+l)

y2

1
(1n(m+\/w2+1))2y4
4

(e
(In (z + Va? + 1))3 Y
(1 V)

1
(1n(m+\/w2+1))3y6

6

(x+VaZ+ )"
(2 + V2 TT)"
LOG (In (z + V2% +1) ?)

10C (m(ﬁm))

y2

arcsin (In (z + V22 + 1) ?)
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SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

CDF MINUS
CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS



9960

9961

9962

9963

9964

9965

9966

9967

9968

9969

9970

9971

9972

9973
9974

9975
9976

9977
9978

7116 1

7117 1

7118 1

71191

7120 1

71211

7122 1

7123 1

7124 1

7125 1

7126 1

7127 1

7128 1

7129 1
7129 2

7130 1
7130 2

71311
7131 2

. <ln(m+\/12+l) )
arcsin [ ————-~2

Y

arctan (In (z + V22 + 1) y?)

arctan

(m(ﬁ;/zﬁ))

\/—(hl(:v—i—\/m

)yt +1

\/_ —y4+(ln(ﬂc+\/m»2

y4

V(o vazT))’

[y

1/2 (z+ Va2 +1)"
1/2 (z + V2% + 1)
12 (z+ Va2 + 1)
1/2 (z+ Va2 +1)"

(e+vaT1)* " 1
(s4+va 1) 41

yt+1

—1/2 (x4 Va2 + )

+1/2 (z+ Va2 +1) 7

SH

SH

SH

SH

SH

SH

SH

SH

VU 12 (e + VAT D) Y SH
" sH

12 (o VaTED) U SH

SH

W

1((x+\/mf“_1> ((:v+\/£62—) SH+1>V;'1

In(z+ Va2 +1) ¥y
1n(m+\/w2+1)
]
1
ln(x+\/z2+1) Yy
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SH

SH
SH

SH
SH

K
KI

K
KI

K
KI

SH

SH

CH

CH

TH

TH

CD
CD

CD
CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
MINUS

MINUS
PLUS

CDI PLUS
CDI MINUS



9979 71321
9980 7132 2

9981 7133 1
9982 7133 2

9983 71341
9984 7134 2

9985 71351
9986 7135 2

9987 7136 1
9988 7136 2

9989 71371
9990 7137 2

9991 7138 1
9992 7138 2

9993 7139 1
9994 7139 2

9995 7140 1

9996 7140 2

9997 71411
9998 7141 2

9999 71421
10000 7142 2

100017143 1
10002 7143 2

100037144 1
10004 7144 2

e/g

1n(m+\/w2+1)
In (:C +Var? + 1) Yym

1n(m+\/z2+1)7r
—

1
ln(er\/m) Jym

Yy
ln(m+\/m2+1)7r

(In (z + Va? + 1))2y2/3

(1n(e-+va7TT))’

y2/3

\/ln(x—i-\/m) Yy

ln(m-}-\/mz-l—l)
Yy

1
(ln(m+\/12+1))2y2/3

y2/3

e
(In (z + Va? + 1))3 Yy

(In(e+va2$1))°

Y
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SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH

SH
SH

SH
SH

SH
SH

SH
SH

KI

KI

KI

KI

KI

CDI MINUS
CDI PLUS

CDF PLUS
CDF MINUS

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

PLUS
MINUS

==

MINUS
PLUS

= =

ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS

PLUS
MINUS

= =

K MINUS
K PLUS



100057145 1
10006 7145 2

100077146 1
10008 7146 2

100097147 1
100107147 2

100117148 1
100127148 2

100137149 1
100147149 2

100157150 1
10016 7150 2

100177151 1
100187151 2

100197152 1
100207152 2

100217153 1
100227153 2

100237154 1
100247154 2

100257155 1
10026 7155 2

100277156 1
10028 7156 2

100297157 1
100307157 2

S T
(ln(x+m))3y

(e +vZ+1) Y’
(@ +VZ 1) T
LOG (In (z + VaZ+ 1) /3)

ln(w-h/m)
LOG <T>

arcsin (ln (:c + m) \s/g)

arcsin W

arctan (In (z + V2% + 1) ¢/7)

" In(2+v2%+1)
arctan | ——=——

\/— (In (= + \/:1:2——1—1))2y2/3 +1
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\/ 23— (in(a+/a7TT))?

\/(ln (z+ m))QyQ/?’ +1

450

SH
SH
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SH

SH
SH

SH
SH
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SH
SH

SH
SH

SH
SH

SH
SH

SH
SH

SH
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SH
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KI
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PLUS
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MINUS
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PLUS
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MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



100317158 1
100327158 2

100337159 1
10034 7159 2

10035 7160 1
10036 7160 2

100377161 1
100387161 2

100397162 1
10040 7162 2

100417163 1
100427163 2

10043 7164 1
100447164 2

10045 7165 1

10046 7166 1

100477167 1

10048 7168 1

10049 7169 1

100507170 1

100517171 1

100527172 1

10053 7173 1
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1/2 (x4 Va2 + )

al~

1/2 (z+ Va2 +1) ¥ —1/2 (

1/2 (z 4+ Va2 + )
1/2 (z 4 V2% + )%ﬂ +1/2 (

(er x2+1)2 %71

(e+v2251)? e
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ln(m-i—\/ 12-1-1)
In(y)

-1
In (m-i— V 12-1-1) In(y)

In(y)
ln(er\/zZJrl)

In(z4+Va2+1)In(y) 7

ln(x+\/12+l)7r
In(y)

1
ln(er 12+1) In(y)m

In(y)
ln(x+\/z2+l)7r

(In (z + Va2 +1))” (In ())*
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SH
SH
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SH

SH
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SH

SH

SH
SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

3

KI
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SH
SH

PLUS
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SH
SH

MINUS
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CH
CH

PLUS
MINUS
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MINUS
PLUS
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PLUS
MINUS
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MINUS
PLUS

CD PLUS
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CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS



10054 7174 1

100557175 1

10056 7176 1

100577177 1

10058 7178 1

100597179 1

10060 7180 1

100617181 1

100627182 1

10063 7183 1

10064 7184 1

100657185 1

10066 7186 1

100677187 1

10068 7188 1

100697189 1

100707190 1

100717191 1

(In(y))?

Vi (2 + Va2 + 1) In(y)

In(z+v27+1)
T

(ln(w+\/$2 +1))*(in(y))?

_ (n()®
(in(e+vaZ+1))”

(In (z + Va1 1))” (In ()°

(n(y))®

(ln(w+\/$2 +1)) (in(y))?
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T In(y)
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arcsin (ln (x +Va? + ) In (y ))

. In ach\/W
arcsin 1
T In(y)

arctan (ln (x + Va4 ) In (y ))

In(z+Va?+1)
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SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

LL
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LL PLUS
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L PLUS
L MINUS
S PLUS
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T PLUS
T MINUS
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100727192 1

100737193 1
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10076 7196 1

100777197 1

10078 7198 1
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10080 7200 1
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10089 7209 1
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\/(ln(y))z(ln(er\/aCQJrl))2
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SH
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LL
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1 ((:1: +VaTr1) e 1) <(:z: +VaZ e L 4+ ]F)i MINUS
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100917211 1
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100937213 1
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101017221 1
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101097229 1

101107230 1

101117231 1
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101137233 1
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101157235 1

101167236 1

101177237 1
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101197239 1

101207240 1
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101237243 1

101247244 1
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SH
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(EXP(y)*+
(EXP(y))?

1/2 (z+ \/xg—_i_l)EXP(y) —1/2 (o + m)gﬁxmyﬁ

-1
1/2 (z + m)(EXP(y))

SH

L

—1/2 (z+ m—@ﬁ%»gl{

1/2 (2 +vaZ+ 1) 7Y 112 (v + Va2 7 1)SETM,

1/2 (:c+\/a:2—+1)<ExP<y>>*1 +1/2 (Ih/m)_wﬁp(y)réH

(I+\/x27+1)2 EXP(y)71

(UEJr\/acziJrl)2 EXPQ) 4

SH

L

P MINUS
H PLUS
H MINUS
SH PLUS
MINUS
CH PLUS
MINUS
TH PLUS

((a:—l—\/:z:Q—) (PN ><(z+\/:c2—)2(ixp(y))TH+H>ﬂNUS

In (z + Va2 + 1) sin (y)

sin(y)

I S
In(z+22+1) sin(y)

sin(y)

In (55 + \/$2—-|—1) sin (y) 7™

sin(y)

1

In(z+v/22+1) sin(y)

sin(y)

(in (z +vaZ+ 1))’ (sin (y))”
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SH

SH
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S
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CD MINUS
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CDI MINUS
CDF PLUS
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CDIF PLUS
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10126 7246 1

101277247 1

101287248 1

101297249 1

101307250 1

101317251 1

101327252 1

101337253 1

101347254 1

101357255 1

101367256 1

101377257 1

101387258 1

101397259 1

10140 7260 1

101417261 1

101427262 1

101437263 1

(1n(e-+vF77T))’

Gm()? SH
\/ln (z 4+ Va2 +1)sin(y) SH
ln(m-}-\/mz-l—l)
sin(y) SH
SH
(ln(m-l—\/mz )) (sin(y))?
(sin(y))*
(ln(er\/m))z SH
(In (z + Va? + )) (sin (y))* SH
(ln(x+\/12+l))3
ETmE SH
SH
(ln(m-l—\/mz )) (sin(y))®
(sin(y))®
(ln(x+\/z2+l))3 SH
(:c +Va?Z + l)sm(y) SH
5 (sin(y))~*
(z+ Va2 +1) SH
LOG (In (z 4+ V22 + 1) sin (y)) SH
In x+\/12+
oG —— ) SH
arcsin (In (z + V22 + 1) sin (y)) SH
arcsin In(o+ (z2+ ) SH
sin(y)
arctan (In (z + V22 + 1) sin (y)) SH
arctan In x;n(szr ) SH

\/(cos( ))? (ln(ac—l—\/ac?—))
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101447264 1

101457265 1

10146 7266 1

101477267 1

10148 7268 1

101497269 1

101507270 1

101517271 1

101527272 1

101537273 1

101547274 1

101557275 1

10156 7276 1

101577277 1

101587278 1

101597279 1

101607280 1

101617281 1

(1n(e+ V7))’

\/ (sin(y))?—

(sin(y))?

SH

S

P MINUS

\/— (cos (y))° (In (z + Va2 + ))

(o))

\/ (sin(y))?

(sin(y))?

SH

1/2 (x4 Va2 + 1)Sin(y) -1/2 (z+ Va2 + 1)_§ﬁy)

1/2 (z + Va2 7 1)

1/2 (z+ Va2 1) 4172 (2 + Va2 7 1) SH”

(I‘F\/ITH)Q sin(y)il

(CE+\/I27JF1)2 Sin(y)Jrl

(v

In (z 4+ V22 + 1) tan (y)

ln(er\/zZJrl)

tan(y)

1

ln(er 12+1) tan(y)

tan(y)

tan(y)

1

1n(x+\/z2+1)
In(z4 Va2 +1)tan(y) 7

ln(x+\/z2+l)7r

ln(er z2+1) tan(y)m

tan(y)

ln(m+\/m2+1)7r

(In (@ + V& +1))” (san (3))°
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SH

SH

SH

SH

SH

SH

SH

SH

SH

(n (z + VGE+1p)” + 1H

S

—1/2 (:17 +Vaz? + Sﬁ(sm(%))il
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S
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T
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CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS
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101627282 1

101637283 1

101647284 1

101657285 1

10166 7286 1

101677287 1

10168 7288 1

101697289 1

101707290 1

101717291 1

101727292 1

101737293 1

101747294 1

101757295 1

101767296 1

101777297 1

10178 7298 1

(in(2+v2%71))*
(tan(y))?

\/1n (z + V2% + 1) tan (y)

tan(y)

(In(a+va2+ )) (tan(y))*

__ (tan(y))®
(in(e+vaZ+1))”

(In (& + vaZ+1))° (tan (y))*

(in(2+v2?+1))°
(tan(y))®

(In(a+va2+ )) (tan(y))®

(tan(y))®

(x+\/x2—+1)tan(y)
(CL‘ T \/1.2—4_1) (tan(y))~
LOG (In (z + vaZ + 1) tan (y))
In er\/W
0G T tan(y) )

arcsin (In (z + V22 + 1) tan (y))

. In(2+v2%+1) )
arcsin
T tan(y)

arctan (In (z + V#2 + 1) tan (y))

In x+\/W
arctan —Tan(y)
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Cos(y)) ln m-l—\/wz )) +(cos(y))2— (ln m-l—\/wz ) 2

101797299 1 e S8 T P PLUS

(tan y))2 ln w+\/ ))

(tan(y))2 SH T P MINUS

(cos ln z+\/ 241 )) (cos(y))27(1n(x+\/12+£‘)t)T2

(cos(y))? i

101817301 1 T H PLUS

101807300 1 \/

an 2 n\xr xT 2
101827302 1 \/(‘ @) +(In(z+vo241)) SH T H MINUS

(Lan(s))?
1018373031 1/2 (v + Va2 + 1) —1/2 (2 + vaZ+1) $HY T sH  pLUS
1018473041 1/2 (2 + Va2 7 1) "™ Z1/2 (o + V2 TS sH o MINUS
1018573051 1/2 (2 + Va2 + 1) 1172 (o + Va2 +1) Y v cn pLUs

an -1 —(tan, -1
101867306 1 1/2 (z + V@ + )™ 412 0+ Va2 + 81 cH  MINUS

($+\/m)2 tan(y)_l

101877307 1 (e v/aTTT)2 41

SH T TH PLUS

-1

10188 7308 1 ((:v bV T) e 1) ((:v + Vs I.FH) MINUS

1018973091 In(z+Va? +1)/—y2 +1 SH P  CD PLUS

ln(x+\/z2+1)
/,y2+1

1
101917311 1 (Va2 1 1) /g2 41 SH P CDI PLUS

101907310 1 SH P CD MINUS

Ve
101927312 1 (e V7T T) SH P CDI MINUS

1019373131 In(z+ Va2 +1) /=y +1x SH P CDF PLUS

ln(m+\/m2+1)7r
V-ytl

101 51 —1 H P DIF PL
01957315 N P s W S C US

101947314 1 SH P CDF MINUS
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10196 7316 1

101977317 1

10198 7318 1

101997319 1

102007320 1

102017321 1

102027322 1

102037323 1

102047324 1

102057325 1

10206 7326 1

102077327 1

10208 7328 1

102097329 1

102107330 1

102117331 1

102127332 1

102137333 1

A /_y2+1
ln(x+\/z2+1)7r

(111 (:17 +Var2 + 1))2 (—y2 + 1)

_ (ln(z+\/x2+1))2
P

\/ln (z+Va?+1) /-2 +1

ln(m-}-\/mz-l—l)
A /_y2+1

_ 1
(ln(m+\/m2+l))2(y2—l)

—y’41
(ln(m+\/m2+1))2

(1n (x4 Va2 + 1))3 (—y2 + 1)3/2

(ln(m+\/m2+1))3

(Ve )y

(- 1)
(n(e+vam1))’
(et varrT)V
(¢ + vV TI)Vrm

L0G (n (w + Va 1) /=57 +1)

LOG<1H w+\/—)>

V-yrHl

arcsin (1n :c—i—\/xQ—i—l)\/ y +1)

. ln m-i— vV
arcsin
V-

arctan 1n :c—i—\/xQ—i—l)\/ Y +1)
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SH
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SH
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K PLUS
K MINUS
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SH P T MINUS

1n(m+\/w2+1)
102147334 1 arctan( YA )

102157335 1 \/(m +vZ+1) - (n(z+Va2+1))8H1 P P PLUS
10216 7335 2 SH H H PLUS
10217 7336 1 \/ (ot Vo)) oy SH P P MINUS
10218 7336 2 SH H H MINUS

1021973371 /= (n(e+Va?+1)* 2+ (e +Va? F I +1P  H  PLUS
10220 7337 2 SH H P PLUS

102217338 1 1 SH P H MINUS
102227338 2 SH H P MINUS

\/_ (ln(w-ﬂ/m)f—yz-kl

1022373391 1/2 (v + \/ﬁ—ﬂ)m —1/2 (z+ mm@ SH PLUS
1022473401 1/2 (z+ Va2 +1) VAT - 1)2 (z + \/a:Q—)SH/T SH MINUS
1022573411 1/2 (z + \/:1:2—+1)\/— +1/2 (z+VaZ ¥ IpHY 7 VB ol PLUS
1022673421 1/2 (z+ V% +1) VT 4+ 1/2 (z + mﬁﬁ CH MINUS

V2 +1 2 7y2+171
(2+va7FT)

102277343 1 _
(z+va2F1)2 V7

SH P TH PLUS

—1
1
102287344 1 ((:17 L VE L) VA 1) ((:17 +VaT F RAVT + 1?‘H MINUS

1022973451 In (x4 V22 +1) /y? -1 SH H  CD PLUS

ln(w-l—\/wz-i-l)
V-1

471 ——— H H DI PL
10231 7347 (et Ve VT S C US

y2—1

102307346 1 SH H CD MINUS

SH H CDI MINUS
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102337349 1

102347350 1

102357351 1

102367352 1

102377353 1

102387354 1

102397355 1

102407356 1

102417357 1

102427358 1

102437359 1

10244 7360 1

102457361 1

10246 7362 1

102477363 1

10248 7364 1

10249 7365 1

10250 7366 1

In(z4 Va2 +1)/y? —1x

ln(m+\/m2+1)7r

1
1n(m+\/z2+l)\/y271ﬂ'

ln(m-l—\/m)fr
(n(z+vzZ+1))" (12 - 1)

(in(o+vaZ+T))"

y?-1

\/ln(x+\/:c2+1) V2 —1

ln(z+\/ac2+1)

1
(1n(m+\/12+1))2(y271)

y>—1

(n(e V)

(In(z+ Va2 +1))° (y2 —1)*?

(ln(m+\/12+l))3
(y2-1)%/2

1
(n(z4+va2+1))° (y2—1)3/2

(*-1)""

(@ + vV
(x-l— m)ﬁ
L0G (n (z + Va? +1) v/y* =1)

LOG (1n(x+\/m)>
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SH

SH

SH
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K MINUS
KI  PLUS
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102517367 1

102527368 1

102537369 1

102547370 1

102557371 1

10256 7372 1

102577373 1

10258 7374 1

102597375 1

102607376 1

102617377 1

102627378 1

102637379 1

10264 7380 1

102657381 1

10266 7382 1
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ln(er\/m)
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12 (e +v@ZF )Y T S 12 (w4 VT D)SH H sH PLUS
1/2 (2 + Va2 + 1) VP —1/2 (z + Va2 + 1)‘8@3—1H SH MINUS
12 0+ VATV T 112 (e VAT SHH O cH PLUS
1/2 (z+ Va2 +1) VT 4 1/2 (x4 Va2 + 1)@}@3—1 H CH MINUS
(o+vaF ) V7 1 SH H TH PLUS
(a+vz2F1)*V viol
. -1

((:v V) VT - 1) ((x Ve F 1SR 1) TH MINUS
In(z+v22+ 1) In (y VP + 1) SH SH CD PLUS
In (a4 VZ7TT)
Inletvertl) I
G SH SH CD MINUS

1

In(z+v22+1) In (y+\/y2+1) SH SH CDI PLUS
ln(er y2+1)
Ve SH SH CDI MINUS
In(z+v22+ 1) In (y VP + 1) 7 SH SH CDF PLUS
ln(m-l—\/m)ﬂ
My SH SH CDF MINUS



102677383 1

10268 7384 1

102697385 1

102707386 1

102717387 1

102727388 1

102737389 1

102747390 1

102757391 1

102767392 1

102777393 1

102787394 1

102797395 1

102807396 1

102817397 1

102827398 1

1
ln(er\/m) ln(y+\/y2+1)7r

ln(y+ y2+1)
ln(m+\/m2+1)7r

(111(:17—!—\/172—)) (1n(y—|—\/y—+))

(n(2+va211))?
(ln( 2+1))

\/ln(:c—i-\/m)ln (y—i— \/ﬁ)

1n(m+\/12+1)

ln(y-l-\/sz)

1

(ln(ach\/m))2 (1n(y+\/y2?))2
(ln (y+ ,1/2+1))2

(e ime))?

(111(:17—!—\/172—)) (1n(y—|—\/y—+))

(1n(e-+v777))’

(1n(y+ 112+1))3

1

(ln(ach\/m))3 (1n(y+\/y2?))3
(ln (y+ ,1/2+1))3

(ln(m-l—\/m))a
(o 4 VT V)

(o + ) )
L0G (n (z+ Va?+ 1) n (y+ Vi +1))

LOG (

ln(er\/m)
In (y+1/v2+1)

)
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SH
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SH
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SH

SH
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SH
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102837399 1

10284 7400 1

102857401 1

10286 7402 1

102877403 1

10288 7404 1

10289 7405 1

10290 7406 1

10291 7407 1

102927408 1

10293 7409 1

10294 7410 1

102957411 1

10296 7412 1

102977413 1

10298 7414 1

arcsin (ln T+ \/962— In (y + \/y——i—)) SH

arcsin oo+ SH
In y+\/2—+1

arctan (ln z+vV22+1)In (y + \/y——i—)) SH

SH

(ln T+ 2+ )
arctan

In y2+1

\/ (111(:17—!—\/172—)) (ln(y—i-\/y—-i-))

(n(y+v/4241) )~ (n(a+va271))? SH
(i (y++/52+1))

\/(ln(x+\/x2—)) (1n (y+\/m))2+$ﬂ

(0 (/42 41) ) *+ (in(2+v2271) ) SH
(ol )

SH

SH

SH

SH

SH

SH

SH

SH

H

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

12 (2 + VT 1)UV g (o 4 vemET) SHY VT pLus

1/2 (z+ Va2 + 1) (n(urvm)) ™ 1/2 (= +Mﬁf(ln§ﬁ\/ﬁ—lﬁﬁé

12 (2 + VT 1)UV g (o 4 VeI SHYTVER Y pLUS

1/2 (:c—i—\/ac?—l—l)(ln(“\/l“lz—“)) +1/2 (z +SHz? +SH ln&ﬁ' ﬂ‘HJS

(a+vamrr)* V)

SH
(z+ /7I2+1)2 ln(y+ y2+1)+1

| ((H VETT) () T

ln(ac—l—\/x?——l—l)ln(y—i-\/gm) SH

ln(x+\/z2+1)

(o T) SH
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102997415 1

103007416 1

10301 7417 1

103027418 1

103037419 1

10304 7420 1

103057421 1

10306 7422 1

103077423 1

10308 7424 1

103097425 1

103107426 1

103117427 1

103127428 1

103137429 1

103147430 1

1
ln(er\/m) ln(er\/yzfl)
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n(:v—i—\/x?——l—l)ln(y-i-\/gm)w

ln(er\/m)ﬁ
ln(me/yzfl)

1
ln(er\/m) ln(er\/yzfl)ﬁ

ln(y+ y2—1)
ln(m+\/m2+1)7r

(111(:17—!—\/172—)) (1n(y+\/y——))

(in(z+v2?$1))" m+\/W))

(i (vev/v?=1))"

\/m (o4 V@) In (y+7 =1)

ln(z+\/ac2+1)

In (y-i-\/ y2—1)

1

(ln(er\/m))z (ln(er

(i (vrv/v>1))"

(e V7o)

(111(:17—!—\/172—)) (1n(y+\/y——))
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1
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103157431 1

103167432 1

103177433 1

103187434 1

103197435 1

103207436 1

103217437 1

103227438 1

103237439 1

103247440 1

103257441 1

10326 7442 1

103277443 1

10328 7444 1

103297445 1
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(z+ Va7 1) (V) SH
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LoG SH
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< In xwﬁ )
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arcsin ( In :c+\/x2— ln(y—l-\/y——)) SH

arcsin (et VETHT) SH
In y+\/y271

arctan (ln T+ \/xz— In (y + \/y——)) SH

SH
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In y+\/y271

\/ (111(:17—!—\/172—)) (ln(y—i-\/y——))
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\/(1n(y+ y271))2+(1n(z+2\/3027+1))2 SH
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H
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103317447 1

103327448 1

103337449 1

103347450 1

103357451 1
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10339 7455 1

10340 7456 1

103417457 1

103427458 1
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)
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; y—1
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Y
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4
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103477463 1
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10349 7465 1

10350 7466 1

10351 7467 1

103527468 1

10353 7469 1

10354 7470 1

103557471 1

10356 7472 1

103577473 1

10358 7474 1

103597475 1

10360 7476 1

10361 7477 1

103627478 1

1/8(1n(x+\/m))3(1n(;{;1))3 SH TH K
8 (In (v +va?+1))° (n (y:ll))f?’ SH TH K

SH TH KI

S memsvz=ys (n (;1“1:11))73

s oy ( (55)) St T KI
(2 +va D)/ ") SH TH LL
(o + VT T EF) S OTH IL
106 (1pm (e T () s oTH o
06 (2 e+ V) (w(22)) ) sw e
aresin (1/2In (o + Va?+ 1) n ($51))  SH  TH 8
armn(zm (e +vETT) (n(352)) 1) SH TH S
arctan (1/21n (z + Ve )n (251))  SH  TH T
et (21 o V) ((32)) ) s T
1/2\/ (n (e + Va2 71)* (n(55)) +asu T P

\/1 ((m (;@':11))2 —4 (n(z+ \/m)f) @H(*T@IH))EQD

1/2\/(1n(:c+\/m»2(1n(yy_ll))2+4 SH TH H

(0 (55) 0 s V) o ()
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PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



1036374791 172 (v + va@71) 2 ™(F7) 12 (o + vazsE) M SH) pLUS

103647480 1 1/2 (2 + vaZ 71> TN 1y (o4 v 1) TGS Mivus

1036574811 172 (x + Va2 1 1) "™(F7) 4 172 (o 1 vazsmED) M GGR) pLUS

1036674821 1/2 (2 + v 71> TN 410 (o4 vEm 1) TR Mivus

1036774831 1 ((:17 VETD)AEE) L g vE T 1“(15—1:11))@{@ PTG

1036874841 1 ((:17 L) EEDT 1) <(:c v 1) MIN)JS1

1036974851 In(z++v22 - 1)y CH CD CD PLUS
10370 7485 2 CH CDI CD MINUS
103717485 3 CH CDF CDF PLUS
103727486 1 YD) y””‘l) CH CD CD MINUS
10373 7486 2 CH CDI CD PLUS
10374 7486 3 CH CDIF CDF PLUS
1
103757487 1 ey, CH CD CDI PLUS
10376 7487 2 CH CDI CDI MINUS
103777487 3 CH CDF CDIFPLUS
Y
103787488 1 ety CH CD CDI MINUS
10379 7488 2 CH CDI CDI PLUS
10380 7488 3 CH CDIF CDIFPLUS
1038174891 1In(z + Va2 —1)ym CH CD CDF PLUS
10382 7489 2 CH CDI CDF MINUS
10383 7489 3 CH CDIF CD MINUS
103847490 1 V=T Vy””z‘l)” CH CD CDF MINUS
10385 7490 2 CH CDI CDF PLUS
10386 7490 3 CH CDF CD MINUS
1
103877491 1 oy CH CD CDIFPLUS

10388 7491 2 CH CDI CDIFMINUS
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10389 7491 3

103907492 1

10391 7492 2
103927492 3

103937493 1
10394 7493 2

103957494 1
10396 7494 2

103977495 1
10398 7495 2

10399 7496 1

10400 7496 2

104017497 1
10402 7497 2

104037498 1
10404 7498 2

104057499 1
10406 7499 2

104077500 1
10408 7500 2

10409 7501 1
104107501 2

104117502 1
104127502 2

104137503 1
104147503 2

104157504 1

Y

ln(m+\/m2—l)ﬂ'

(1n (:C + \/ﬁ))zgf

(1n(e+vaTT))?

\/ln(x—l-\/m)y

ln(m+\/;ﬂ2—1)
Yy

1
(1n(m+\/w2—l))2y2

2

(n(erVamT))
(In (z + Va2 — 1))3 y3

(ln(m-l—\/m))a

S S
(1n(m+\/12—1))3y3

3

((erVamT))
(2 + Va7 1)

Vo ++vVz2 -1
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CH

CH

CH
CH

CH
CH

CH
CH

CH
CH

CH

CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH

CDIF CDI MINUS

CD  CDIF MINUS

CDI CDIF PLUS
CDF CDI MINUS

CD AB PLUS
CDI AB MINUS

CD AB MINUS
CDI AB PLUS

Cbh W PLUS
CDI W  MINUS
Ch W  MINUS
CDI W  PLUS

CD ABI PLUS
CDI ABI MINUS

CD ABI MINUS
CDI ABI PLUS

CD
CDI

PLUS
MINUS

- =

Ch K MINUS
CDI K PLUS

CD KI PLUS
CDI KI MINUS

CD KI MINUS
CDI KI PLUS

Ch LL PLUS
CDI LL MINUS

CD LL MINUS



10416 7504 2

104177505 1
10418 7505 2

104197506 1
10420 7506 2

10421 7507 1
10422 7507 2

10423 7508 1
10424 7508 2

104257509 1
10426 7509 2

104277510 1
10428 7510 2

104297511 1
104307511 2

104317512 1
104327512 2

104337513 1
104347513 2

104357514 1
104367514 2

104377515 1
10438 7515 2

104397516 1
10440 7516 2

LOG (In (x +Va? =) y)
LoG <@)
arcsin (In (z + V22 — 1) y)

. (ln(mﬁ—\/ﬁ))
arcsin | V¥ 7 7)

arctan (In (z + m) )

arctan (m>

Yy

\/_ (In (w + Va7 =1)) 2 + 1

\/_ (in(e+va7=T))* —y2

y2

Vin(@+va? 1) %2 +1

\/(ln(w+m))2+y2

y2

1/2 (x—l—M)y_l/z (x+\/ﬁ)—y

2 e T 1)2 (o4 T =T)
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CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

LL

SH
SH

SH
SH

PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS



1044175171 1/2 (x+ V22— 1)’ +1/2 (x+v22—-1)" CH CD CH PLUS
104427517 2 CH CDI CH MINUS

1

104437518 1 1/2/z+vVa? —1+1/2 (e +v22—1) ' CH CD CH MINUS

104447518 2 CH CDI CH PLUS
(e4+v22—1)?" -1

104457519 1 —(m+m)2y+1 CH CD TH PLUS

10446 7519 2 CH CDI TH MINUS

-1

1044775201 1 ((:v +VZ o1 - 1) ((:v +VaZ 1) O 1>3D TH MINUS

10448 7520 2 CH 'CDI TH PLUS
104497521 1 2=y CH CDF CD PLUS
1045075221 [t CH CDF CDI PLUS
104517503 1 e CH CDF CDF MINUS
1045275241 s CH CDF CDIFMINUS
2 2
104537525 1 (VoD 0 CH CDF AB PLUS
Vr2— 271—2
10454 7526 1 M CH CDF AB MINUS
104557527 1/ ety CH CDF W PLUS
104567528 1y 2D CH CDF W  MINUS
71_2
y2
4SS0 1 [ty CH CDF ABI MINUS
1045975311 (Vo)) W CH CDF K PLUS
(ln(m-l—\/m))aﬂ?’

10460 7532 1 CH CDF K MINUS

y3
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10461 7533 1

104627534 1

10463 7535 1

10464 7536 1

10465 7537 1

10466 7538 1

104677539 1

10468 7540 1

10469 7541 1

104707542 1

104717543 1

104727544 1

104737545 1

10474 7546 1

104757547 1

10476 7548 1

104777549 1

71'3
(n(etvam—1))'y
3

oy
(n(e+va?=1)) 7

LS

(z+ V22 —1)

<3

(z+ Va7 —1)

LOG(E@iéZjM)
)

<m@+¢;tgw)
arcsin -
( In(z+va?=1)y )
arctan =
<m@+¢;tgw)
arctan .

2

¢_0Mww@tny¢_ﬂ

Y

¢_(m@+¢ﬂ2gfﬁﬁ

2

\/(m(wm))zyzﬂz

\/(ln(z+m))2ﬂ2+‘y2
2

Y
™

1/2($+\/m> _1/2(x+m),
1/2 (:c—i—%ﬁ)%_lm (o 4+ VEEZT)”

Y

1/2 ($+\/m>”+1/2 (x_i_m),
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Y
T

<A

A

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

KI  PLUS
KI MINUS
LL PLUS
LL MINUS
L  PLUS
L  MINUS
S  PLUS
S MINUS
T  PLUS
T  MINUS
P  PLUS
P MINUS
H PLUS
H  MINUS
SH PLUS
SH MINUS
CH PLUS



10478 7550 1

104797551 1

104807552 1

104817553 1

104827554 1

104837555 1

104847556 1

104857557 1

10486 7558 1

104877559 1

10488 7560 1

10489 7561 1

10490 7562 1

10491 7563 1

104927564 1

10493 7565 1

10494 7566 1

10495 7567 1

jus

1/2 (@ + V2@ —1)7 +1/2 (2 + V2" —1) ¥ CH

(e +vaZ=1)"7 =1) ((+ vaT=1)"

1((I+\/m)2% — 1) ((H\/mf

ln(w-l—\/wz—l)

ym

ym

ln(er\/zzfl)

In (z 4+ Va2 — 1) yr?

1
ln(er\/zzfl)yTrz

(1n(e+vaTT))?

272

(n(z + Va7 —1)) "y

ln(er\/aczfl)

ym

\/ln (w—i—ﬁ) ym

y271'2

(n(e Ve T))°

1
(1n(m+m))2y2ﬂ'2

(1n(e+va7T))"

ySﬂ.S

(n(z+vaZ—1))" 4

y37r3

(n(e Ve )"

1
(1n(m+m))3y3ﬂ3

(¢ + VT 1)

71-2

3
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S

<3

+cu)[_1
ay

CH

CH
CH

CH

CH
CH

CH

CH

CH

CDF

CDF

CDF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CH MINUS

TH PLUS

TH MINUS

CD PLUS

CDI PLUS

CDF MINUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS
ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS

KI ~ MINUS

LL PLUS



10496 7568 1

104977569 1

10498 7570 1

104997571 1

105007572 1

105017573 1

105027574 1

105037575 1

10504 7576 1

10505 7577 1

10506 7578 1

105077579 1

10508 7580 1

105097581 1

105107582 1

105117583 1

105127584 1

105137585 1
10514 7585 2

(z+ Va2 —1)"" CH CDIF

LOG (W) CH CDIF
LOG (In (z + V2% — 1) yn) CH CDIF
arcsin (W) CH CDIF
arcsin (In (z + V% — 1) yn) CH CDIF
arctan (“‘“y@) CH CDIF
arctan (In (z + V2% — 1) y) CH CDIF
\/ _ ot (in(ey VETT)). CH CDIF
V- (n(@+vaZ—1)) 2 11 CH CDIF
\/ y2”2+(l“§ﬁ;m))2 CH CDIF
V(@ +vaZ 1) 2 +1 CH CDIF

1/2 (z+ Va2 = 1) —1/2 (z + V2> —1) "CH CDIF
1/2 (¢ + V22 —1)" —1/2 (2 + Va2 —1) "’ CDIF
1/2 (2 + V2T —1)7 +1/2 (x+M)’#CH CDIF
1/2 (z+v22=1)" +1/2 (x + Va2 - 1)’ CDIF

-1

1((:c+\/mf%" = 1) ((w+\/x2—) y”GHl) CDIF

(e4+va2—1)2"" -1

n(z+ Va2 —1)/y CH AB
CH ABI
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LL

SH

SH

CH

CH

TH

TH

CD
CD

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
MINUS



105157586 1
10516 7586 2

105177587 1
10518 7587 2

105197588 1
105207588 2

105217589 1
10522 7589 2

10523 7590 1
10524 7590 2

105257591 1
10526 7591 2

105277592 1
10528 7592 2

105297593 1
105307593 2

105317594 1
105327594 2

105337595 1
10534 7595 2

105357596 1

10536 7596 2

105377597 1
105387597 2

105397598 1
10540 7598 2

1n(m+\/w2—l)
—

1
ln(m+\/m2—l)\/§

VY

ln(er\/zzfl)

In(z+ V22 —1) \fyr

ln(m+\/m2—l)ﬂ'
VY

1
ln(m+\/w2—l)\/§7r

VY

ln(er\/zzfl)rr

(n(z+ Va2 1))’y

(in(e+vaT 1))’

Vin (e + Va2 =1) 5

ln(m+\/;ﬂ2—1)
—

(V=T

(/e
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CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH

CH

CH
CH

CH
CH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB

ABI

AB
ABI

AB
ABI

CD MINUS
CD PLUS

CDI PLUS
CDI MINUS

CDI MINUS
CDI PLUS

CDF PLUS
CDF MINUS

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

PLUS
MINUS

= =

MINUS
PLUS

= =

ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS



105417599 1
10542 7599 2

10543 7600 1
10544 7600 2

105457601 1
10546 7601 2

105477602 1
10548 7602 2

10549 7603 1
10550 7603 2

105517604 1
105527604 2

105537605 1
10554 7605 2

105557606 1
10556 7606 2

105577607 1
10558 7607 2

10559 7608 1
10560 7608 2

10561 7609 1
10562 7609 2

10563 7610 1
10564 7610 2

105657611 1
10566 7611 2

(In (z + Va2 —1))" y3/2

(1n(e+vaTT))"

3372

1
(ln(m+\/w2—l))3y3/2

o372

(¢ +vaZ—1)""
(z+VaZ—1)7"
LOG (In (z + V2% = 1) \/7)

ln(erm)

arcsin (ln (x + Va2 — 1) \/y)
arcsin <ln(m+%—l)>
v

arctan (ln (:c + Va2 — 1) \/@)

arctan <M>

NG

\/— (In(z+ Va2 —1)) y+1
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CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

-~ =

KI
KI

KI
KI

LL
LL

LL
LL

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



105677612 1
105687612 2

105697613 1
105707613 2

105717614 1
105727614 2

105737615 1
105747615 2

105757616 1
105767616 2

105777617 1
10578 7617 2

105797618 1
105807618 2

105817619 1
105827619 2

105837620 1
10584 7620 2

105857621 1

10586 7622 1

105877623 1

10588 7624 1

105897625 1

\/ n(et ) CH AB

CH ABI
\/(ln(x+\/x2—1))2y+1 CH AB
CH ABI
\/(ln(er\/ac:l)) +y CH AB
CH ABI

1/2 (z+ Va2 =)V —1/2 (e +v2Z—1) V'CH AB
CH ABI

1/2 (z + Va? )%—1/2 (z+Va2-1) VICH  AB
CH ABI

1/2 (z+ Va2 =)V +1/2 (e +vaZ—1) V'CH AB
CH ABI

1/2 (x4 Va2 — 1)ﬁ +1/2 (z + Va2 - 1)‘ﬁCH AB

CH ABI
(e4+v22—1)* V" -1
(e+v2m—1)* V¥ 11 CH AB
CH ABI

1 1

((:c+\/:v2—)7 )((w+\/w2—) @Hl)AB

CH ABI
n(z+ Va2 —1)y? CH W
ln(x+y\/21271) CH W
1

ln(m+\/m2—l)y2 CH W
S CH W
1n(m+\/w2—l)

In (z 4+ Va2 —1)y*r CH W
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SH
SH

SH
SH

CH
CH

CH
CH

TH
TH

TH
TH

CD

CD

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS

MINUS

CDI PLUS

CDI MINUS

CDF PLUS



105907626 1

105917627 1

105927628 1

105937629 1

10594 7630 1

105957631 1

10596 7632 1

105977633 1

10598 7634 1

105997635 1

106007636 1

106017637 1

106027638 1

106037639 1

10604 7640 1

10605 7641 1

10606 7642 1

106077643 1

ln(er\/zzfl)rr
Sk S

Y

1
ln(m+\/w2—l)y27r

2
Y

ln(x+\/z271)7r

(n(z +vaZ—1))" y*

(ln(er\/Zzifl))2

Y

\/ln (w—i—m) 32

ln(m+\/;ﬂ2—1)

y2

1
(1n(m+\/w2—l))2y4

4

(n(erVamT))
(In (z + vVa? — 1))3 Y

(1n(m+\/fsz2771))3

Y

1

(n(e Ve D)

6

(x+VaZ =)
(2 4+ v —1)"
LOG (In(z + V22— 1) y?)

LOG (ln(m+\/m2—l)

y2

arcsin (In (z + V22 — 1) ?)

)
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CDF MINUS
CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI ~ PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS



Izt verol) ””1)> CH W S MINUS

10608 7644 1 arcsin<l( .

1060976451  arctan (In (v + Va2 — 1) y?) CH W T PLUS
106107646 1 arctan (M) CH W T MINUS
1061176471/~ (in (2 + VaZ = 1))yt + 1 CH W P PLUS
106127648 1 \/ _ oy (in(et VET) CH W P  MINUS
106137649 1 1/ (in (2 + VaZ = 1)) yt +1 CH W H PLUS
106147650 1 \/ GRECICERE) CH W H  MINUS

2 .2

1061576511 1/2 (x++v22—1)" —1/2 (x+v22-1)" CH W SH PLUS
_2 =2

1061676521 1/2 (x++v22—1)" —1/2 (x+v22-1) "CH W SH MINUS
2 .2

1061776531 1/2 (¢ +v27—1)" +1/2 (z+Vv22-1)" CH W CH PLUS

—2 -2
1061876541 1/2 (x++v22—1)" +1/2 (x+v22-1) "CH W CH MINUS

242
106197655 1 LoD CH W TH PLUS
($+\/LE2—1) L}

-1

106207656 1 1 ((x +VZ—1)Y - 1) ((x + V22— 1) Chr 1>W TH MINUS

106217657 1 In (z + Va2 —1) ¢y CH K CD PLUS
106227657 2 CH KI CD MINUS
10623 7658 1 m(m% ) CH K CD MINUS
10624 7658 2 CH KI CD PLUS

1
106257659 1 CH K  CDI PLUS

10626 7659 2 CH KI CDI MINUS
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106277660 1
10628 7660 2

10629 7661 1
106307661 2

106317662 1
10632 7662 2

10633 7663 1
10634 7663 2

10635 7664 1
10636 7664 2

106377665 1
10638 7665 2

10639 7666 1
10640 7666 2

10641 7667 1
10642 7667 2

10643 7668 1

10644 7668 2

10645 7669 1
10646 7669 2

106477670 1
10648 7670 2

106497671 1
10650 7671 2

106517672 1
106527672 2

e/g

1n(m+\/w2—l)

In (:C + Va2 — 1) Yym

1n(m+\/z271)7r
—

1
ln(er\/zzfl) Yy

¥y
ln(m+\/m2—l)ﬂ'

(In (z + Va? — 1))2y2/3

(in(e+vaT 1))

y2/3

Vin (2 +VaZ = 1) 95

ln(m-}-\/mz—l)
Iy

1
(ln(m+\/12—l))2y2/3

y2/3

(s )"
(In (z + vVa? — 1))3 Yy

(ln(erm))S

Y
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CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH

CH
CH

CH
CH

CH
CH

CH
CH

KI

KI

KI

KI

KI

CDI MINUS
CDI PLUS

CDF PLUS
CDF MINUS

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

PLUS
MINUS

==

MINUS
PLUS

= =

ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS

PLUS
MINUS

= =

K MINUS
K PLUS



106537673 1
10654 7673 2

106557674 1
10656 7674 2

106577675 1
10658 7675 2

106597676 1
106607676 2

10661 7677 1
10662 7677 2

10663 7678 1
10664 7678 2

10665 7679 1
10666 7679 2

106677680 1
10668 7680 2

10669 7681 1
106707681 2

106717682 1
106727682 2

106737683 1
10674 7683 2

106757684 1
10676 7684 2

106777685 1
106787685 2

(x—i-\/m)w

1

(z+ Va2 -1)%

<

LOG (ln (:c + V2 — 1) \%/y)

=)
arcsin (In (z + V22 — 1) ¥y)

arcsin w

arctan (In (z + V2% — 1) ¢/7)

¢ In(z+v22-1)
arctan 37\/5

V= (n (@ + Va7 1)) 25 41

y2/3

\/ y?/7—(In(o+Va7—T))®

Vi (@+Va? =1) %28 +1

483

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

CH
CH

KI

KI

KI
KI

KI
KI

LL
LL

LL
LL

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



106797686 1
10680 7686 2

106817687 1
106827687 2

10683 7688 1
10684 7688 2

10685 7689 1
10686 7689 2

106877690 1
10688 7690 2

10689 7691 1
106907691 2

10691 7692 1
10692 7692 2

106937693 1

10694 7694 1

106957695 1

10696 7696 1

106977697 1

10698 7698 1

10699 7699 1

107007700 1

107017701 1

\/ v/t (In(ot Va7 T))"

y2/3

1/2 (x4 Va? — )

sl~

1/2 (z 4+ Va2 —1) ¥

1/2 (z+ V2@ —1) V"

CH
CH

—1/2 (@ + vz 1) Ver

CH

-1/2 (z+ Va2 -1) ¥

CH

+1/2 (z+ Va2 —1) VCH

CH

1/2 (x4 Va? — )3%/5 +1/2 (z+ Va2 —1) ¥T

(m+\/x271)2 %71
(z+\/x271)2 §/§+1

1

1((I+\/m)“—«a

n(z+ Va2 —1)In(y)

ln(m-i—\/ 12—1)
In(y)

1
1n(m+\/w2—l) In(y)

In(y)
ln(er\/zzfl)

ln(er\/zzfl)rr
In(y)

1
ln(er z2— 1) In(y)m

In(y)
ln(x+\/z271)7r

(In (z + Va2 —1))” (In ())*

CH

CH
CH

KI

—1) ((a:—i—\/—) »CHLl)K1

In(z4+ Va2 =1)In(y) =
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

KI

LL

LL

LL

LL

LL

LL

LL

LL

LL

H MINUS
H PLUS

SH
SH

PLUS
MINUS

SH
SH

MINUS
PLUS

CH
CH

PLUS
MINUS

CH
CH

MINUS
PLUS

TH
TH

PLUS
MINUS

TH
TH

MINUS
PLUS

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS



107027702 1

107037703 1

107047704 1

107057705 1

10706 7706 1

107077707 1

10708 7708 1

107097709 1

107107710 1

107117711 1

107127712 1

107137713 1

107147714 1

107157715 1

107167716 1

107177717 1

10718 7718 1

107197719 1

(1o +/7T))*
(In(y))?

Vi (2 + Va2 = 1) In(y)

ln(m-}-\/mz—l)
—

1
(ln(m-l—\/mz )) (In(y))?

_ (n@)*
(1n(m+\/z271))2

(In (2 + V22— 1))" (In ())°
(n(e+va7T)"
(In(y))*

1
(ln(m-l—\/mz )) (In(y))?

_ (n@)®
(1n(m+\/1271))3

(o +va=1)""

(:C_i_m)(ln(y))*
LOG (In (z + V22 — 1) In (y))

In er\/zT )

T In(y)

oG

arcsin (ln (x +Va? — ) In (y ))

. In er\/zT
arcsin
T In(y)

arctan (ln (x +vVa? — ) In (y ))

In er\/zT
arctan

V= (4 V1) () +1
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS



107207720 1

107217721 1

107227722 1

107237723 1

107247724 1

107257725 1

10726 7726 1

107277727 1

10728 7728 1

107297729 1

107307730 1

107317731 1

107327732 1

107337733 1

107347734 1

107357735 1

107367736 1

107377737 1

(In(y))?

\/(ln(y))z(ln(er\/aszl))2

\/(ln (x4 Va2 — 1))2 (In (y))* + 1

\/(ln(y))2+(ln(m+\/m2—l))2

(In(y))?

CH

CH

CH

1/2 (e +vaZ—1)" —1/2 (@ + V2T —1) 'CH

LL

LL

LL

LL

1/2 (x4 Va? — 1)<1n(y))71 —1/2 (z+ Va2 - lpﬁn(y)f:ﬁ

12 (z+vam=1)"" 4172 (2 + Va7 1) CH

LL

1/2 (x4 Va2 — 1)<1n(y))71 +1/2 (z+Va? - lpﬁn(y)f:ﬁ

(e+va?—1)° "V 1

(e4+va?-1)" " 41

CH

LL

P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS
TH PLUS

1 ((:17 V) e 1) <(:17 + VoA ML + T)il MINUS

In (z 4+ Va2 — 1) EXP (y)

ln(er\/zzfl)
EXP(y)

1

ln(er zzfl)EXP(y)

EXP(y)

1n(x+\/z271)

In (z4 Va2 —1) EXP (y) 7

ln(x+\/z271)7r

EXP(y)

1

ln(er 1271)EXP(y)7'r

EXP(y)
ln(m+\/m2—l)ﬂ'

(In (z + VaZ —1))* (EXP (y))?
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CH

CH

CH

CH

CH

CH

CH

CH

CH

L

L

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS



10738 7738 1

107397739 1

107407740 1

107417741 1

107427742 1

107437743 1

107447744 1

107457745 1

10746 7746 1

107477747 1

10748 7748 1

107497749 1

107507750 1

107517751 1

107527752 1

107537753 1

107547754 1

107557755 1

(EXP(y))*

VIn (z + Va2 = 1) EXP (y)

ln(m-}-\/mz—l)
EXP(y)

1
(in(e+v27=1))*(BXP(y))?

(EXP(y))*

(in (z +vaZ=1))" (BXP (y))’

(BXP()”

1
(in(e+va2—1)) (EXP(y))?

(EXP(y))®

(o 4+ vaT=1)""

(x_"_m)(EXP(y)YI

LOG (In (z + a2 — 1) EXP (y))

oG

arcsin (In (z + V22 — 1) EXP (y))

. ln er\/ T2 —
arcsin —EXP)

arctan (In (z + Va2 — 1) EXP (y))

In er\/zT
EXP

arctan

ln er\/ T2 —
EXP (y)

)
)
)

V- (o (a4 VaZ—1))° (BXP (1) +
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+1

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS



10756 7756 1

107577757 1

107587758 1

107597759 1

10760 7760 1

107617761 1

107627762 1

107637763 1

10764 7764 1

107657765 1

10766 7766 1

107677767 1

10768 7768 1

107697769 1

107707770 1

107717771 1

107727772 1

107737773 1

(1n(e+ V1))

\/ (EXP) —alat CH L P MINUS
V(i (@ + Va? = 1)) (BXP (1) +1 CH L H PLUS
\/ (EXPW) (ol /7T)). CH L H  MINUS
1/2 (z+va@—1)" " Z1y2 (w4 Va2 —D)cT™M, sH pLUS
172 (z+ V=D 19 (o4 varen TP s MiNuUs
1/2 (z+ v =) p 12 @4+ Va2 D)™™ o pLUs
172 (z + V=D L1 (o4 varen TP cn MiNUs
Eziggzxi; CH L TH PLUS
((:1: L) T > ((:1: +vazen) T i 11>HNUS
In (z + V2% — 1) sin (y) CH S CD PLUS
Infetver 1) CH § CD MINUS
= CH S  CDI PLUS
% CH S  CDI MINUS
In (z + V22 —1)sin(y) CH S CDF PLUS
Infetyer ) CH S  CDF MINUS
e 1211)% o CH S CDIF PLUS
ﬁ CH S  CDIFMINUS
(n (2 + Va2 = 1)) (sin (y)) CH S AB PLUS
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107747774 1

107757775 1

10776 7776 1

107777777 1

10778 7778 1

107797779 1

107807780 1

107817781 1

107827782 1

107837783 1

107847784 1

107857785 1

10786 7786 1

107877787 1

107887788 1

107897789 1

107907790 1

107917791 1

(sin(y))*

\/ln (z 4+ Va2 —1)sin (y)

In(z+vaZ-1)

sin(y)

1

(in(z+v2%—1))*(sin(y))?

(sin(y))*

(1n (2 + V2= 1))’ (sin ()’

(sin(y))®

1

(in(z+v2%—1))%(sin(y))®

(sin(y))®

(z -+ VEZ—T)"

(CL‘ i m) (sin(y))~

LOG (In (z + vaZ — 1) sin (y))

oG

arcsin (ln (x +Va? — ) sin (y ))

In er\/zT

T sin(y)

arcsin

arctan (ln (x +Va? — ) sin (y ))

In er\/zT
T sin(y)

arctan

In er\/zT

T sin(y)

)
)
)

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

\/(cos( ))? (In (z + Va? — ))
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(1n(:v+\/—))?3+1 P

AB MINUS
W  PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS

PLUS



107927792 1

107937793 1

107947794 1

107957795 1

10796 7796 1

107977797 1

10798 7798 1

107997799 1

10800 7800 1

10801 7801 1

108027802 1

10803 7803 1

10804 7804 1

10805 7805 1

10806 7806 1

10807 7807 1

10808 7808 1

10809 7809 1

(sin(y))?

\/(sin(y))z(ln(er\/aszl))2

CH

S

P MINUS

\/— (cos (y))* (In (z + V2% — 1))2 + (In (z + V@A - 1$)2 +1H  PLUS

\/(sin(y))2+(ln(;ﬂ+\/12—1))2

(sin(y))?

CH

S

1/2 (e + V22— 1) 172 (x4 Va2 —1) T s

1/2 (x4 Va? — 1)(Sin(y)r1 —1/2 (z + Va2 - I)}_I(Sin(%))il

1/2 (2 4+ Va2 = 1) 4172 (@ + Va2 =1) T s

1/2 (x4 Va? — 1)(sm(y)r1 +1/2 (z+ Va? - I)}_I(Sin(%))il

(m+\/m)2 Si“(y),l

(e4+vaz—1)" "W 11

CH

S

H MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

TH PLUS

. —1 . —1 -1
1 ((a: +VzZ — 1)2(Sm(y)) - 1) ((a: + Va2 —G}}f (Sméy)) —E[’H) MINUS

In (z 4+ V22 — 1) tan (y)

ln(er\/zzfl)

tan(y)

1

ln(er z2— 1) tan(y)

tan(y)

1n(x+\/z271)

In(z4 Va2 —1)tan(y) 7

ln(x+\/z271)7r

tan(y)

1

ln(er z2— 1) tan(y)m

tan(y)

ln(m+\/m2—l)ﬂ'

(n (z + Va2 —1)) (tan (y))°
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CH

CH

CH

CH

CH

CH

CH

CH

CH

T

T

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS



108107810 1

1081178111

108127812 1

108137813 1

108147814 1

108157815 1

108167816 1

108177817 1

10818 7818 1

108197819 1

108207820 1

108217821 1

108227822 1

108237823 1

108247824 1

108257825 1

10826 7826 1

(tan(y))®

VIn (2 + Va2 = 1) tan (y)

In(z+va?-1)

tan(y)

1
(in(z+v22-1))(tan(y))>

_ (tan(y)®
(1n(x+\/z271))2

(n (z + VZZ=1))’ (san (9))"
(tan(y))®

1
(in(z+v22-1))° (tan(y))?

_Gan(@)®
(n(a+v2?-1))

(o -+ VAT 1) ™

(x_i_m)(tan(y))*
LOG (In (z + vaZ — 1) tan (y))

In er\/zT )

T tan(y)

oG

arcsin (In (z + V22 — 1) tan (y))

. In er\/zT )
arcsin
T tan(y)

arctan (In (z + V22 — 1) tan (y))

In er\/zT
arctan | ————~—=
an
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS



108277827 1

10828 7828 1

108297829 1

108307830 1

108317831 1

108327832 1

108337833 1

108347834 1

108357835 1

10836 7836 1

108377837 1

108387838 1

108397839 1

10840 7840 1

108417841 1

108427842 1

10843 7843 1

COS(U)) 111 I-l—vwz )) +(cos(y))?— (ln(z-{-\/z?—l))iH

(cos(y))?

tan(y))2

CH

(cos(y ln er\/acz )) 7(cos(y))27(ln(x+\/x27}));

v
\/tdn )2 = (In(a+v27=1))*
-

\/(tan(y))er(ln(er\/zz1))2

(tan(y))*

1/2 (:C—l— /—IQ — 1)tan(y) _ 1/2 ($—|— /—ZCQ — 1)*&@1&(9) T

1/2 (.T + /$2 _ 1)(tan(y))71

1/2 (2 + Va2 = 1) +1/2 (o +va?—1) G T
12 (e 4+ V@17 p 12 o+ v moa MY

(a+vaZ—1)" "
(w_"_m)Z tan(y)+1

((m+\/x?—) (tanty

In (z 4+ Va2 - 1) V-y2+1
ln(er\/m)
Vo

1

[NETS= Iy ey

N
ln(w-l—\/wz—l)

n(:v—l—\/x?—l) \/—yz—i—lw

ln(m+\/m2—l)ﬂ'
V-ytl

1

ln(m+\/w2—l)\/ —y24+17
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(cos(y))*

CH

CH

CH

CH

CH

CH

CH

CH

CH

C1/2 (a4 VAo oE

T

P

P

P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS
TH PLUS

-1

_ 1) ((:v + Ve —ay :FH) MINUS

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS



108447844 1

108457845 1

10846 7846 1

108477847 1

10848 7848 1

108497849 1

10850 7850 1

108517851 1

108527852 1

10853 7853 1

10854 7854 1

108557855 1

10856 7856 1

108577857 1

10858 7858 1

10859 7859 1

10860 7860 1

10861 7861 1

A /_y2+1
ln(x+\/z271)7r

(111 (:17 + Va2 — 1))2 (—y2 + 1)

ey

\/In(:c+\/x2 — 1)y +1

ln(m-}-\/mz—l)
V =Y+l

(ln(m+\/;ﬂ2 )) (y2-1)

—y’+1
(ln(m+\/m2—l))2

(n (z + Va2 =1))" (=2 +1)**

(ln(m+\/m2—l))3

1
(ln(m+\/w2—l))3(—y2+1)3/2

()
(n(+va=1))"
(@ +VaZ 1)V U
(¢ + VZ D)V

L0G (n (w + VaT=T1) /=57 +1)

1n(m+\/w2—l)
vV —yr+l

arcsin (1n :c—i—\/xQ—l)\/ y +1)

. < ln r+vVar2— >
arcsin

LoG <

arctan 1n :c—i—\/xQ—l)\/ Y +1)
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CDIF MINUS
AB PLUS
AB MINUS
W  PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS



108627862 1

10863 7863 1
10864 7863 2

10865 7864 1
10866 7864 2

10867 7865 1
10868 7865 2

10869 7866 1
10870 7866 2

108717867 1

108727868 1

10873 7869 1

108747870 1

108757871 1

10876 7872 1

108777873 1

10878 7874 1

108797875 1

10880 7876 1

et CH P

arctan ( 111(:5-1—7 Va?—T) )

V(@ +Va?—1)*y2 - (n (2 + VaZ —1))tH1 P
CH H

\/ (m(mwzz—_l)) +y2—1 CH P
| CH H

\/ (n (z + V22 =1))" 42 + (In (¢ + Va2 — A+ 1P

CH H
\/_ (ln(m+\/1y22—_11)) —y241 CH P
CH H

12 (4 V2 )V 12 (@ Voo g
1/2 (z+ Va2 —1) T 12 (:z:+\/—)CH/T
1/2 (e 4+ V@ D)V T 4172 (o + VaR - TpR P

12 (2 + VI 1) VA1 4 1/2 (o + V@~ ICH 7D

(et Vam=T)2V 0

_ CH P
(z+va2=T)? V" H 4

T MINUS
P PLUS
H PLUS
P MINUS
H MINUS
H PLUS
P PLUS
H MINUS
P MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS
TH PLUS

((a: +VaZ—1)’ e 1) ((a: - \/ﬁ(ﬁlﬁ?l + 1?H1 MINUS

In (:17 + m) \/yQ——l CH H
71“(2“2_””_21—‘1) CH H
ln(m-l-\/%)\/lﬂ——l o n
% CH H
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CD PLUS

CD MINUS

CDI PLUS

CDI MINUS



108817877 1

108827878 1

10883 7879 1

10884 7880 1

108857881 1

10886 7882 1

108877883 1

10888 7884 1

10889 7885 1

10890 7886 1

10891 7887 1

108927888 1

10893 7889 1

10894 7890 1

108957891 1

10896 7892 1

108977893 1

10898 7894 1

In(z+4 Va2 —1)/y? —1x

ln(m+\/m2—l)ﬂ'

1

1n(m+\/z271)\/y2717r

ln(m-l—\/mz—l)ﬂ'

(n(z +v2Z=1))" (2 = 1)

(1n(e+vaTT))?

y?-1

Vin(z+VaZ 1) Vi~ 1

ln(z+\/ac2fl)

1
(ln(erm))z(yzfl)

y>—1

(n(e Ve 1))

(n(z+vaZ—1))" (s - 1)*?

(ln(er\/zzfl))a

1
(ln(Ier))S(yzfl)?’/z

(1)
(n(evar )"

(@+vaZ =)V
(¢ + VD) Vo
LOG (ln (z4+ Va2 —1)/y? - 1)

L0G (m(ﬁm))

y?-1
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CDF PLUS
CDF MINUS
CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI ~ PLUS
KI ~MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS



10899 7895 1

10900 7896 1

10901 7897 1

10902 7898 1

109037899 1

10904 7900 1

109057901 1

10906 7902 1

109077903 1

10908 7904 1

109097905 1

109107906 1

109117907 1

109127908 1

109137909 1

109147910 1

aresin (In (2 + VaZ = 1) /y? = 1) CH H S PLUS
arcsin <1“ (a4 var - > CH H S MINUS
arctan (In (z +vVaZ = 1) /y? — 1) CH H T PLUS
ln(erm)
arctan <7\/y2__1 > CH H T MINUS
12 @+ v DV 12 (et vED) O H SH PLUS
1/2 (z+ Va2 — 1) VP71 —1/2 (z + Va2 — 1)_(;\H§——1H SH MINUS
12 @ vE DY 12 (e r VDO T CH PLUS
1/2 (¢ + VAT D)V +1/2 (1 +VaZ 1) GA*TH  CH MINUS
(o+vam=1) V" CH H TH PLUS
(s+Va=T)2 V" "
. -1

((:v + V2 — ) - 1) ((w + V2 — 1)(21Ev]y2le+ 1) TH MINUS
n(z+va?—1)n (y VP + 1) CH SH CD PLUS
ln(m-l—x/ﬁ)
In(etver 1) I
) CH SH CD MINUS

1

In(2+vz%—1) In (y+\/y2+1) CH SH CDI PLUS
ln(er y2+1)
) CH SH CDI MINUS
n(z+va?—1)n (y VP + 1) 7 CH SH CDF PLUS
ln(m-l—\/ﬁ)ﬂ' I
MEvoast CH SH CDF MINUS
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109157911 1

109167912 1

109177913 1

10918 7914 1

109197915 1

109207916 1

109217917 1

109227918 1

109237919 1

109247920 1

109257921 1

10926 7922 1

109277923 1

10928 7924 1

109297925 1

109307926 1

1
ln(erm) ln(y+\/y2+1)7r

ln(y+ y2+1)
ln(m+\/m2—l)ﬂ'

(111(1:—!—\/—)) (hl(y—i—\/y—-i-))

(n(e+va?-1))*
(ln( 2+1))

\/ln(x—i-\/m)ln (y—i— \/ﬁ)

ln(er\/zzfl)

ln(y-l-\/sz)

1

(ln(erm)f (ln (y+m))2
(ln (y+ ,1/2+1))2

(in(e+va—1))’

(111(1:—!—\/—)) (hl(y—i—\/y—-i-))

(1n(e-+ve 1))’

(1n(y+ 112+1))3

1

(ln(erm))S (ln (er\/yzﬁ))%
(ln (y+ ,1/2+1))3

(in(e+vam—1))’
- )

(o4 VD) (D)
L0G (n (w+ Va?=T)In (y+ vy +1))

LOG (

ln(z+\/ac2fl)

(s 1)

)
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI ~ MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS



109317927 1

109327928 1

109337929 1

10934 7930 1

109357931 1

10936 7932 1

109377933 1

10938 7934 1

109397935 1

10940 7936 1

109417937 1

109427938 1

109437939 1

10944 7940 1

109457941 1

10946 7942 1

1n(w+¢ﬁ)ln(y+\/gﬁ)

arcsin (ln T+ \/962— In (y + \/y——i—)) CH

ln m-i— Vz2—
arcsin CH
ln me/ 2+1

arctan (ln z+vV22 —1)In (y + \/y——i—)) CH

CH

( ln r+vVr2— )
arctan

In y2+1

\/ (111(:17-!-\/—)) (ln(y—i-\/y—-i-))

wlnwm»%nmmw -

(oGrevori))’

\/(ln(x+\/x2—)) (1n (y+\/m))2+CH

\/(ln(y+\/ﬁ))2+(ln<r+m))2 -

(i (/o r1))°

SH

SH

SH

SH

SH

SH

SH

SH

H

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

12 (2 + V=10V g (o 4 eomT) SH VT pLus

172 (o4 va=T) OV s o ey (b VRNUS

12 (2 + V=1 UV g (o 4 /eomT) SHY VR Y pLus

12 (o4 va=T) CVT) T s (o ey eV RINDS

(e varT)? (VP i)

CH
(er m271)2 ln(er y2+1)+1

1 ((:c+ \/ﬁf(l“(y*\/@'z—“))*l

ln(er\/m)
ln(y+\/y2j)
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SH

TH PLUS

1) ((oextemsm)” Ol VAiikbs + 1)

CH CH CD PLUS

CH CH CD MINUS

-1



109477943 1

10948 7944 1

10949 7945 1

10950 7946 1

109517947 1

109527948 1

109537949 1

10954 7950 1

109557951 1

10956 7952 1

109577953 1

10958 7954 1

109597955 1

10960 7956 1

10961 7957 1

10962 7958 1

1
ln(erm) ln(er\/yzfl)

In (y+ y2—1)
ln(m-l—x/ﬁ)

n(w—f—%ﬁ)ln(y—i-\/gﬁ)w

ln(er\/m)rr
In (er\/yzfl)

1
ln(erm) ln(er\/yzfl)rr

In (y-i— y2—1)
ln(m+\/m2—l)ﬂ'

(111(1:—!—\/—)) (hl(y—i—\/y——))

(o),

(i (vev/v?=1))"

\/m (o4 V@ =T)In (y+ 7 =1)

ln(er\/zzfl)

In (y-i-\/ y2—1)

1

(ln(erm)f (ln (er

(i (vrv/v>1))"

(in(e+vam—1))’

(111(1:—!—\/—)) (hl(y—i—\/y——))

(1n(e-+ve 1))’

(i (vev/v?=1))"

1

1))

(ln(erm))S (ln (y+\/742—71))3
(i (otor1))”

(in(e+vam—1))’
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CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS

ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS

KI ~ MINUS



109637959 1

10964 7960 1

10965 7961 1

10966 7962 1

109677963 1

10968 7964 1

10969 7965 1

109707966 1

109717967 1

109727968 1

109737969 1

109747970 1

109757971 1

109767972 1

109777973 1

10978 7974 1

(o + vaE=T)" (V) CH CH LL
(o + V=) (Vi) CH CH LL
L0G (n(z+va?=T)In (y+4?—1)) CH CH L
LoOG <11“ (o4 v/or ) CH CH L
arcsin (111 z+ V2?2 —1)ln (y +Vy? - )) CH CH S
arcsin (11: ;C: \/Z—A ) CH CH S
arctan (ln z+ V22 —1)ln (y + Y2 — )) CH CH T
In er\/xT
arctan (m y+\/ﬂ ) CH CH T
V-GV D) (m (v + VP 1)) en cn P
(ln(er yzfl))27(ln(x+m))2
= CH CH P
\/ (in(v+v/v>=1))
2
\/(ln(x+\/x2 0)*(n(y+v4>—1)) +CH CH H
CH CH H

\/(ln(y+ 7)) (n(e+ V)
(o Vo)

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

12 (2 + v =1)" VD) g (o 4 varoET) Gl pLus

172 (o4 va=n) CVT0) T s (o a8 VRN

12 (2 + V=1 UV g (o 4 vaoET) GV pLus

172 (o4 va=T) V)T s (o e VRIS
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109797975 1

109807976 1

109817977 1

109827978 1

109837979 1

10984 7980 1

109857981 1

10986 7982 1

109877983 1

10988 7984 1

10989 7985 1

109907986 1

10991 7987 1

109927988 1

10993 7989 1

10994 7990 1

O S G i
(I+\/m)2 ln(y+ Y 71)+1

1 ((:v ) (V)T 1) ((x cvzen’ e Viins + 1) i

1/2In(z++v22 —1)In (fyfl)

=
#))
2 v (I (5))"

2 (55)

1/21In(z+ V22 -1) ln(_y:ll) -

Y

2Iln (:C—FM) (1n(

21In (aj—|— M)ﬂ' (hl (—yy:ll))—l

2 ey (I (?1_11))_1

1 —y—1
1/2ln(m+— 1271)ﬁln.( y—1 )

1/4 (In (z + Va2 — 1)) (1n (*?!:11))2

Y

VT 1 (32))

y—

1/2v2,/In (z + Va2 — 1) In (—1;1_—11)

V24 /In (z + V2% = 1) (1n (77471))71

y—1

ey ((57)

1/4 (ln(z+\/lﬁ))2 (ln (;74:11))2
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CH CH TH PLUS

CH TH CD PLUS

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS

ABI PLUS

ABI MINUS

1



109957991 1

10996 7992 1

109977993 1

10998 7994 1

109997995 1

110007996 1

110017997 1

110027998 1

110037999 1

11004 8000 1

110058001 1

11006 8002 1

110078003 1

11008 8004 1

11009 8005 1

110108006 1

1/8 (1n(w+m))3(ln(;y:ll))3 CH

e T (n(3))
° O“(“;ﬁ))a (1n (;7;:11))*3 o
1/8 (1n(1+\/1m))3 (ln (—yy:ll))S o
(:c+ m)l/z In( 225 .
(o + v D cH

106 (12 (e + V=T (51))  cn

2) ) e
arcsin (1/2 In (v + Va2 = 1) n (£5))  cH
)"
—=1)) cn
)7 e

)
1/2\/ (In (2 + vaT=1))" (n (35 1)) +4CH

LOG <2ln (z+ V22 —1) (m(

arcsin <2 In (z 4+ Va2 —1) ( (

arctan (1/2 In (z + vVa? —

/_\

arctan <2 1n T+ \/— (1n (

y—1

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

KI

KI

LL

LL

\/1 ((m (;@':11))2 —4 (In (z+ M)f) @H(%ﬁ))fﬁ

1/2\/(1n(:v+\/m»2(ln(yy_ll))Q—i—él CH TH H

(0 (55)" 0 o+ V=) o)) B
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PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



1101180071 1/2 (z + V@ —1)*"55) _ 19 (a4 \/IQGH)_%H(ﬁ) PLUS

10128008 1 1/2 (2 + v —1)° "G5 _ 1 (o 4 veEem ) TS MiNUs

110138009 1 172 (x + Va2 —1)"2"(F) 112 (a4 «ﬁem)%ﬁ“wﬁlﬁ PLUS

110148010 1 1/2 (z + V2% —1) 2(n(55) +1/2 (2 4+ VEH )ﬁi "(E) MiNus

1101580111 1 ((w VD) EE) (o g v o ) yr@(x PRETT) ) |,

1101680121 1 ((:17 L) EED)T 1) <(:c L vaer 1) T MIN)JS1

1101780131 1/2 1n( = 1)y TH CD CD PLUS
110188013 2 TH CDI CD MINUS
110198013 3 TH CDF CDF PLUS
1102080141 1/211m (=251) TH CD CD MINUS
110218014 2 TH CDI CD PLUS
110228014 3 TH CDIF CDF PLUS
—1
1102380151 21 (In (=2)) TH CD CDI PLUS
110248015 2 TH CDI CDI MINUS
110258015 3 TH CDF CDIFPLUS
110268016 1 2y(1n(;””:11))71 TH CD CDI MINUS
110278016 2 TH CDI CDI PLUS
110288016 3 TH CDIF CDIF PLUS
1102080171 1/21In (=25 ) yr TH CD CDF PLUS
110308017 2 TH CDI CDF MINUS
110318017 3 TH CDIF CD MINUS
110328018 1 1/221In (=251 TH CD CDF MINUS
110338018 2 TH CDI CDF PLUS
110348018 3 TH CDF CD MINUS
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110358019 1

110368019 2
110378019 3

110388020 1

110398020 2
110408020 3

110418021 1
110428021 2

110438022 1
110448022 2

110458023 1
11046 8023 2

110478024 1
11048 8024 2

110498025 1
110508025 2

110518026 1
11052 8026 2

110538027 1
11054 8027 2

110558028 1
11056 8028 2

110578029 1
11058 8029 2

110598030 1
11060 8030 2

TH

TH
TH

TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

CD
CDI

CDIF

CD
CDI

CDF

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CDIF PLUS

CDIF MINUS
CDI MINUS

CDIF MINUS

CDIF PLUS
CDI MINUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

=

PLUS
MINUS

=

=

MINUS
PLUS

=

ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS

K PLUS
K MINUS

K MINUS
K PLUS

KI ~ PLUS
KI ~ MINUS

KI ~ MINUS
KI  PLUS



110618031 1
11062 8031 2

11063 8032 1
11064 8032 2

110658033 1
11066 8033 2

110678034 1
11068 8034 2

110698035 1
110708035 2

110718036 1
110728036 2

110738037 1
110748037 2

110758038 1
11076 8038 2

110778039 1
11078 8039 2

110798040 1
110808040 2

110818041 1
110828041 2

110838042 1
11084 8042 2

1/2y~ 1t
_ 41 /12y
x—1

LOG (1/2 In (7;11) y)
LOG (1/2 L (%}1))

arcsin (1/2 In (%}1) y)

arcsin (1/2 i In (7;:11))

arctan (1/2 In (—11:11) y)

arctan (1/2 % In (;3:1))

1/2 \/— (1n(;{—11))2y2+4

1/2 \/y% <4y2 ~ (n (%_11))2)

1/2 \/(m (;r;ll))zyz 4

o ((n(22)) 00
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TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CD
CDI

LL
LL

LL
LL

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS



110858043 1
11086 8043 2

110878044 1
11088 8044 2

110898045 1
11090 8045 2

11091 8046 1
11092 8046 2

110938047 1
11094 8047 2

110958048 1
11096 8048 2

110978049 1

11098 8050 1

110998051 1

111008052 1

111018053 1

111028054 1

111038055 1

11104 8056 1

2 (22)" a2 (s22)

1/2 (;ﬂﬁ_’ll)l/zyﬂ —1/2 (

—z—1
x—1

)—1/21}’1

1/2 (_f__ll)y/z +1/2 (—Im_—ll)‘y/Q

1/2 (}T)l/zyﬂ +172 (

! ((’f‘f)m - (—;—;)‘W) ((—;-11)”2 H(H;_—;()ﬁy”)rﬁ

x—1

1/2 %2 In (fxfl
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—z—1
x—1

)71/2y71

TH
TH

TH
TH

TH
TH

TH
TH

TH

Y op (<zp)

TH

TH

TH

TH

TH

TH

TH

TH

TH

CD
CDI

CD
CDI

CD
CDI

CD
CDI

CDI

CDI

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

SH
SH

PLUS
MINUS

SH
SH

MINUS
PLUS

CH
CH

PLUS
MINUS

CH
CH

MINUS
PLUS

PLUS

TH MINUS

_1/2y71 -

MINUS)
TH PLUS

CD PLUS

CDI PLUS

CDF MINUS
CDIF MINUS
AB PLUS

AB MINUS
W PLUS

W MINUS

1



111058057 1

11106 8058 1

111078059 1

11108 8060 1

111098061 1

111108062 1

111118063 1

111128064 1

111138065 1

111148066 1

111158067 1

111168068 1

111178069 1

111188070 1

111198071 1

111208072 1

,_.

,_.

arctan (1 % n

2
—1

—1

< 2))
arctan (1/2 = m( 11))
2 % (- (n ()

y2 + 471'2>

23 (- (n(22)) o a0)

o907

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

CDF

ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS
T PLUS
T MINUS
P PLUS
P MINUS



111218073 1

111228074 1

111238075 1

111248076 1

111258077 1

11126 8078 1

111278079 1

11128 8080 1

111298081 1

111308082 1

111318083 1

111328084 1

111338085 1

111348086 1

111358087 1

111368088 1

1/2 In (;””:11) ym?
2 (n(35))
ik (in(552))°
1/4 (111 (;””:11))2(7;271'2

122w (=51

1/2\/51/111 (_f:ll) yT
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TH

TH

TH

TH

1/24

TH+

TH+

)1/21

TH

CDF

CDF

CDF

CDF

CDF

CDF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

H PLUS

H MINUS

SH PLUS

SH MINUS

CH PLUS

CH MINUS

(e )i s

(@g:e;é)fﬁ ’ aymims

CD PLUS

CDI PLUS

CDF MINUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS



111378089 1

111388090 1

111398091 1

111408092 1

111418093 1

111428094 1

111438095 1

111448096 1

111458097 1

11146 8098 1

111478099 1

111488100 1

111498101 1

111508102 1

111518103 1

111528104 1

111538105 1

(
aresin (1/2 1n (5251 yr)
(1/2 2 (5 f))
(

arctan (1/2 In (

1/2\/ : (sr = (i (52
1/2\/ (h1(—%q%))2y2”2‘%4

12 \/ylw <4y27r2 + (1n (;”_11))2>
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TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

CDIF

ABI PLUS
ABI MINUS
K PLUS
K  MINUS
KI PLUS
KI  MINUS
LL PLUS
LL MINUS
L PLUS
L  MINUS
S PLUS
S MINUS
T PLUS
T  MINUS
P PLUS
P  MINUS
H PLUS



111548106 1

111558107 1

11156 8108 1

111578109 1

111588110 1

1115981111

111608112 1

111618113 1
111628113 2

111638114 1
111648114 2

111658115 1
11166 8115 2

111678116 1
11168 8116 2

111698117 1
111708117 2

111718118 1
111728118 2

111738119 1
111748119 2
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TH

TH

TH

TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

CDIF H

CDIF SH

CDIF SH

CDIF CH

CDIF CH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

CD
CD

CD
CD

CDI
CDI

CDI
CDI

CDF
CDF

CDF
CDF

MINUS

PLUS

MINUS

PLUS

MINUS

L =T ﬂu)s
i e i

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

CDIF PLUS
CDIF MINUS



111758120 1
11176 8120 2

111778121 1
111788121 2

111798122 1
111808122 2

111818123 1
111828123 2

111838124 1
111848124 2

111858125 1
11186 8125 2

111878126 1
111888126 2

111898127 1
111908127 2

111918128 1
111928128 2

111938129 1
111948129 2

111958130 1
11196 8130 2

111978131 1
111988131 2
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TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

CDIF MINUS
CDIF PLUS
AB PLUS
AB MINUS
AB MINUS
AB PLUS
W  PLUS
W MINUS
W MINUS
W PLUS
ABI PLUS
ABI MINUS
ABI MINUS
ABI PLUS
K PLUS
K MINUS
K MINUS
K PLUS
KI PLUS
KI MINUS
KI MINUS
KI PLUS
LL PLUS
LL MINUS



111998132 1
112008132 2

112018133 1
112028133 2

112038134 1
11204 8134 2

112058135 1
11206 8135 2

112078136 1
11208 8136 2

112098137 1
112108137 2

112118138 1
112128138 2

112138139 1
112148139 2

112158140 1

112168140 2

112178141 1
112188141 2

112198142 1
112208142 2

112218143 1
112228143 2

/N

_z+l
x—1

LOG (1/2 In

LOG (1/2 . 1n(
arcsin (1/2 In (_””__

- 1
arcsin (1/2 7

1
1/2 2=

(=
=)

) v7)

—x—1

x

1n(

arctan (1/2 In (

1
arctan (1/2 7 In (

1

Y va)

1))

=) )

—z—1

=)

1/2\/— (ln(

—x—1

x—1

s

1/2 \/5 <— (m(

1/2 \/(m (%))Qyﬂ

1/2 \/5 ((m

2 (=) e

1

(55

1

)

512

—z—1
T—

1

) 1)

x
r—

)71/2\/5

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

AB
ABI

LL
LL

SH
SH

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



112238144 1
112248144 2

112258145 1
112268145 2

112278146 1
11228 8146 2

112298147 1
112308147 2

112318148 1
112328148 2

112338149 1

112348150 1

112358151 1

112368152 1

112378153 1

112388154 1

112398155 1

112408156 1

112418157 1

112428158 1

1 1

1/2 = -1/2 L
—x—1 VY —x—1 VY
x—1 ) - 1/2 ( x—1 )

_1)1/2\/5 )—1/2\/5
T

—z—1
+1/2(z T

1 ,1/2L
12 (j:ll) vy

(=) (=) (=

1/2 % 1n( .
1 1\ !

513

=

TH ABI
T™H W
™ W
™ W
™ W
T™H W
™ W
™ W
™ W
™ W
™ W

TH AB SH MINUS
TH ABI SH PLUS
TH AB CH PLUS
TH ABI CH MINUS
TH AB CH MINUS
TH ABI CH PLUS

1 /2 Vi 1 /2

S
TH ABI TH MINUS

(e i

TH PLUS

CD PLUS

CD MINUS
CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS



112438159 1

11244 8160 1

112458161 1

112468162 1

112478163 1

112488164 1

112498165 1

112508166 1

112518167 1

112528168 1

112538169 1

112548170 1

112558171 1

112568172 1

112578173 1

112588174 1

112598175 1

1/2+/24/In

/
|
HE
||
-
—
<
[N

1/2v2/ 5z In (;{—11)

15 (n(22))
vt (m(52))
15 (i (52)) 0"

arcsin (1/2 ln( 1)

-1
arctan (1/2 In ( 11) yz)
(

arctan 1/2 ln( 11))

1/2 \/— (1n (j_;l)) yt+4

514

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

ABI

ABI

KI

KI

LL

LL

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



112608176 1

112618177 1

112628178 1

112638179 1

11264 8180 1

112658181 1

11266 8182 1

112678183 1

112688184 1

112698185 1
112708185 2

112718186 1
112728186 2

112738187 1
112748187 2

112758188 1
11276 8188 2

112778189 1
11278 8189 2

12 (5) 0 e (3 TH
2 (=) e (=)
2 (=) e (=) m
2 (z=) v (22)
(=) - (=) ) (i

121 (=51 vp TH
TH
124 () TH
TH
295 (n(52)) iﬁ
295 (In (;%1))_1 TH
TH
1/2n (5552 o TH
TH

5915

W

P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS

‘(v;z—ll;ml 2yPéUs
1 ((;ﬁ_f)l/W - (ﬁf)_l/gy2) ((;_;jif”% (==¢) ﬁﬁNus)_

K
KI

K
KI

K
KI

K
KI

K
KI

CD PLUS
CD MINUS

CD MINUS
CD PLUS

CDI
CDI

PLUS
MINUS

CDI
CDI

MINUS
PLUS

CDF PLUS
CDF MINUS



112798190 1
112808190 2

112818191 1
112828191 2

112838192 1
112848192 2

112858193 1
112868193 2

112878194 1
112888194 2

112898195 1
112908195 2

112918196 1
112928196 2

112938197 1
11294 8197 2

112958198 1
11296 8198 2

112978199 1
11298 8199 2

112998200 1
113008200 2

113018201 1
113028201 2

516

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

KI

KI

KI

KI

KI

KI

KI

KI

KI

KI

KI

KI

CDF MINUS
CDF PLUS

CDIF PLUS
CDIF MINUS

CDIF MINUS
CDIF PLUS

AB PLUS
AB MINUS

AB MINUS
AB PLUS

=

PLUS
MINUS

=

=

MINUS
PLUS

=

ABI PLUS
ABI MINUS

ABI MINUS
ABI PLUS

K PLUS
K MINUS

K MINUS
K PLUS

KI PLUS
KI  MINUS



113038202 1
11304 8202 2

113058203 1
11306 8203 2

113078204 1
11308 8204 2

113098205 1
113108205 2

113118206 1
113128206 2

113138207 1
113148207 2

113158208 1
11316 8208 2

113178209 1
113188209 2

113198210 1
113208210 2

1132182111
113228211 2

113238212 1
113248212 2

113258213 1
11326 8213 2

(_w_ﬂ)l/z 4
x—1

1/2 L
_z+l / YU
x—1

L0G (1/21n (=2) ¢7)

106 (1/2 4= (5251))

arcsin (1/2 In (—zac:ll) \3/5)

arcsin (1/2 % In (—wac_—ll))

arctan (1/2 In (*11:11) \3/37)

arctan (1/2 % In (—zac:ll))

12/~ (in (5254)) w2 + 4

1/2 \/1%/ (— (1n (7:11))2 + 4y2/3>

2y i () e+

o917

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

KI

KI

KI

KI

KI

KI

KI

KI

KI

KI

KI

KI

KI
KI

LL
LL

LL
LL

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS

MINUS
PLUS

PLUS
MINUS



113278214 1
113288214 2

1132982151
113308215 2

113318216 1
113328216 2

113338217 1
113348217 2

113358218 1
11336 8218 2

113378219 1
113388219 2

113398220 1
113408220 2

113418221 1

113428222 1

113438223 1

113448224 1

113458225 1

11346 8226 1

113478227 1

o (o (=)

1&(35%V2%_1m(

1

2 (=) " -z

-1
r—1

)

1/2 ( o (

1
Cu +
= +1/2 (

)"

1/2(

-1

918

+ 4y2/3)

-1
z—1

)

1

%

)

)

—z—1

-1
r—1

i
U2§@

=)
)

§5<_ (:%i;)—ﬂ/zé%> <(

TH
TH

TH
TH

TH
TH

TH
TH

TH
TH

X

TH

1/2

o
m_ljﬂi
TH
TH
TH

TH

TH
TH

TH

TH

K
KI

K
KI

K
KI

K
KI

K
KI

;:f)%faggr(%§¥®

KI

Fig.
KI

LL

LL
LL

LL
LL

LL

LL

)

MINUS
PLUS

SH
SH

PLUS
MINUS

SH
SH

MINUS
PLUS

CH
CH

PLUS
MINUS

CH
CH

MINUS
PLUS

—1/2 Yy -1
PL %

-1/2 -
MINT

PLUS

TH
CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

-1



113488228 1

113498229 1

113508230 1

113518231 1

113528232 1

113538233 1

113548234 1

113558235 1

11356 8236 1

113578237 1

113588238 1

113598239 1

113608240 1

113618241 1

113628242 1

113638243 1

113648244 1

arcsin (1/2 In (

w1 (55))

arcsin (

519

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K PLUS
K MINUS
KI  PLUS
KI ~ MINUS
LL PLUS
LL MINUS
L PLUS
L MINUS
S PLUS
S MINUS



113658245 1

11366 8246 1

113678247 1

11368 8248 1

113698249 1

113708250 1

113718251 1

113728252 1

113738253 1

113748254 1

113758255 1

11376 8256 1

113778257 1

113788258 1

113798259 1

113808260 1

arctan (1/2 In (_f:ll) In (y)) TH

arctan (1/2 ln%y) In (;x_*ll)) TH

1/2 \/(m
1/2 \/W (4 (In ()% + (1n (;11))2) TH

7:11))2 (In (y))* +4 TH

/N

1/2( 1)1/2 ln(y) ( ) 1/2 In(y) TH
1/ ( s 11)1/2(111 (y)~ _1/2( o 1) 1/2(11’1(y2%ﬁ
1/2 ( —- 11) 1/2 1n<y> ( - ) 1/2 In(y)

1/ ( - 11)1/2(111 ) 1/2( . 1) 1/2(11’1(y2%ﬁ

1((%11)1/2 In(y) (%)q/z 1n<y>> ((TJ'F@W In) +1in—*1>); 12 iy >—
172/ 1n(y)) 11\/1 _1)—1/2 (ln(y))1>
H](:U§71

1 ((_xm_l )1/2(111(7!)) ! a (_zw_l ~1/2 (In(y))~ 1)1<}<

1/2In (352) EXP (1) H
1/2 by n (557) H
2 zxbrgy (In (*””:11))71 TH
2 BXP () (In (7;11))’1 TH

520

LL

LL

LL

LL

LL

LL

LL

LL

LL

LL

L

L

L

L

T PLUS
T MINUS
P PLUS
P MINUS
H PLUS
H MINUS
SH PLUS
SH MINUS
CH PLUS
CH MINUS

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

-1



113818261 1

113828262 1

113838263 1

113848264 1

113858265 1

11386 8266 1

113878267 1

113888268 1

113898269 1

113908270 1

113918271 1

113928272 1

113938273 1

113948274 1

113958275 1

11396 8276 1

113978277 1

1/2n (2551) BXP (y) 7

1/2 EX7FT’(?J) In (;1:11)

9 E‘XTI:’(y) (ln (;1:11))71
11 (n (552))" xp )°
/4 G (ln (;1:11))2

1/23, [ln (2251 ) EXP (y)

1292 iy i (57)

N AL (ln (356:11))72

1P ()P (m (52))

18 (i (2252)) (BXP ()
1/8 mxpmy (ln (7:11))3
8 EXPG (ln (7:11))%

$(xp ) (m (52))

-1

8

(_ z+1) 1/2 EXP(y)
)1/2(E><P<y>>*1

_z+l
x—1

LOG

/

521

1/2n (2251) BXP ()

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS

ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS

KI  MINUS

LL PLUS

LL MINUS

L PLUS



113988278 1

113998279 1

114008280 1

114018281 1

114028282 1

114038283 1

114048284 1

114058285 1

11406 8286 1

114078287 1

11408 8288 1

114098289 1

114108290 1

114118291 1

114128292 1

114138293 1

LOG (1/2 by n (2222 ) TH L L  MINUS
arcsin (1 /2 In ( ) EXP(y )) TH L S PLUS
aresin (1/2 by In (2254 ) TH L S  MINUS
arctan (1 /2 1n( ) EXP (y )) TH L T PLUS
arctan (1/2 by In (2551 )) TH L T  MINUS
1/2\/ (ln ( z 11))2 (EXP (y))? +4 TH L P PLUS
1/2 \/m (4 (EXP (y))* - (ln (—;T—ll))?r){ L P  MINUS
1/2 \/(m (—;:11))2 (EXP (y))* +4 TH L H PLUS
1/2 \/m ((m (—;_—11))2 +4 (EXP (;;))%){ L H  MINUS
1/2 (=2 1)1/2 B (=) VERy L sm pLus
e 11)1/“’”“’(“” Y (%—ll)_”z(’?ﬁﬁ(”)f SH MINUS
1/2 (=2 11)1/2 B (=) VETRy L cm pLus
1/ ( xx 11)1/2(JE‘XP(y) +1/2 (;le)*l/Q(JEf‘(ﬁ(y))E CH MINUS

1 ((%}1)1/2 EXP(y) B (_;__11)—1/2EXP(;;)> <’(H;___111>1/2 Exrfﬁ,) [ 1_11)_1/2Exp(y)>1
) ((xxll)l/Q(EXP(y))l B (xxll)l/z(EXP(y)T)ﬁ) (L(

1/2 ln(

—z—1
x—1

H MINUS +

1/2 (EXP(y)) ! ( )71/2(E‘X1

TH S CD PLUS

— 1) sin (y)

522



114148294 1

114158295 1

114168296 1

114178297 1

114188298 1

114198299 1

114208300 1

114218301 1

114228302 1

114238303 1

114248304 1

114258305 1

11426 8306 1

114278307 1

114288308 1

114298309 1

114308310 1

iy

1/2#11@(—%

sin(y) z—1

1 —r—1
2 sin(y) (ln( z—1 )

1/4 (1n (;{—11)

1
4 g (1o

=)

1/2V2/In (525 sin (y)

1/2V2 | gy In (*j_*ll)

e (m (522))

1/8 (ln (—;_—11
1/8 Gatoy (m (_w—_ll))g
8 e (I (35

8 (sin (1)° (1n (5252))

—
—
|

w

923

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

W PLUS

W MINUS

ABI PLUS

ABI MINUS

K PLUS

K MINUS

KI  PLUS

KI ~ MINUS



1143183111

114328312 1

114338313 1

114348314 1

114358315 1

114368316 1

114378317 1

114388318 1

114398319 1

114408320 1

114418321 1

114428322 1

114438323 1

114448324 1

114458325 1

114468326 1

(_%)1/2 sin( TH g

( )1/2 (sin(y)) ™" TH S

LOG (1/2 In (

06 (172

) sin (y)) TH S

arcsin (/2 1n( 11)sin(y)) TH S
aresin (1/2 b n (2551 TH S
arctan (1 /2 In (7:11) sin (y)) TH S
arctan (1/2 s In (5252 ) TH S

—_
~
[N}
/N
—
Q
Q
w
—~~
<
~—~
~—
(™)
|
[
N—
RS
—_
=
/N
I
HE
ey
—_
N—
N—
no
=
w2

1/2 \/_ (1n (—;_—11))2 (cos (3))” + (In (=2 );rH+ 48

1/2\/@,](%,))2 ((1n(£11))2+4<sin<y>>2> TH S
2 (=) e () T s
2 (52) " S (2= M s
2 (z=0) " e (5 s
e (=) e ()T s

524

LL

LL

SH

SH

CH

CH

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



114478327 1

114488328 1

114498329 1

114508330 1

114518331 1

114528332 1

114538333 1

114548334 1

114558335 1

11456 8336 1

114578337 1

114588338 1

114598339 1

114608340 1

114618341 1

114628342 1

114638343 1

e 1/2 sin(y) e
1 (( xfll) - ( xfll

V2GRN
1 (( m—ll) - ( m—ll)

1/2 In (;””:11) tan (y)

—x—1

1/2 tan(y) In ( r—1

2 m (ln (_:617_11)

2 tan (y) (ln

~
|
HE
|
—

1/2 1n(

1/2

tar7lr(y) In

1/4

1/2v/2

4 (tan (y (

1/8 (m(

/_\

525

—1/2 sin(y) 1/2 sin(y) - —1/2 sin(y)\ !
) ) () ST ey )

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

T

T

“/2n@) T (12 ()
(=s2) 'TH M

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB PLUS

AB MINUS

PLUS

MINUS

ABI PLUS

ABI MINUS

K PLUS

x

—z—1
-1

)—1/2 (sin(y»l)



114648344 1

114658345 1

11466 8346 1

114678347 1

11468 8348 1

114698349 1

114708350 1

114718351 1

114728352 1

114738353 1

114748354 1

114758355 1

114768356 1

114778357 1

114788358 1

114798359 1

8 (n (252) wor
s (n(5))” w1
8 (tan ())* (ln (—;;11)) - TH T KI
(—zz) " TH T LL
i ™H T L
LOG (1/2 In (—; - ) tan (y)) TH T L
L0G (1/2 i (551)) TH T L
arcsin ( /2 m( )tan(y)) TH T S
aresin (1/2 iy n (5551 TH T S
arctan (1/2 m( )tan(y)) TH T T
arctan (1/2 oo n (525 TH T T
1/2 \/(C%(U))Q ((cos (v))* = 1) (1 (== ))QT—HL(ccSE(y))?%

1/2 \/ G
1/2 \/ =i
1/2 \/(m Nk

) 1/2 tan(y)

(cos ( ) (1n (;1:11))2% (cdB (y))zy

:11 +4(tan(y))2>TH T H

T SH

—1/2 tan(y)
) TH

1/2 (—;—11 —1/2 (—;:11

526

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



~1/2(tan(y) !
—1/2 (=23) TH T SH MINUS

x

L\ /2 an()
114808360 1 1/2( f_l)

x

T CH PLUS

r— r—1

1/2 tan(y) —1/2 tan(y)
) ) TH

1148183611 1/2 (*f;l +1/2 (*f*l

1/2 (tan(y))~*
1148283621 1/2 (=22) !

1148383631 1 ((mﬂ”ll)l/2 tan(y) _ (;9:1)*1/2 tan(y)) ((qﬂql_l)l/ﬁ tan(y)TH( Py );71/2 tan(y)) -1

-1

L\ 12 () LRGN 12 (Gan()
114483641 1( (==) - (=) TH( () TH  MINus(=2)

+1/2 (=) 7 TH T CH MINUS

x

r—1 r—1 T z—1
114858365 1 1/21In (225 ) /=7 1 TH P  CD PLUS
1 —x—1 1
114868366 1 1/2 L I (22) TH P  CD MINUS
1148783671 2 ——L— (In (—1—1))_1 TH P  CDI PLUS
/—y241 r—1
—1
114888368 1 2/=y7 + 1 (In (5252 TH P  CDI MINUS
114898369 1 1/21In (2251 ) /=y + 1 TH P  CDF PLUS
s —x—1
14908370 1 1/2 2 In (=2) TH P  CDF MINUS
1149183711 2 ——t— (In (*H))*l TH P  CDIFPLUS
\/*szrlTl' —1
—1
1149283721 2 Y2 (1n (=251)) TH P  CDIFMINUS
2
1149383731 —1/4 (In (222))" (u* - 1) TH P  AB PLUS
2
1149483741~ (n (2232)) TH P  AB MINUS
114958375 1 1/2v2)/In (2551 ) /=7 1 TH P W PLUS

927



11496 8376 1

114978377 1

114988378 1

114998379 1

11500 8380 1

11501 8381 1

115028382 1

115038383 1

11504 8384 1

115058385 1

11506 8386 1

115078387 1

115088388 1

115098389 1

115108390 1

115118391 1
115128391 2

8(—y1in3m (h1(2i11))*3
(- + 1) (i (32))
(o)

z—1

1/2 1
—5 —y2+1
z—1

&
=
Q
0
—e
=
/N

— (aif)>

e (112
(

arctan (1/2 In (

arctan <1/2

i (=)
1/2\/4*'(h1(:iq?))Q(yz__l)

928

1/2 ln( v 11) m)

1) V=)

TH

TH

TH

TH

TH

TH

TH

TH

TH

3

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS
PLUS



2
115138392 1 1/2\/1ﬂ+1<(ln(;ﬁ_11)) —|—4y2—4> TH P P  MINUS

115148392 2 TH H H  MINUS
—x—1 2 2 —x—1 2
151583931 1/2y/— (In (522)) 92+ (m(=24)) +4T™0 P H  PLUS
11516 8393 2 TH H P  PLUS
2

1151783941 1/2 \/ygl <4y2 ~(w (=) - 4> TH P H  MINUS

115188394 2 TH H P MINUS
1/2v/—y2+1 —1/2 /=211

1151983951 1/2 (5551 -1/2 (3) TH P  SH PLUS
1/2 =L —1/2 —1

115208396 1 1/2 (=51) VT S (s25L) CVOTH P SH MINUS
1/2y/—y2+1 —1/2 /=211

1152183971 1/2 (=22) +1/2 (=) TH P CH PLUS
1/2 L —1/2 L

115228398 1 1/2 (S251) Vo g2 (5252) O VOTH P CHO MINUS

T—

1/2+/—y2+1 —1/24/—y2+1 1/2y/—y211 “1/2y/ P11 -
115238399 1 1((1—11) —(%*11) )1(1{(11_?11) I PI:"Ué;z:ll) )

1

1/2 5 —1/2 —L— 1/2 1 ~1/2 L -1
11524 8400 1 1((—;11) = “—(—;”:11) Vo “) <F@I;””—1P) VTH MI(\@&A) V= +1)

1152584011 1/21n (555 ) VP — 1 TH H CD PLUS
1 —x—1

1152684021 1/2 \/yQ__lln( = TH H  CD MINUS

L 1)) TH H  CDI PLUS
1152784031 2 A (n (=)

—1

1152884041 21/7 =1 (1n (=251)) TH H  CDI MINUS
1152084051 1/2n (=255L) /i = I TH H  CDF PLUS
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115308406 1

115328408 1

115348410 1

115358411 1

115368412 1

115378413 1

115388414 1

115398415 1

115408416 1

115418417 1

115428418 1

115458421 1

12 Z—n (=)

2 \/y21——17r (111 (—;c__ll))—l
2 \/Uj—_l (ln (*x—l))fl

z—1

v (hl (7””1:11))2 (> — 1)

12V (52) VP

1/2 \/5\/\/% In (%_11)
45 (n (;””:11))’2

(4y% — 4) (1n (%,11)),2

e (i (1711))3 (2 —1)*”
1/8 (y2_11)3/2 (1n (*11:11))3

8 (y2_11)3/2 (ln (;96:11))*3

8 (2 —1)*? (1n (;m:ll))fs

LOG (1/2 In (;96:11) \/y?——l)

LOG (1/2 \/ﬁln (;_11))

530

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

CDF MINUS
CDIF PLUS
CDIF MINUS
AB PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K  PLUS
K MINUS
KI PLUS
KI  MINUS
LL PLUS
LL  MINUS
L  PLUS
L MINUS



115478423 1

115488424 1

115498425 1

115508426 1

115518427 1

115528428 1

115538429 1

115548430 1

115558431 1

115568432 1

115578433 1

11558 8434 1

115598435 1

115608436 1

115618437 1

115628438 1

arcsin (1/2 In (’; 11) Vy? — 1)

arcsin <1/2 \/_m( ;_11))
(

2 () e (=
1z (222) T e (2
2 (2=2) " e (22

(7%1)1/2 1 (=

1/2 ln(y+\1/y2+1) In (_””1:11)
ln(y-‘r\l/y2+1) (ln (_;:11))_1
21n (y+ \/ﬁ) (m (—;_—11))_1

—z—1
T )ln(y—i— y2+1)7r

1/2 ln(

1/2 ln(y+\7}y2+l) In (;1:11)

931

x

H—

H S PLUS
H S  MINUS
H T PLUS
H T  MINUS
H SH PLUS
H SH MINUS
H CH PLUS
H CH MINUS
- @ + Ifl;w@_sl

SH

SH

SH

SH

SH

SH

((%)H/ e (v

CD PLUS

CD MINUS

CDI PLUS

CDI MINUS

CDF PLUS

CDF MINUS

)71/2 m) -t

)



11564 8440 1

11566 8442 1

11567 8443 1

11569 8445 1

115708446 1

115738449 1

11576 8452 1

115778453 1

i 1n(-”\/lvﬂﬂ)7T (1D (—Iw:ll))*l
2 IH(H\T{E) ( (7171))71

n (2=

1/4 (hl(liil))Q(hl(y_%\/ggqji))Q

1/4

(ln(y+\}m))z (1n (;1:11))2

1/2\/5 In (_;”__11) In (y—i— \/yQT)

1/2 ﬂ\/ln(er\l/ng) In (—Iw:ll)

4

(ln(y+\}m))2 (ln (—Im:ll))fz
4(111 (y+\/y2T))z (1n(—xm:11))—2
1/8 (1n(_f:11))3 (111 (y+ W))B

1/8 1

vy (=)
i (ln(y+ 1y2+1))3 (ln (—Im_—ll))—3
e ) n(2)

(—w_+1)1/2 tn(1-4+/3777)
z—1

( m+1)1/2(1n(y+ i11))

£0G (1/21n (225 ) In (y+ V42 + 1))

532

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

SH

CDIF PLUS
CDIF MINUS
AB  PLUS
AB MINUS
W PLUS
W MINUS
ABI PLUS
ABI MINUS
K  PLUS
K MINUS
KI  PLUS
KI  MINUS
LL PLUS
LL  MINUS
L  PLUS



11578 8454 1

115798455 1

115808456 1

115818457 1

115828458 1

115838459 1

11584 8460 1

115858461 1

11586 8462 1

115878463 1

11588 8464 1

115898465 1

11590 8466 1

11591 8467 1

115928468 1

1
<1/2 v 1)) TH SH L  MINUS

arcsin (1/2 In (

)ln(y—l-\/y——i—)) TH SH S PLUS

—1
arcsin <1/21 @ N 7l (55 )> TH SH S  MINUS
arctan (1/2 In ( ) In (y VT )) TH SH T PLUS
1 —1
arctan (1 Py (55 )) TH SH T  MINUS

1/2¢_(1n(;_;))jm(wm))ﬁm i P PLUS
V2 (- 0n (5 (s am)) Yoo
2y (i (55)) (i (v + ViPTT)) 4 4TH SH B PLUS
ve [y ((n(52)) 0 (e vos ) s

1/21n +\/ 2+1) 1/2 In(y++/y2+1
1 Ve ) 2l i1 )SH PLUS

1/2( = —1/2(

. 1/2 ln y+\/y +1 1/2 (ln(er\/ ))

1—1/2( = 1)TH SH’/ MINUS

,_.

1/2 (1118%4r v11)) -

12 (in(y+/5251))
+1/2( = 1)TH

—1

= CH'/ MINUS

)
(=)
12 (2 l)lmn v 1/2(”_11)_1/%5?1(%@)CH PLUS
(=)

. <(%_11)1/2 In(y+v/v>+1) B (_f__ ) 1/2 n( y+@§(> <( 1/2 ln (v+/v>+1) . (_;__11)_

1<(zz_11)1/2(1n(y+\/yz_+1))1 B (,z, ) 1/2(Féy+\/y—+1 TH) ( INQS)W ==

x
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11593 8469 1

1159484701 1/2

115958471 1

115978473 1

115988474 1

11600 8476 1

11601 8477 1

116028478 1

116058481 1

11606 8482 1

116078483 1

116088484 1

1/2in (S22 (v + Vi)

/ ln(y+\1/y271) In (—zw:ll)
2 1n(y+\l/y271) (111 (;{zl))—l
2h1(y4—\/§5ffi) (hl(;iil))—l

2 (;1:11) In (y+ Y2 — 1) T

1/2

1n(y+\7}y2_1) In (—mw_—ll)

21n(y+vz2—1yr(hl(;izl))_l
22D o ()

In (=25

a (i (22))° (i (v + viE=T))°

1/4

(1n(y+\/ly2—,1))2 (ln (—Im:ll ))2

1/2\/5 1n(;z:11) In (y+ \/y2—_1)

1/2 ﬁ\/ln(yﬂ—\l/yz_l) In (—;ﬂ_—ll)

4

On(y+\}gijj))z (1n,(i;:11))-—2

1 (o V1)) (e (55))

s (i (22))° (n (s + viE=1))°

1/8(h(y+V2§—T))s(hl(ai41))3

534

TH

TH

TH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CH

CD

CD

CDI

CDI

PLUS

MINUS

PLUS

MINUS

CDF PLUS

CDF MINUS

CDIF PLUS

CDIF MINUS

AB

AB

ABI

ABI

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS



11609 8485 1

116108486 1

116118487 1

116128488 1

116138489 1

116148490 1

116158491 1

116168492 1

116178493 1

116188494 1

116198495 1

116208496 1

116218497 1

116228498 1

116238499 1

i (ln(y+\}2—4))3 (m (_11:11))73 TH o CH KD PLUS
( (y n \/y——)) ( (—1))_3 TH CH KI MINUS
(—21) (v TH CH LL PLUS
(-2 2 (Vi) TH CH LL MINUS
LOG (1/2 ln( o 1)1n(y+\/y——)) TH CH L  PLUS
< V= 11)> TH CH L  MINUS
arcsin (1/2 ln(_ _1) In (y—i— \/y——)) TH CH S PLUS
arcsin (1/2 = y+\/y my - —11)) TH CH S MINUS
arctan (1/2 In (2251 In (y +V#=1)) TH CH T PLUS
arctan <1 /2= yﬂl/y = 11)) TH CH T  MINUS
1/2\/— (1n(—;_—11))2(1n(y+ \/gﬁ——1))2+2rH CH P  PLUS

1/2 VW (- (m(52)) "+ 1 (o + 7)) Yonvus
1/2\/(111(;c_ll))Q(1n(y+\/y2—1))2+4TH CH H
1/2 \/m ((1n(;w—11))2+4 (m([mwbm——@{f) MINUS

In VY
L CH g

PLUS

o 1)1/2 1n(y+\/—) —1/2 (;z_ 1)

1/2 ( SH PLUS

535



el )

1/2 y+\/y —1
1162485001 1/2 (;f: ) (S

SH MINUS

—1/2 (*;

+1/2 (—;:11)_ FH Y en puus

172 (/77 1))

+1/2 (— —1)TH 1V 'cH MINUS
1 1/2 ln(y+\/y2—l) (_m_

116278503 1 1<(—;+—1) ) Yz “*ﬁ%} <( (V) (=)

7171)1/2 (in(v+v?-1)) (73) 1/2(H$y+\/— TH) (D@mj%s)l/? (n(y+ve?-1))

In VY
116258501 1 1/2( )1/2 (/i)

116268502 1 1/2 (-m_l)w (n(v+vP=1))

x—1

x—1

r—1

1162885041 1 ((

116208505 1 1/41n (2251 ) In (352 TH TH CD PLUS

Hs0s5061 1in (2221 (in (5252 tTH oD NS
1163185071 41 (I (552)) (m(552)) TH TH CDI PLUS
Hesssos 1 1 (352 (in (252)) T CDI AINUS
116338509 1 1/41n (=251 In (552 ) = TH TH CDF PLUS
Hestss10 1 win (221) (n (522)) TH TH  CDE MINUS
nessssiin 4t (n(=23)) " (n(2252)) TH TH CDIFPLUS
nessss1 1 L (252 (1n (2=2)) THTH CDIPMINUS
nesssts 116 (in (22)) (in (350))° THTH AB PLUS
nessssie1 1(n(550)) (m(5252)) TH TH AB MINUS
o513 172 o (S n (55) oTH W PLUS
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116408516 1

116418517 1

116428518 1

1164385191 =

116448520 1

116458521 1

116468522 1

116478523 1

116488524 1

116498525 1

116508526 1

116518527 1

116528528 1

116538529 1

11654 8530 1

116558531 1

106 (11 (52) (n(522)) )

arcsin (1/41n (525) I (5251))

e (11 (5 )(m =
(

arctan (1/4 In (

arctan <1 1n 11)

1/4 \/— (1n (;x_;l))Q (1n (%—11))2 +16

937

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

TH

ABI

ABI

KI

KI

LL

LL

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS

MINUS

PLUS



11656 8532 1

116578533 1

11658 8534 1

116598535 1

116608536 1

11661 8537 1

116628538 1

11663 8539 1

11664 8540 1

MINUS

PLUS

J1(0n(32))" 5 (0(5))) o (399) o s
2 (222) " e (=) e se pos
e (=) T e (2=) O e sn s
2 ()T e () A e en pus
2 (22) ") e (22) O e e s

F= )?‘I-((TL’EI}) 1/4T1ﬁ( ;%i)l}s (;1:11) —1/4 In( =52

/

' 2(m(z2=2)) "\
‘1> ((_f}l) Nrh THl) TH MINUS
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